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CHAPTER 1

RISE OF NATIONALISM IN EUROPE
MULTI CHOICE QUESTIONS:

Q.1 Which was not a quality of Napoleon’s civil code from following.

(1) Right by birth (2) Rightto property
(3) Right to vote for all (4) Equality before law
Q.2 Which treaty permitted the Greece as independent country?

(1) Treaty of Vienna (2) Treaty of Constantinople

(3) Treaty of Sardinia piedmont (4) none of these
Q.3 Who led the protestant movement in Ireland?

(1) Garibaldi (2) Wolfe Tone

(3) Mazzini (4) none of these
Q.4 Who was Ernst Renan?

(1) French philosopher (2) French artist

(3) French writer (4) none of these

Q.5 Which power emerged during 19" century that made huge political and physical
changes in Europe?

(1) Rise of nationalism (2) Rise of autocracy

(3) Complete monarchy (4) none of these

Q.6 In Which century nationalism emerged in Europe?

1. 16" century 2. 17" century
3. 18" century 4. 19" century
Q.7 Who followed the policy of “ Iron and Blood “ for national unification?
(1) Garibaldi (2) Otto-von Bismark
(3) Mazzini (4) Matternich
Q.8 Name the state which led the process of Italian Unification.
(1) Rome (2) Prussia
(3) Sardinia- piedmont (4) Vienna
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Q. 9 What does ‘Absolutist” mean?
(1) A Philosophy (2) A Theory
(3) A monarchical government (4) A Painting

Q.10 Who said “When France sneezes the rest of the Europe catches cold”?

(1) Garibaldi (2) Wolfe Tone
(3) Mazzini (4) Duke Matternich
SA(3 MARKS)

Q.11 Who was Marianne and Germania? What was the importance of the way in which
they were as Allegory?

Q.12  Can you explain the factors responsible for economic hardships faced by European
people during 1830s?

Q.13 Who was the main architect of the nation state in England? Describe their
contribution.

Q.14 Why was the Napoleonic rule over other region unpopular with sections of Europe?

LA(5 MARKS)

Q.15 How did the treaty of Vienna change the map of Europe ?

OR

How did conservatives establish their power after 1815?

Q.16 Examine the conditions of the Italy before unification?

Q.17 Explain the 1848 revolution of the liberals. What were the political, social and
economic ideas supported by them?

Q.18 Describe the process of unification of Britain.

Q.19 Briefly trace the geographical and ethnic variations of Balkan region. Why did this

region become politically very explosive?

ANSWER KEY:-
(1) Right to vote for all
(2) Treaty of Constantinople

(3) Wolfe Tone
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(4) French philosopher
(5) rise of nationalism
(6) 19" century

(7) Otto-von Bismark

(8) Sardinia- piedmont

(9) A monarchical government

(10) Duke Matternich

Ans.11 Marianne :- In France, nation was christened as Marianne a popular christian
name which illustrated the idea of a people nation. Statue of Marianne with red cap,
the tricolour were created at Public Square to re-mind the public of the national
symbol of unity. Marianne images marked on coins and stamps as well.

Germania :- In Germany, Germania become the allegory of German nation. In visual
representation, She is shown wearing a crown of oak leaves as the German oak
stands for heroism.

Ans. 12 1. During the first half the 19" century there was an immense increase in
population all over the Europe due to which the supply of workers increased and the
demand was very less.

2. Small producers and manufacturers of town face a stiff competition from import
of cheap machine made products.
3. In those reasons of Europe where aristocracy still enjoyed power , peasants

struggled under the burden of feudal dues.

Ans.13 1.British parliament was the main architect of the nation state in England
because it seized power from monarchy in 1688.
2. The parliament through the act of Union (1707) formed the United Kingdom of
Great Britain.
3. This act enabled England to impose its influence on Scotland.
4. After a failed revolt led by Wolfe Tone and his united Irishmen (1798), Ireland was
forcibly incorporated into United Kingdom in 1801.

Ans.14 1.Administrative reformed did not go hand in hand with political freedom.
6|



The newly Annexed regions found themselves under the French rule.
2. The newly acquired territories had to face increased taxation and censorship.
3. The forced conscription into French army to conquer other part of Europe was not

popular with the newly conquered people.

Ans.15 1.The congress of Vienna convened to re-map post- Napoleonic Europe and

oriented the rebuilding of a strong Europe.

2. The conservatives believed in modern army, an efficient bureaucracy and a
dynamic economy.

3.1n 1815 the Europe powers — Britain, Russia, Prussia and Austria defeated
napoleon at Vienna to draw-up settlement of Europe.

4. The deposed Bourbon dynasty was restored to power.

5. Belgium and the Netherlands were given the northern part of Genoa, the southern

part of Piedmont and Holland was taken over by Russia and Saxony was established over

Persia.

Ans16 . 1. The greatest problem in the unification of Italy was its fragmentation into

several political units, each under a different authority.

2. Italian were scattered over several dynastic states as well as the multi-national
Habsburg empire.

3. During the middle of the 19" century, Italy was divided into seven states.

4. The Italian language had not acquired one common form. It still had many

regional and local variations.

Ans17 . 1. The 1848 revolution was led by the educated middle class along with the

71

poor unemployed starving peasants and workers in many European countries for
fulfilling their demands of constitutionalism with national unification.

2. In the German regions large number of political associations, Businessmen,
middle class professionals and prosperous artisans came together in the city of
Frankfurt and decided to vote for all German National Assembly.

3. A large number of women had participated actively and formed their own political
meeting and struggled for right to vote.

4. Liberals struggled for abolition of serfdom and bonded labour and wanted



freedom of markets.

5. Politically , the librals supported the ideas of government by consent ,end of
autocracy, a constitution and a parliamentary form of government.

6. Socially, it laid stress on the abolition of discrimination based on birth.

7. Economically , it laid stress on the inviolability of private property ,freedom of
markets and abolition of state imposed restrictions on the movements of goods
and capital.

Ans18. 1.Britain was not a nation state prior to 18" century. The primary
identities were based on ethnicity such as English, Welsh, Scot or Irish.

2. The steady growth of power made the English nation extend its influence over the
other nations and islands.

3.1n 1688, England established as a nation state . English parliament seized power
from the monarchy.

4.1n 1707 the United Kingdom of Great Britain formed with the act of union between
England and Scotland.

5. Ireland was forcibly taken by a failed revolution.

Ans19. 1.The Balkan was a region of geographical and ethnic variation

81

comprising of modern day Romania, Bulgaria, Albania, Greece, Macedonia, and
Serbia. Its inhabitants were broadly called Slavs.

2. A large part of Balkans was under the control of the Ottoman empire while some
of the other parts were under control of Russia and Austria causing a complex
problem.

3. The spread of the ideas of romantic nationalism in the Balkans together with the
disintegration of the Ottoman empire made the region very explosive.

4. The Balkan people based their claim for independence of political rights on
nationality and desired to win back their long lost freedom.

5. European powers’ interfere in Balkan countries made the conditions more

explosive.
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NATIONALISM IN INDIA

Multiple choice QUESTIONS:

1. Which of the following in true with reference of Satyagraha?

(A) It emphasized the muscle power

(B) It emphasized the Power of truth

(C) Gandhiji successfully fought the racist regime of South Africa with the novel method.

a) Only A is true
b) Only B is true
c) Both A and B are true
d) Both B and C are true

2. At which place congress session of December 1920 held.

a) Nagpur
b) Calcutta
c) Lahore
d) Madras

3. Who was the leader of the Peasant Movements of Awadh?

Alluri sitaram Raju
Baba Ramchandra
Mahatma Gandhi

None of the above

o O T o
—

4. Under which act the Plantations workers of Assam were not permitted to leave the
tea garden?

a) The Rowlatt Act

b) Cripps Mission

c) The Inland Migration act
d) The Inland Emigration act

5. Name the leaders who founded Swaraj Party?

CR Das and Motilal Nehru
CR Das and Jawaharlal Nehru
CR Das and Gandhiji

a
b
c
d) CR Das and Dr B.R Ambedkar

N N e N

6. At which of the following place did Gandhiji make salt out of sea water

(a) Ahmedabad
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(b) Wardha
(c) Sabarmati
(d) Dandi

7. Who wrote 'Hind Swaraj?

a) Subhas Chandra Bose
b) Jawaharlal Lal Nehru

c) Mahatma Gandhi
d) Sardar Patel

8. When was the civil disobedience movement re- launched ?

9. Who among the following led the civil disobedience movement in Peshawar ?

Maulana Abul Kalam Azad
Mohamad Ali
Khan Abdul Gaffar Khan

a
b
c
d) None of the above

N N N N’

10. Who first created the image of Bharatmata?

(a) Abanindranath Tagore

(b) Bankim Chandra Chattopadhyay
(C) Rabindra nath Tagore

d) None of the above

Short Answer Questions:
1. Why did Gandhiji call off Non-Cooperation Movement in 1922?
2. Why the British make the partition of Bengal in 1905?
3. Why did Dr. Ambedkar and Gandbhiji clash in the second Round Table Conference?
4

. How did Mahatma Gandhi successfully organize Satyagraha movements in various
places just after arriving in India? Explain by giving three examples.

o

Why was Khilafat Movement supported by Gandhiji in 1919? What was his main aim?

6. People of India raised the slogan “Simon go back”. Explain.

16|



Long Answer Questions:

1. ‘The Civil Disobedience Movement was different from the Non Cooperation
Movement'. Support the statement with examples.

2. How did cultural processes help in creating a sense of collective belongingness in
India? Explain.

3. “Method of reinterpretation of history was followed to encourage a feeling of
nationalism”. Give any five arguments to support this statement.

4. Why did Congress decide to launch the Civil Disobedience Movement?

5. Mention the features of Gudem Hills rebellion? What methods were adopted by the
tribals to gain Swaraj?

ANSWERS.

Ans1. d) Both B and C are true.

Ans 2. a) Nagpur

Ans3. b) Baba Ramchandra

Ans4. d) The Inland Emigration act

Ans5. a) CR Das and Motilal Nehru

Ans6. d) Dandi

Ans7. ¢) Mahatma Gandbhi

Ans8. d) 1932

Ans9. c) Khan Abdul Gaffar Khan

Ans10. (b) Bankim Chandra Chattopadhyay

Short Answer Questions:
1. A) Gandhiji declared that Non-Cooperation Movement would be launched peacefully.

B) When the people burnt police station and killed 22 policemen at Chauri-Chaura,
Gandhiji called off the movement.
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C) Because Ghandhiji was against any kind of violence.

. A) The British government under Lord Curzon declared Bengal too large to be

administered by a single government.

B) The problem could be solved only by partitioning Bengal into two provinces.

C) The hidden cause was to divide Hindus and Muslims.

. A) Dr. Ambedkar demanded separate electorate for Dalits.

B) He thought that a share in political power would help in their upliftment.

C) Gandhiji opposed separate electorates as it would create disunity. So, their
viewpoint clashed at the second Round Table Conference.

. After returning from South Africa, Gandhiji undertook his experiments with

Satyagraha in India.

A) In 1916, He inspired the peasants of Champaran in Bihar against the oppressive
plantation system.

B) In 1917, in support of the peasants of Kheda district in Gujarat, he organised a
Satyagraha against revenue payment at the time of crop failure and plague
epidemic. He demanded relaxation from revenue collection.

C) In 1918, in Ahmedabad, he organised Satyagraha favouring the demands of the
cotton mill workers.

. Though Rowlatt Satyagraha was a widespread movement, it was still limited to

certain cities and towns. Gandhiji wanted a more united and broad-based movement
especially for bringing the Hindus and Muslims together. In 1919, Gandbhiji
supported the Khilafat Movement to protest against the humiliation caused to
Turkish Khalifa by the British. The Khalifa was regarded as the spiritual head of the
Muslims around the world. Gandhiji saw this as an opportunity to gain the support
of the Muslim community.

Gandhiji main aim was to unite Hindus and Muslims for a unified national
movement.

. A statutory commission under Sir John Simon was constituted by the Tory

government in Britain to look into the functioning of the constitutional system in
India and suggest changes. But it was opposed by the Indians on the following lines.



A) All the members of the commission were Englishmen.

B) It did not provide any hope of Swaraj to Indians.

Long Answer Questions:

19|

1. The Civil Disobedience Movement differed from the Non-Cooperation Movement in
the following ways.

a)

b)

c)

d)

e)

Non-Cooperation Movement was launched between 1920 and 1922, while the
Civil Disobedience Movement continued from 1930 to 1934.

Non-Cooperation Movement was launched because of the anger of Jallianwala
Bagh tragedy and the Civil Disobedience Movement was launched to protest the
arrival of Simon Commission.

The Non-Cooperation Movement began with the surrender of titles, boycott of
British institutions and goods, whereas Civil Disobedience Movement began with
defying and breaking the colonial laws, like Salt Law.

Non-Cooperation Movement aimed for Swaraj or self-government. Civil
Disobedience Movement demanded complete independence or Purna Swara;.

The Non-Cooperation Movement got the support of almost all sections of the
society whereas Civil Disobedience Movement had many limitations. The Dalits,
Muslims, Industrial workers and businessmen did not participate fully.

The sense of collective belongingness among the Indians came from a united

struggle of the people against the colonisers under whom they suffered oppression,
suppression and cruelty. A variety of other cultural processes that helped in building
the sense of collective belongings are as follows.

a)

b)

Personification of Bharat Mata: The image of country India was transformed as
Bharat Mata first by Bankim Chandra Chattopadhyay. Later, other artists like
Abanindranath Tagore too painted the image of Bharat Mata portraying her as a
calm, composed, divine and spiritual figure. People began to pledge their
devotion to her as a proof of nationalism.

National Song ‘Vande Mataram’: Bankim Chandra wrote ‘Vande Mataram’ as a
hymn to the motherland in his novel Anandamath. This song became so popular
that it began to be sung widely in the nationalist movements.

Folklore: Nationalist leaders made every possible effort to collect folk songs and
legends. Rabindranath Tagore himself began to revive folk songs, dances, folk
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d)

tales, cultures, etc. Natesa Sastri published a four volume collection of Tamil
folktales The Folklore of Southern India.

Use of Icons and Symbols: During the Swadeshi movement, a tricolour was
designed depicting signs and symbols used by both Hindus and Muslims.
Gandhiji designed a Swaraj flag. Carrying and holding the flag during marches
became a symbol of opposition.

Rediscovery of India’s Past: British colonisers portrayed Indians as backwards
and primitive. Nationalists thought it necessary to discover India’s glorious past.
They wrote about the achievements made by the Indians in the field of art,
science, mathematics, etc. and urged Indians also to take pride in India’s great

glory.

. Reinterpretation of history created a feeling of nationalism in India in the following

ways.

a)

By the end of 19" century, there developed a feeling of sense of pride in the
nation and this could be done through interpreting Indian history in a different
way.

The British considered Indians as backwards and primitive, incapable of
governing themselves. Indians responded by looking into the past to discover
India’s great achievements.

Glorious developments in ancient times when art and architecture, science and
mathematics, religion and culture, law and philosophy, crafts and trade had
flourished and began to be re-written.

It was felt that Indian glorious past was neglected with the coming of foreign
powers.

The readers were urged to read history and take pride in India’s great
achievements in the past and struggle to change the miserable conditions of life
under the British.

. Congress decided to launch a nationwide Civil Disobedience Movement because of

the following reasons.

a)

b)

Lord Irwin showed reluctance towards the eleven demands raised by Gandhiji.
This led to the famous Salt March and beginning of the Civil Disobedience
Movement.

Worldwide economic depression slashed agricultural prices. This led to a decline
in demand and exports. Peasants were the hardest hit by this crisis. On that, the



government was not ready to lower the revenue demand.

c) The only-British commission called the Simon Commission was sent to India to
look into the developments of constitutional system. Indians got enraged as it
had no Indian member in it. There were widespread agitations against the
commission.

d) Lord Irwin’s proposal of granting dominion status and discussion at the Round
Table Conference could not satisfy the nationalists.

e) Finally at the Lahore session of Congress in 1929, it was decided to launch the
Civil Disobedience Movement. This movement was sought to be related with the
problems people faced in their daily life.

5. The following were the features of the Gudem Hills rebellion.

a) It was a guerrilla militant movement intiated by Alluri Sitaram Raju against the
colonial misrule.

b) This rebellion was against preventing the forest people from entering the forests
for grazing cattle, collecting fuelwood and fruits. It denied them their traditional
rights over the forests and affected their livelihoods.

c) The tribal people were also forced to do beggar for road building which enraged
the forest people.

The tribal people took the following steps to gain Swaraj.

a) Alluri Sitaram Raju inspired by Gandhiji and his Non-Cooperation Movement
persuaded people to adopt khadi and give up drinking habits. But, at the same
time, he asserted that India could only be liberated by the use of force.

b) The Gudem rebels attacked police stations and attempted to kill British officials.
They carried on their guerrilla warfare and inflict losses on the British.

IMPORTANT MAP QUESTION:
For location and labelling/identification on outline political Map of India

1. Indian National Congress Sessions: Calcutta(Sep 1920), Nagpur(Dec 1920),
Madras(1927) and Lahore(1929)
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2. Important Centres of Indian National Movement(Non-Cooperation and Civil
Disobedience Movements)

i) Champaran(Bihar) Movement of Indigo Planters

ii) Kheda(Gujarat) Peasant Satyagraha

iii)  Ahmedabad(Gujarat) Cotton Mill Worker’s Satyagraha
iv)  Amritsar(Punjab) Jallianwala Bagh Incident

V) Chauri Chaura(UP) calling of the NCM

Vi) Dandi(Gujarat) Civil Disobedience Movement

ANSWER:

India Political Maps

Lahore

. ke
ﬂmrltsm\

Chaurj Chaura Champaran

Calcutta
NAGPUR

Madras
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MAKING OF A GLOBAL WORLD

MCQ

1. Q.1: What was the Bretton Woods system?
(a) Post war the military system

(b) Post war political system

(c) Post war international economic system
(d) None of these

Q.2: What did indentured labour mean?
(a) Cheap Labour

(b) Free Labour

(c) Bonded Labour

(d) None of these

Q.3: Which food traveled west from China to be called “Spaghetti'?
(a) Soya

(b) Groundnuts

(c) Potato

(d) Noodles

Q.4: Which disease spread like wild fire in Africa in the 1890's?
(a) Cattle plague

(b) Small pox

(c) Pneumonia

(d) None of these

N N N N

Q.5: Which was the Tabled city of gold?
(a) Peru

(b) Mexico

(c) El Doeodo

(d) Spain

Q.6: Which of the following is not a economic exchange?
(a) Flow of Labour

(b) Flow of Capital

(c) Flow of Knowledge

(d) Flow of Trade
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Q.7: What is NIEO?

(a) New international economic order

(b) New Indian economic order

(c) New international Excise order

(d) New international economic ordinance.

Q.8: Name the law which allowed the British Government to restrict the import of corn.
(a) Corn Act

(b) Food Act

(c) Corn Laws

(d) Import Laws

Q.9: Henry Morton Stanley was
(a) Explorer

(b) Trader

(c) Missionary

(d) Soldier

Q.10: The main aim of the post-war international economic system was to
(a) To preserve economic stability

(b) To maintain status

(c) To increase export

(d) To reduce war loans

SA(3 marks)
Q 11. Briefly describe the economic structure in the Pre Modern World.

Q 12. Explain how the Silk Routes linked the Pre Modern World.

Q 13. What were corn laws ? How did the abolition of the Corn laws impact the agriculture in
Britain?

Q 14. What was the role of technology in shaping the world economy ?

Q 15. Explain the Inter War Economy and the technological transformations during the first world
war.

Q 16. What was the main motive of G-77 ?
Q17 . What changes did China made in its New Economic Policy ?

Q 18. What are MNCs and how they came into existence ?

LA (5 MARKS)

Q 19 . What were the factors responsible for the great depression ?
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Q 20 . Explain briefly the Bretton Woods Institutions.

Q 21 . What is the meaning of Indentured Labour and what were the causes of migration of Indian
Indentured Workers ?

Q22 . What exchanged during the conquest and trade in the eighteenth century ?

ANSWERS

1. (c) Post war international economic system
2. (c) Bonded Labour

3. (d) Noodles

4. (a) Cattle plague

5. (c) El Dorado

6. (c) Flow of Knowledge

7. (a) New international economic order

8. (a) Corn Act

9. (a) Explorer

10.(a) To preserve economic stability

11. Human societies have steadily more interlinked.

Travelers, traders, priest and pilgrims travelled vast distance for carrying goods, money, ideas,
skills, inventions and even germs and disease.

Indus Vally civilisation was linked with West Asia.

Cowries a form of currency from the Maldives.

12. The silk routes were regarded as the most important route linking the distant parts of the
world.

Routes were existed even before the Christian Era and flourished till the 15th century.

The Buddhist preachers, Christian missionaries and later on Muslim preacher used to travel by
Routes.

Routes proved to be a great source of trade and cultural links between distinct parts of the world.
13. Under pressure from landowners groups the government restricted the import of food grains.

After the carn laws were scrapped, food could be imported into Britain more cheaply than it could
be produced in the country.

British farmers were unable to compete with imports. Vast areas of land were left uncultivated.
As food prices fell, consumption in Britain rose.
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Faster industrial growth in Britain led to higher incomes and more food imports.
14 The role of Technology:

Technology had a great impact on the transformation of 19th century world such as Railways,
steamship and telegraph.

Technological advances were often the results of social, political and economic factors.
The refrigerated ships greatly helped to transport the perishable food items over a long distance.

It greatly facilitated the shipment of frozen meat from America, Australia Or New Zealand to
different European Countries.

15. The first World war was mainly fought in Europe and lasted for four years.
During this time, the world experienced economic, political instability and another miserable war.

The first world war was fought between two power blocks. On one were the allies — Britan, France,
Russia and later joined the US. and on the opposite side -Germany, Austria, Hungary and Ottoman
and Turkey.

Technological Transformations - First-time modern weapons like Machine gun, tanks, aircraft,
chemical weapons etc were used on a massive scale.

Millions of soldiers had to be recruited from around the world. and most of them were men of
working age.

16. Most developing countries did not benefit from the fast growth of Western economies in 1950's
& 60’s.

They organised themselves as a group. The group of 77 or G-77 to demand a New International
Economic Order (NIEO).

It was a system that would give them real control over their natural resources, more development
assistance, fairer prices for raw materials and better reach in the markets of developed countries
for final products .

17 . New Economic Policy In China

Wages were very low in countries like China.

The low-cost structure of Chinese economy made its products cheaper.
China became a favourite destination for MNCs to invest.

New Economic policy of China back into the fold of world Economy.

18 . Multinational corporations are large companies that operate in several countries at the same
time.
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The world wide spread of MNCs was a notable feature in the 1950s and 1960s as US business
expanded worldwide.

High imports tariffs imposed by different governments forced MNCs to locate their manufacturing
units.

19 . Factors responsible for great depression

Agricultural overproduction remained a problem. It makes the price of agriculture products
slumping.

Many countries financed their investment through the loan they got from the USA.
American capitalists stopped all loans to European countries.
In Europe, it led to a failure of some major banks and collapse of currencies like Sterling.
Doubling the import duties by the USA, which hit the world trade badly.

20. Bretton Woods Institutions:

To deal with external surpluses and deficits a conference was held in July 1944 at Bretton woods in
New Hampshire, U.S.A.

International Monetary Fund and World Bank were set up to finance post war restructuring.

The past war international economic system is known as Bretton Woods systems.

This system was based on fixed exchange rates.

IMF and World Bank are referred as Bretton Woods Twins.

U.S has an effective right of veto over key IMF and World Bank.

21 . Indentured Labour Migration from India and Causes of Migration of Indian Indentured Workers

Indentured labour means a bonded labourer under contract to work for an employer for a specific
amount of time.

It brought higher income for some and poverty for others.

Most came from the present day regions of eastern Utter Pradesh, Bihar, Central India and Tamil
Nadu.

These regions of India experienced many social changes like cottage industry declined, land rents
rose and the lands were cleared for mines and plantation.

In 19th century indenture described as a new system of slavery.

Hosay, A riotous carnival in Trinidad when workers of all races and religions join in celebrating.

22. In 16th century after European sailors found a sea route to Asia and America.
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The Indian subcontinent had been known for bustling trade with goods, people, customs and
knowledge. It was a crucial point in their trade network.

After the discovery of America, its vast lands and abundant crops and minerals began to transform
trade and lives every where.

Precious metals, particularly silver from mines located in Peru and Maxico enhanced Europe’s
wealth and financed its trade with Asia.

The Portuguese and Spanish conquest and colonisation of America was under way.

The most powerful weapon of the Spanish conquerors was not a conventional military weapon but
germs of small pox which they carried.

America’s original inhabitants had no immunity against such type of diseases.
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JHSA IR fasy ST a1
Q.1: sie 89 vuTTelt T ot?
(Q) &= yuTTett g & G
(b) g & a1& <hY ATk T
(c) Tg & TG T Sia=ETa st sgaeen
(d) 379 @ R 7t

Q.2: rfAfear 94 1 o1 Aders u1?
(Q) g&ar o=

(b) Y dsr

(c) syem Feiedt

(d) 578 @ & 7

Q.3: T & uff\ @ & 71 HieH "W g 87
(a) gtar

(b) Toret

(c) sy

(d) T578

Q.4: 1890 # arvhienT & STelt ST I g i Ht SART thet 752
(Q) 7asht =i

(b) ¥

(c) frmitfrar

(d) =7 @ K &

Q.5: g1 &1 A BT T AT?
(a) o®
(b) Afazent

(c) ua gait
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(d) @

Q.6: fA=fafEa 7 & & snfdfes fafwa =8t 82
YECEIRCIH
(b) gsft 1 e
(c) I wTYUaTE

(d) eamuR 1 Ut

Q.7: NIEO =1 8?

() & SicRfga anfifen craen
(b) 72 Wt 3nffes sawen

(c) a1 SiRiEIa IS S[eeh e
(d) 7T SRt snfde sreamger

Q.8: 3T LA T A Id15Y o= fafexr TR ot 7ens & aTa ot ufcreifd e i srgafa & o
(©) "eg sifefoan

(b) @rer sifafm

(c) 7 g

(d) smara &L

Q.9: &< AT Welt o
(T) gt

(b) =arur

(c) firmt

(d) &

Q.10: g Ha=Ea snfefer Uomell 1 &7 Igea o
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() 3nfen fRAT ot TRfENT et & forg
(b) foafa s9Tg T@= & ferg
(c) frafa agmT

(d) geg kT A HAT

SA(3 MARKS)

Q 11. At aes & anfes TamT o1 Hey & gui |

Q 12. Famy foh H¥ R Teg 3 WY Al aes &t sirel

Q 13. 7eg FTEA FT A? 3 & s AT & I=He 3 B ot ha gefad fomar?
Q 14. fasy srfcaaen &t MR 3 H Wienfirhl Y am offfiewr Ai?

Q 15. vyH 4y g & SRM TR g AU 3R dhei1ch! URadH] chl ST & |
Q 16. G-77 &1 =& I T AT?

Q 17 9= 7 sroft 7 anfdes =fify & @ sgama frg?

Q 18. Fgush sufai a1 § ok 3 H8 siftaa & ong?

LA(5 MARKS)

Q19 anfYe ggrEd & forg forfeR wRe T A2

Q20 ste-T ggd Tl & aR § &y & Farg|

Q 21 3¢ AR AT T 37 § IR AR §SE Tehdl o UG o HRIT T ?

Q 22 3reRed arared) # fasra 3R TR & IR T g3n?

STRATAT
1. (1) g o 1 1 31ffen craen
2. () s Feigd

3. (@) Tscw

4. () masft @i

5. (%) vat erret

6. (71) 19 ST UATE

39|



7. (%) & Siawusia snfde sgaeen

8. (e) wers rfafaaH

9. () TFIWIIR

10. (&) 3nfYe fRRAT &Y IATY T@A o forg
11. A 15T # HTAR Sifdeh SiaR &1

i, srartat, gemst SR diefafat 3 amm, a9, R, S, snfasar ok agl des foh ] ok At At &
ST & forg st gt ag

&y a<ft gvar ufg ofar @ St g3 ot
HATTGId ¥ HaT &1 ek ©U & his! |

12. 331 AT ot gf~aT & Tad X & &l onl St aTelT 9adt Hgeayquol AN AT ST o)
foRf = g @ uget oft T sifaa & & 8k 15 i raredt aa i gul
g ek, 3T AT ok a1e & gften Iuderes AT & I v I
& gfrar & fafa fewdl & offa amuR eiRk Titpfaes dedl o1 g se1 did gifad gal
13. yEa™t Tigl & ard # TR A WEE & AT bt ufasfa = fam

& HIELAT o WA gl S o a1&, 321 H T ITEH g TehdT o1, IT& ATk & 7 i foiea 7 smard famam S derdr
o

fofesr fopam smard & T ufaeef e & sl 3| qfy & former &1 ot s1fifa St feam mar o
S g @ uere i hmd R, fore & @ua 9 16

fea 7 dsht & sfienfiies faem & &RoT 3= oma SiR Sifdes @Te ST gyl

14. YNkt &Y offfen:

19 &f w& Y gfvar Sid Yerd, T 3R Sefturh & ufkads o Wienfieht &1 sga uvma uel
dhe1ch! far™ STFR TSI, et 3R Snfder sRent & ufoms &)

usfifora STgretl = et ¢ W @rer ugref @t AE #A H# Heg hl

To smfva, sifegforar a1 eiicie @ fafra gt derf & S gu A1 & @ar= &Y gfeem vere &

15. yu oy gg 7=7 ®U 8 g # o<1 1371 o1 3R (1914-1918)9R ITel ek el AT
39 gAA & 3R, gfaT 7 an1fen, Tsiifae SIFRRAT 3R e SR aa-a gg a1 S1gwa o

Ut Iy gg &l A1f<h @Sl & offa el 747 A1 Uk Tgartt & - foer, whid, €9 ok a1 § s/fer # a8 11 ok
faoriar fesm & -y, sitfean, St ok siteta ok gehf|

40 |



R 1chT TTTARUT - Ugelt IR 3gf~ieh gf ARt S8 7fl 14, o, fomm, yamaf-e gfdaR anfe o1 o1 due wR I faran
T

gfaT R 8 aral Sfiht Y ol cht ST o | 3R I & tfAehiar RSl 39 & IR U

16. sifdrnisr faerrasfier derf st 1950 3R 60 & geres | uf et srefecaawansti & a1 fae & @mey =8l gam
361 Y& Dl Yo T & ¥4 # TMfed fopar| 9g Saxfgia snfefe sméer (NIEO) &t wiw & forg 77 ar G-77 &1 Wi

g Yeh Ut yuTTett off St 3¢ STch UTepfcieh ST UR aredfden f=isror, ifeen faere Sgradn, shed AT o forg 3fed e
3R sifer Iaurel & forg faerfa et & aTeiRl | dgar uga uarH st

17. <= 9 75 snfdes Aifa

T oI et A Horgd agd A ot

Tt srefegazen &Y wA FTTd aTeft TREAT A 3Td IATET i LT A e
T IgIERT Shuf-i & forg fAder o1 ves uidier T &=

T Y 72 anf¥es fifa fay srfeazen fi qg & #e M)

18. Fgus faim 9t dhufai & St Uk &t 99g & &3 &N & M el &1

QAT T fasy eardt R 1950 3R 1960 o &1 § Toh Seeta-1a fatvar o aifes gferm «R & smfeht R &t
foreaR garm o

faf e TRART gIRT @Y 7T = AT [ech - TEE T huf-di ot T+ faf~wfor SerTsat a1 uar & & forg AsTeR
ferami

19. ggI 39T & forg foieR &Re

PN Ifaqf® g gawr o+ W@l | I8 HiY Il dht hiad J fiRrae A1t g1

3 AT FGh I SHReRT @ UTed K0T S ATedH § 370 far et faaifya famam
AT gottufadt 3 g 30t et gt o1 ek e

I H, 393 S U@ don! Y fatherar ofik it Sieft gereit & g &1 Aqe fora
GYh T SHIERT GRT ST [e<h hl QAT e, fore= fay SmuR & 5t avg arT|

20. sleaT ggd Gr:

et SfaRiy iR =7 & fues & forg g 1944 # = gHIARR, .G, | sied ST § oh T aifoid farar man
|

g & 918 & TS o forg Siarigha qar i 3Rk fasy ok oY wra=r Y s
o gg SIRIER anfder Homett ot st g8d Riked & T & SH71 a1 81
gg yuret fAfYd fafma o= R smarfa o

41 |



JTETHT 3R fay der ol sle 989 fama & U # SrA1 5711 8|

g, Q. o U SMSUATH 3R fay Ik & tirg dfiet a1 gt sifdear 81

2 1. 9Rd ¥ $STs e Argde R 3T 8¢S aahd & ATEUeE & SR

3¢S AR HT HY g Ueh fAfAE 9 o forg gas Faiht o forg s et & folg S1eier o dgd Qo ST Aeigy|
g TS o oIy 3T T 1T 3R g@Rl o forg et

fenier gdff gex uer, fogR, Aeg RA iR afiemTg & adam &1 @ smar &1

VR & 3 &3 H 3 FrATISIeh URadHT T AT gt S8 HéR IeT A FRrae g, offr o fomrg # gfig g3 ok @t
3R gemivur & forg fy ot wiegdt & S|

19 off sra1ed) # SR i AT Y gk T goTett & w9 F aftia fmar mam
g8, fBfaere & v 18 epifae Sta gaft sfoat ok et & wrdaaf S 7a™ & enfde gia €1
22. 16 df eraredt # gRId Fifeent & g i ok smfent & forg ger @odl At A

IR IuHETgIT AT, i, Sf-Rarstt 3k 17 & 910 @R & gorad & forg SITa1 STrar o411 98 S+ ATuR Aedd &l
Ueh Hgcayquf faig ol

SRR hY @it & d1e, F9h! faRrer JfH 3R UgR AT H hael 3R @it 8 S8 TR 3R Sita+ &t deeq ai|

AT arga, faxiv U @ o SR Afrent # QT @1 & =idl 3 gAU & 4+ ! dgrm iR gfT & 1y 3 AR &t
ey fomam

gt 3R W fasr ok smifent ot Iufeaftenzor Tet g1 ol
Qfrer fosraratt 1 ge Arfheredt gf9UR ls uRuRes 8= gf9aR =16l o1, afeds oI Iae & W] 3, S8 3 o sid
3ARenT & Tt et § 39 UaRr &t fmiiat & ufd ols ufeRiae emar @ ot

42 |



THE AGE OF INDUSTRIALISATION
OBJECTIVE TYPE QUESTIONS

1. The person who got people from village, ensured them jobs, helped them settle in
cities and provided them money in times of need was known as:

2. From which of the following trade did the early entrepreneurs make a fortune?
(a) Textile trade (b) China trade
(b) Trade in tea (d) Industries

3. Which of the following was a European managing agency?

(a) Tata Iron and steel company

(b) Andrew Yule

(c) Elgin Mill

(d) Birla Industries

4. In Victorian Britain the upper classes aristocratic class and bourgeoisie preferred
handmade goods because

(a) They were made from imported material

(b) The handmade goods came to symbolize refinement and class
(c) They were better finished

)

(d) Only upper class could afford the expensive items.

5. Guilds were association of

6. was a mechanical device used for weaving.

7. Manchester in England was well known for

8. In Bengal Dwarakanath Tagore made his fortune in China trade. (True/ False)

9. G.D Birla was a Parsi entrepreneur who built huge industrial empire in India. (True/
False)

10.Who is a stapler?
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11.Which city was known as finishing centre?
12.Who created the first cotton mill?
13.Define Carding.

14.Name the Indian goods that dominated the Indian market before the age of machine
industries.

15.What is monopoly of trade?

16.Who was Henry Patullo?

17.Name an eminent pre-colonial port.

18.Who improved upon the steam engine produced by Newcomen?

19.Name two new ports which grew in importance after the decline of Surat and
Hooghly.

SHORT ANSWER TYPE QUESTIONS

Q1. Explain any three major problems faced by the new European merchants in
setting up their industries in towns before the industrial revolution.

Q2. How did the new inventions and technology help in setting up the factory
concept?

Q3.What was the pace of Industrialization in England?

Q4. How did the seasonality of employment affect the lives of workers during 18"
century in India? Explain.

Q5. What led to rise of Bombay and Calcutta ports in the 19" century? Explain.

Q6. Explain the role of advertisements in creating new consumers for the British
products.



Q7. “Small scale production continued to predominate in India.” Why?

LONG ANSWER TYPE QUESTIONS

Q1. Throw light on production during the proto-industrialisation phase in Europe in
the 17" and 18" centuries with an example.

Q2. “The abundance of labour in the market affected the lives of workers.”Explain
with examples.

Q3.The modern industrialization could not marginalize the traditional industries in
England.” Justify the statement with any five suitable arguments.

Q4. List the various problems faced by the Indian weavers in the 19" century.

Answers:

1. Jobber

2. Chinatrade

3. Andrew Yule

4. The handmade goods came to symbolize refinement and class
5. Traders

6. Fly shuttle

7. Textile production

8. True

9. False

10. A stapler is a person who sorts wool according to its fibre.

11.London
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12.Richard Arkwright

13.Carding is a process in which fibers such as cotton or wool are prepared before
spinning.

14.Silk and cotton

15. Monoploy of trade is the practice in which a country develops a system of
management and control, eliminating competition, controlcosts,ensure regulated
supply of products.

16.Henry Patullo was an East India company official.
17.Surat
18.James Watt

19.Bombay and Calcutta

SHORT TYPE ANSWER

ANS 1. (A) The urban crafts and trade guilds were very powerful. These were associations
of producers who trained the crafts people, regulated the prices and maintained control
over production.

(B) The new entrants were barred from entering the guilds. Thus the entry of new European
merchants into the trade was restricted.

(C) Rulers gave monopoly rights to the guilds to produce and trade in specific products. It
was therefore difficult for new producers to find space in the towns.

ANS 2. (A) New inventions and technology increased the efficacy of each step of
production process.

(B) It enhanced the production output per worker. It resulted in production of stronger
threads and yarn.

(C) It brought the entire production process under one roof that could be more easily
supervised and managed.

ANS 3. (A) Cotton and metal industries grew at a dynamic pace. With the expansion of
railway in England demand for iron and steel increased.

(B) But new industries did not completely displace traditional industries. Less workforce
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was employed in technologically advanced industries.

(C) Ordinary and small innovations were done in non mechanized sectors like food
processing, glasswork, furniture etc.

(D) Technological changes were slow to occur as industrialists feared using machines.
Repair of machines was costly and were not as effective as claimed.

ANS 4.Seasonality of employment badly affected the lives of Indian workers in the
following ways:

(a) It prolonged the period of unemployment and the poor workers came to
street again.

(b) A few of them went back to countryside.

(c) Most of them looked for odd jobs in cities.

ANS 5. (A) Before the machine age the Indian textile industry, specially cotton and silk
goods, dominated the international market.

(B) Indian merchants and bankers were involved in the export trade of textiles. Later arrival
of European traders like East India Company broke down the network of exports controlled
by Indian merchants.

(C) It led to decline of old ports like Surat and Hoogly and the growth of new industrial
towns like Bombay and Calcutta.

ANS 6. The advertisement helped in creating new consumers for the british products:

(A)Advertisements made a product appear desirable necessary and created new needs.
When Manchester industrialists began selling cloth in India, they put a label on cloth
bundles.

(B)The labels also had images of gods and goddesses, which showed that the products
being sold had divine approval of the gods.

(C)In the late 19" century the manufacturers started printing calendars. They were hung in
the houses of the poor, tea shops and in offices.

ANS 7. (A) Handicraft people adopted new technology that improved production.
(B) Productivity per worker increased that speeded up production and reduced labour

—demand.

47 |



(c) Certain groups of weavers who produced coarse cloth were in a better condition.

Long answer type questions

ANS 1. (A) In the 17" and 18" centuries merchants from towns in Europe began moving to
the countryside, supplying money to the peasants and artisans to produce for the
international market.

(B) It was a period when open fields were disappearing and commons were fenced. Poor
peasants who were earlier dependent on common land had to find a new way of survival.

(C) Many had tiny plots of land which could not provide work to all members of the family.
It supplemented their incomes.

(d) They could now remain in the villages, retain their production on land and produce for
the merchants also.

(e) The whole family was engaged in production work which further increased their
earnings.

ANS 2. The workers in Victorian England led a difficult life due to the following reasons:

(A)The abudance of labour in the market affected the lives of the workers. When the news
of possible jobs spread to the countryside, hundreds came to the cities.

(B)Seasonality of jobs added to their woes. After the busy season was over, the poor were
on the streets again.

(C)Wages increased in the early 19" century but it did little for the welfare of the workers.
Prices increased correspondingly. The real value of what the workers earned fell
significantly.
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(D)The income of the workers did not depend on the wage rate alone. There were long
periods of unemployment. The number of days of work determined the average income of
workers.

(E)The fear of unemployment made workers hostile to the new technology. When Spinning
Jenny was introduced in the woolen industry they began attacking the new machines.

ANS 3.The modern industrialization could not marginalize the traditional industries in
England because of the following reasons:

(A)The new industries could not easily displace traditional industries. By the end of 19"
century itself less than 20% of total workforce was employed in advanced technological
industrial centres.

(B)In non mechanized sectors such as food processing, building, pottery, glass work,
production of implements, ordinary and small innovations were the basis of their growth.

(C)Technological changes were not accepted readily by the industrialists. Their growth
was slow as new technology was expensive and often broke down and repairs were costly,

(A) The aristocratic class preferred hand made items as it defined class and
status.

(B) The traditional craftsmen and labour not a machine operator were still more
popular. Hand made things were popular as machines produced mass
designs and there was no variety.

ANS 4. In the 19" century weavers faced a number of problems:

(A)As the cotton industry developed in England, the industrial groups were worried about
export from other countries.

(B)At the same time the manufacturers persuaded the company to sell their goods in the
colonies and Indian markets as well.

(C)The weavers faced twin problems their export market was crumbling and the local
market was shrinking.

(D)By 1860s weavers faced another problem of shortage of raw cotton of good quality. The
American Civil War broke out and cotton suppliers from the US were cut. The cotton
exports from India increased and the price of raw cotton increased.

(E)The weavers lost the bargaining power after taking advances from the company. They
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had to sell their produce at a miserably low price.
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Print Culture and Modern World

MCQ
Q1. The printing press is the most powerful engine of progress and public opinion. That
would sweep despotism away. Who wrote this?
a) Martin Luther b) Erasmus
c¢) Johann Gutenberg d) Louise Sebastien Mercier

Q2. Where was the earliest kind of print technology developed?

(a) India (b) Sweden

(c) China (d) London

Q 3. Which was the first Indian journal in print.
(a) Rast Goftar (b) Bengal Gazette
(c) Shome Parkash (d) The Hindu

Q4: - Who introduced the printing press in India ?
(a)Portuguese (b) French

(c) Dutch (d) British

Q.5: - Who wrote ‘My childhood My university’ ?
a) Martin Luther b) Erasmus

c) Johann Gutenberg d) Maxim Gorky

Q.6: - When was the Vernacular press act passed ?

(a)1877 (b)1878

(c) 1879 (d) 1880

Q.7: - Which is the oldest printed book of Japan ?

(a) Diamond Sutra ( b) Ramcharitmanas
(c) Mother (d) Mein Kampf

Q.8 :- Who authored ‘Gita govinda’?
(a) Tulsi Das (b)Pardeep

(c) Jayadeva (d) Tarabai Shinde

Q.9: - Why did the woodblock methodbecome popular in Europe?

(a)Production of handwritten manuscripts could not meet the ever increasing demandfor books.
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(b)Copying was an expensive, laborious and time consuming business

(c) Bothaandb

(d) Neither anorb

Q10. Who invented printing press?

(a) Johann Gutenberg.

(b) Justin Gutenberg.

(c) Alpen Gutenberg.

(d) None of the above.

SA(3 marks)

Q11-.Who was Louise —Sebatien Mercier?

Q 12-.How did the development of urban culture in China help in increase of printed material?
Q13-How were Chinese book made long —long ago?

Q.14-For what purpose, books were printed in imperial China?

Q.15-What was an accordion book? Describe any two features of hand printing in China?
LA(5 MARKS)

Q 16-“Woodblock print came to Europe after 1295". Give any three reasons to explain the above
statement.

Q17-.What restriction were imposed by the Vernacular Press Act on the Indian press? Explain.
Q.18-Write short notes on- Erasmus’s idea of printed book.
Q.19-Describe the earliest printed book of Europe after Gutenberg invented the printing press.

Q20- Explain the impact of print on Indian women.

Answers

Ans1-(d).Louise sebastien Mercier.
Ans2- (c) China

Ans3- (b) Bengal Gazette
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Ans4-(a)Portuguese
Ans5- (d) Maxim Gorky
Ans6- (b)1878

Ans7- (a) Diamond Sutra
Ans8- (c) Jayadeva
Ans9- (c) Bothaand b

Ans10- (a) Johann Gutenberg.

ANS11-] 1.Louise —Sebastien Mercier was a French novelist in eighteenth .

2] He declared , “ The printing press is the most powerful engine of progress and public
opinion. That would sweep despotism away.”

3] He believed books will bring enlightenment of society and thus tyranny would end.

ANS 12- 1] Merchants used print materials to collect trade information.
2] People began to read for leisure.

3] Rich women began to read.

ANS-13-1] Long-long ago ,when paper was invented in China, it was rubbed against the
inked surface of wooden blocks, from one side only.

2] This was the traditional Chinese “accordion book” in which paper was folded and
stitched at side. Later it was duplicates by skilled men.

ANS14-]1]Imperial China had a system of large bureaucracy. Then men were selected to it,
through a written examination.

2]Candidates who wrote this, needed textbooks to prepare for the same.

ANS-15-Accordion book was the traditional book of China.
1]These were printed by rubbing paper against the linked surface of woodblocks.

2]The beauty of calligraphy was duplicated by skilled craftsmen.
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ANS-16.1]  Paper reached Europe trough the Silk Route in the 11" century.

2]In 1295, Marco Polo, a great explorer, returned to Italy after many year of exploration in
China. He brought with him the knowledge of woodblock printing.

3] Italy began producing with woodblocks, and soon the technology spread to other parts
of Europe.

ANS17-.1]The British govt. began to perceive vernacular newspapers as a threat to its rule.
This led to the enactment of Vernacular Press Act in1878.

2] It provided the govt. with extensive right to censor reports and editorials in the
vernacular newspaper.

3]The govt. started regularly tracking the vernacular newspapers.
4} For any report which proved anti- british rule, the newspaper was first wanted.

5] For the second mistake, there was provision to seize the press and confiscate the
machinery.

ANS18- .Erasmus was a latin scholar and a catholic reformer.
2].He criticized the printing of books.

3].He thought that most of the books are stupid, ignorant, slanderous, scandalous, raving,
irreligious and Seditious.

4]. According to him such books devaluate the valuable books.

Ans19. Main features of the earliest printed book of Europe after Gutenberg invented the
printing were as under:

1] Printed books at first closely resembled the written manuscripts in appearance and
layout.

2]The metal letters imitated the ornamental land written styles.
3] Borders of the printed books were illuminated by hand with foliage and other patterns.
4] lllustrations were painted.

5] In the book printed for rich, space for decoration was kept blank on the printed page.
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6] It was done so that each purchaser could choose the design and decide on the painting
school that would do the illustrations.

Ans.20 - 1. Writers started writing about the lives and features of women and this increased the

number of women readers.

2. Women writers write their own autobiography. They highlighted the condition of women, their

ignorance and how they forced to do hard domestic labour.

3. Alarge section of Hindu writing was devoted to the education of women.

4. In the early 20th century the journals written by women become very popular in which

women'’s education, widowhood, widow remarriage were discussed.

5. Many writers published how to teach women to be obedient wives.
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Print Culture and Modern World
MCQ

Q1 “fiféT o9 ol R ST hl I o7 Fad 1fherred! 391 ¢ 1 399 foremmaTe o g ag foram forar?
a) AT 2R b) "=
c) Sirgr Teent d) g5a daftea Afdg

Q2| Te& ugat fiie aafich el faenfid & s 22
(a) w=a (b) T

(c) &= (d) sfe=

Q 3. flic # ugel! YR gfeht s &Y ot |

() ¥ Mo (fY) st more

(c) 2 memrer (d) feig,

Q4: - 9Rd # flifé o9 Y geena foram A7

(a) gefrreft (b) shretert

(c) =3 (d) fafexr

Q.5: - '8 U= R fagfere’ foram forar §?
a) A1féT 2R b) =g

c) Sirgr qeent d) Aferm Mkt

Q.6: - FfRIR U9 are svd TTia forar mam a1?
(a) 1877 (b) 1878

(c) 1879 (d) 1880

Q.7: - STUH &Y He QR Jfsd G&deh i 9T 82
(a) srwe g7 (b) Tafaa =

(c) =t (d) = wrw

Q.8: - "fia mifder' & g HH8?

(a) Terit &< (b) wRé

(c) s/ada (d) armeTs fid

Q.9: - I & gl fiie Aenfom ot a1?

() exafeiaa uigfaftat et Saare deft agdt AT arelt gxden! & 81 fAeT TehdT ol
(b) Teret =T g HET, ymETed SR TG AR a1 SgaEr o

(c)asikbamt

(d=aatagb

g 10 fifém o a1 snfaser fores frar?

() Sirgr e

(b) SifEes et

(c) ved =t

(d) SR & & =¥ |

SA (3 marks )
Q11 - 59 [aTE AR i U1?
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Q 12- I 7 8 TXpd o [ar = gigd arft ot JgM 7 hd A i?

Q13- =T i feharen ot Igd Ugel e ST AT AT?

Q.14- foha vate o oy, fohaTe el 19 & st off?

Q.15- Ueh 3fepitea- e o1 o? E1F 7 g flifdn &t fohgi &t faiwarstt a1 gufa hifsig?

Q 16- "ge&ilh i 1295 & 91¢ JIT H RITI" IURI<h h- i ARAT T o el hig di- BRI
IS

LA(5 MARKS)

Q17- YR U9 IR FATRIeR U Yae gIRT &1 Ufdael oY T9?

Q.18- 1Y e ford- REY &1 Jgd Y&k ol TR |

Q.19- A& 7 fiiféT U a1 SNfASHR A & d1e I Y Jad QT Jfed Yedes ot goi foa|
Q20- ¥R Afgersti iR fife & uTa 6t et w1

NEICE

Ans1- (d) & Sefea= afig
Ans2- (c) T

Ans3- (b) ST TSI
Ans4- (a) GeTet!

Ans5- (d) AfRyH ikt
Ans6- (b) 1878

Ans7- (a) 8RT g

Ans8- (c) SEca

Ans9- (c) a 3R b &=l
Ans10- (a) STigr e

ANS11-] 1.Louise —Sebastien Mercier 3/6Rgd & Yeh thidfIell SUATHRR &
2] I5I GIvoTT <Y, " Rife S sy 3R SaT Y I BT e ARl $9T &1 39 FRISETE R gl
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3] ITehT AT T foh Tdch THTST I T TUTT 3R 39 dRg STATIR TAT gRTT

ANS 12- 1] @URAT 7 STUR hl STHGRT Tehs e & g flic qrat st IuahT fehar
2] T A 9§ T ot |
3] 3R Afgemsit ot uen o T|

ANS-13-1] Sgd 53 Uget, STel T | h1iTST T HTASHR fehaT T AT, S chadl Yoh It & clcha! oh
SAleh ch! WTe! dTcll Gdg o RIATHh TTST 74T AT

R] g urRuRes i "srenifSa g ot fOrad sriret t AreT SR e T oT| a1e & pret TEst gIRT
ESEIRCCIRIE]

ANS14-] 1] hiRaet 97 & St et di g oft| fhr fafea udter & meaw @ goul ot 39

ferg g T
2] oI Ieieari A 38 fora 8, I¢ AU o folg UTeaq&dehl hl sTasaehar ot

ANS-15- YRS G&deh o hl URURe gedeh
1] 58 gE<cilh ol foidh i T8 Tdg o REIATHh BITST ohl T[S Hicd fohaT T AT
2] Gei@ ht ezdT i PRI BRI GIRT GIgTAT 74T AT

ANS-16.1] 90R 11 & raredt # Fu # Reehee W ST o forg g

2] 1295 #, ATRITIA, TehHgI-NYeh, 9 & SrAWUT & g oh JT¢ 3eeil die SIATITE 31U 1 Alets]
3Tt ggectien fUfdT o)

3] geeft A gSsclich o A1 IATe [ fohdT, 3R I o 3= faedl # +ff deh-teh thel TS

ANS17-.1] fsifesr SRR 7 Myd AR U1 vt (U MG S fol§ =T AT [ e f&aT| 399
giper U gfae 1878 o1 sifefaafaa gam

2] 391 TR IR U1 § 9OR Rutef 3fR uTehld &l ey 3ifdrar uer fohar|
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3] THR = Mafd w0 § Hife TR U5 IR 7SR @1 F R
4} gt off RUIE o forg St forfesr faielt s anfaa g3, SraaR uget amgar Ul
5] T ettt o oy, U ot STed dhet 3iR ARAARY bl STed ahel T UTaT AT

ANS18- 33&HH Teh difed fag iR Yerdheniferer gumes o

2] .31 YEdehl <hl BUTS &l STTelraT H |

3] 1351 g foh srferenisr q&deh 7, s, (Haen, e, gg, sranfien ofik fagierata 81
4] 139k FTIR T Y&dch Head-g¥dchi hl Jedich el g

Ans19. TR Y T TR gfera gaes hr fAvarg e off:

1] ugett IR # Bt g2 foharal 3 IufAf ok Aerse # fofaa uigfaftat et e &

2] erq uAT = geradl o fofed Aferat st T hi

3] gfea qedent St Hiarstt et dheg gIRT uof ok o= ufas=T & wentfRAa fehar mar

4] fa= fafAa fg e |

«] HRT & forg Bt gedes #, Fetae o folg ST Hfed g8 wR @redt &t STt ot

&] U9 3Tferg fohaT T d1feh Udeh chd [SSITEH ot 90 o Tdh 3R U Wt WR iy of ok <t
ICELE T

Ans.20: - 1. Tged 7 Afgarait o Sfta 3R Ih! FAvarstt o IR # o= == forar 3iik 394 aAfgar
UTaehl <hl T H gfg g3

2. Afger ARGeRId gt ST W ferkadt €1 I Afgarsit i fAfd, 37 1T 3R IBI hfdH
R HH A & ol ASTeR et TR UhIST STl |

3. fég o= o1 Uk oreT It Afgetreti & frer & forg gmfta o

4. 20 off Gt &Y reTa § Afgsit g1 foret S arent gfenTd sgd denfid g8, forad afgerstt &t
T, fera, faear gafdarg w ==t &t )
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5. ths oigehl =t UehIRY fehar s afgemat &t smaenrl uferal ot & gerar S|
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RESOURCES AND DEVELOPMENT
VERY SHORT QUESTIONS

1: Khader is a type of

(a)

68 |

Black Soil

(b) Alluvial Soil
(c) Laterite Sail
(d) Desert Soil

Q.2: Resource which can be renewed again are:-
(a) National Resource

(b) Potential Resource

(c) Renewable Resources

(d) Stock

Q.3: In which year was the Earth Summit held?
(a) 1990
(b) 1991
(c) 1992
(d) 1993

Q.4: How much percentage of land is plain in India?
(@) 41 %
(b) 45%
(c) 43%
(d) 47%

Q.5: Which Soil is known as Black Cotton soil?
(a) Red Soil

(b) Arid Soil

(c) Mountain Soil

(d) Black Soil

Q.6: Soil can be Conserved by:-
(a) Cutting of Trees

(b) Over Grazing

(c) Planting of Trees



(d) Excessive mining

Q.7: Land degradation due to over irrigation can be seen in the states of:-
(a) Punjab and Haryana

(b) Assam

(c) Orissa

(d) Mizoram

Q.8: Which one of the following is an example of Biotic Resource:-
(a) Rock

(b) Mountain

(c) Mineral

(d) Flora

Q.9: They are Gifts of Nature which satisfy Human wants:-
(a) A Commodity

(b) a Thing

(c) Resources

(d) None of Them

Q.10: Which one of the following is an example of non- renewable resources
(a) Solar Energy

(b) Tidal Energy

(c) Petroleum

(d) Hydel Energy

Short Questions
How is land use determined in a country?
1
Explain the resources on the basis of exhaustibility with the help of
2 examples.
What is the need for resource planning?
3
Write any three human activities which are mainly responsible for land
4 degradation in
India.
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Explain any three steps taken to solve the problem of land degradation.
5
Explain the importance of conservation of resources.
6
Distinguish between Khadar and Bangar soil.
7
LONG QUESTIONS
"India is rich in certain types of resources but deficient in some other
: resources.” Do you agree with the statement? Support your answer with
: examples.
or
“In India, some regions are rich in certain types of resources but deficient
in some other resources.” Do you agree with the statement? Support your
answer with any three examples
"The Earth has enough resources to meet the need of all but not enough to
) satisfy the greed of even one person.” How is this statement relevant to the
. discussion of development Discuss?
Planning is the widely accepted strategy for judicious use of resources in a
3 court India? Justify this statement with two relevant points and an example.
: Or
“Resource planning is essential.” Analyze the statement.
"India’s vast and diverse size is the most important resource.” Support the
statement.
4,
Suggest any six measures to solve the problems of land degradation in
India.
S. Or
How can the problem of land degradation be solved in India? Suggest
some solutions.
Why is soil considered as a living system? Mention any two factors that are
6 responsible for soil formation.
’ Or
Explain any five factors responsible for the formation of soil.
"Resources are limited on the earth. Many of them cannot be recreated.’
; What do you think there is need of conserving resources?
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"Soil is an important natural resource. When there is land degradation, a
number of things are affected.”

In the light of the above statement, mention some man-made factors
responsible for the degradation of land.

What are the roles of human being in the process of resources

development and management?

10. Explain the six major land use categories of our country along with the
changes that have occurred recently.

VERY SHORT ANSWERS
1.B

2.C
3.C
4.C
5.D
6.C
7.A
8.D
9.C

10.C
SHORT ANSWERS

ANS 1.
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Determination of land use
Physical and human factors determine land use.
(i) Physical factors include topography, ultimate, soil types.
(i) Human Factors: - Population density, technological capability and cultural
traditions etc.
ANS 2,
On the basis of exhaustibility resources are of two types:-
1. Renewable Resources:-
(i) Resources which can be renewed or reproduced by physical chemical
or mechanical processes are called renewable resources.
(i)  They are also known as replenishable resources.
(iii)  ex-solar energy, water, wind energy, forests etc.
2. Non-Renewable Resources:-
(i) Non-renewable resources occur over a very long geological time.
(i)  Metals are recyclable.
(iii)  Fossil fuels are non recyclable.

ANS 3.
i) Planning is very important for a country like India where enormous diversity

exists in the availability of resources.
(ii)Regional disparity is seen everywhere in India.
(@) Ex- Jharkhand, Chhattisgarh and Madhya Pradesh are rich in minerals and
coal deposits.
(b) Ladakh cold desert is relatively isolated from the rest of the country.
(iii)  India is endowed with very rich cultural heritage but it is deficient in water,
infrastructure and some vital minerals.

ANS 4.
(i)Mining — (a) Expansion of mining and quarrying too have contributed

Significantly to land degradation.
(b) In Jharkhand, Chhattisgarh, Madhya Pradesh and Orissa deforestation

due to mining have caused severe land degradation.
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(i)

Over-grazing- In Gujarat, Rajasthan, Madhya Pradesh and Maharashtra over

grazing is one of the main reason for land degradation.

(iii)  Overirrigation- In Punjab, Haryana, Western U. Pradesh, over irrigation is
responsible for land degradation due to water logging to increase in salinity
and alkalinity in soil.
ANS 5.
(i)  Planting of shelter belts of plants.
(i)  Proper management of waste lands.
(iii)  Proper discharge and disposal of industrial effluents and wastes after
treatment
can reduce land degradation.
(iv)  Any other relevant point.
ANSS6.
(i) Resources are vital for any developmental activity.
(i)  To overcome social economic and environmental problems, conservation of
resources at various levels is important.
(iii)  Conservation of resources had been the main concern of the leaders and
thinkers in the past.
- Gandhiji was right in voicing “There is enough for every body's need and not for any
body's greed”.
ANS7.
(i) According to age, these soils are called|(i) According to age, these soils are called
old alluvial soils. new alluvial soils.
(i) These soils are less fertile (i) These soils are more fertile.
(iii) These soils have high concentration of|(iii) These soils have less concentration of
Kankar Kankar
LONG ANSWERS
ANS 1.

(1) 1 agree with the statement that India is rich in certain types of resources but e deficient
in some other resources.

(2) For example, (i) The states of Jharkhand, Chhattisgarh and Madhya Pradesh are rich in
minerals and coal deposits.
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(ii) Arunachal Pradesh has abundance of water resources but lacks in infrastructural
development.

(iii) The state of Rajasthan is very well endowed with solar and wind energy but lacks in
water resources.

(iv) The cold desert of Latah is relatively isolated from the rest of the country.

(v) Latah has a very rich cultural heritage but it is deficient in water, infrastructure and
some vital minerals.

(vi) Assam has mineral oil deposits as well as water resources but lacks in development.

ANS 2.

(1) Resources are vital for any developmental activity.

(2) The irrational consumption and over-utilization of resources may lead to socio-eco and
environmental problems.

(3) Indiscriminate exploitation of resources led to global ecological crises such as global
warming, environmental pollution, etc.

(4) The greedy and selfish individuals and exploitative nature of modern technologic the
root cause for resource depletion at the global level.

(5) If the present trend of resource depletion by a few individuals and countries continues’
the future of our planet is in danger.

(6) There is need for sustainable development. It means development should without
damaging the environment and development in the present should not comp with the need
of future generations.

ANS 3.

(1) Resource planning is the widely accepted strategy for judicious use resources.

(2) (i) Some of the resources like coal, petroleum, etc. are available in. limited quantity.
Resources are depleting at a faster rate. So, it needs a resource planning for their
sustainable and judicious use.

(ii) Some of the resources have been accumulated by a handful of people. This restricts
equitable access to the resources.

(iii) Indiscriminate exploitation of resources is another factor that necessitates resource
planning.

(iv) Resources are the gifts of the nature. These should be used judiciously and in a way
that the coming generations do not get deprived of these resources.

(v) Resource planning is important for sustainable development.

ANS 4.

(1) In India, there is diversity not only in physiographic divisions but also in availability of
resources.

(2) There are regions which are rich in certain types of resources but are deficient in some
other resources.

(3) For example, (i) Jharkhand, Chhattisgarh and Madhya Pradesh are rich in mineral and
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coal deposits.

(i) Arunachal Pradesh has abundant water resources.

(iii) Rajasthan is endowed with solar and wind energy.

(iv) Cold desert area of Latah is isolated from the rest of the country and is deficient in
water, infrastructure and some vital minerals. So, it can be said that India’s vast and
diverse size is the most important resource.

ANS 5.

(1) The vegetation provides the protective cover to the land. Vegetation cover does not
allow the rain water to fall straight on the land, thus, helps to maintain the soil fertility.
Afforestation helps to solve the problem of land degradation.

(2) Shelter belts can be created on the margins of the desert areas.

(3) In semi-arid areas, land degradation can be curbed by cultivation technique. It is based
on moisture conservation.

(4) The industrial effluents and wastes are a major cause of land degradation. Therefore,
effective measures must be taken for the proper discharge and disposal of industrial
effluents and wastes.

(5) Over-grazing of land by animals is to be controlled.

(6) It is also necessary to stabilize the shifting of sand dunes in the desert areas. It ran be
done by planting thorny bushes.

ANS 6.
(1) Soil is the most important renewable natural resource. It is the medium of plant growth
and supports different types of living organisms on the earth. The soil is a living system.
It takes million of years to form soil up to a few cm in depth.
(2) Relief, parent rock or bed rock, climate, vegetation and other forms of life are
responsible for soil formation.
(i) Relief: Steep slopes have thin soil layer due to erosion. Thick fertile soils are developed
in the valleys and lowlands.
(i) Parent rock: Soils are formed by weathering of rocks depending on the types of rocks.
There are different types of soil.
(ii) Climate: The process of weathering, quantity of moisture, dryness, etc. in the soil
depends on climate.
(iv) Vegetation: The amount of humus in the soil depends upon the vegetation cover.
Areas
under thick vegetation have more fertile soils but desert lands have less fertile soil
and
less humus.
(v) Time: The physical, chemical and organic processes take place and lead to the
formation of
fertile soil only in a long span of time.
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ANS 7.

(1) Resource is limited but demand is unlimited.

(2) It will be equally needed by the future generations.

(3) Its over-consumption may lead to various socio-economic problems.
(4) Its over-consumption may lead to various environmental problems.
(5) Its over-consumption may result in global ecological crises.

ANS 8.

(1) Deforestation.

(2) Mining activities.

(3) Over-irrigation.

(4) Over-grazing.

(5) Cement industry.

(6) Industrial effluents and wastes.
(7) Domestic wastes.

ANS 9. :

(i) Economic development of a nation depends mainly on the richness, development and
management of resources.

(i) Overpopulation results in overexploitation of resources.

(iii) To increase agricultural production, fertilizers and insecticides are used. This causes
pollution and affects animal and plant life.

(iv) Unscientific exploitation of mineral releases dust and affect the fertility of the land.

ANS 10.

Total area of land in India is 3.28 million sq.km. But only 93 % is available for use.

i) Net sown area: In 1960-61 its share was 45.26% which has increased to 46.24% in 2008-
09.

ii) Forest: Its share was 18.11% in 1960-61 and it has increased to 22.78 % in 2008-09. It
has increased due to massive afforestation and government policies.

iii) Area under non agricultural use: Its share in 1960-61 was 4.95% and it has increased to
5.57% in 2008-09.

iv) Permanent pastures and grazing land: Its share in 1960-61 was 4.47% and it is reduced
to 3.38 % in 2008-09. This shows tremendous pressure of livestock population on
agricultural land.

v) Culturable Waste: Its share was 6.23% in 1960-61 which has reduced to 4.17% in 2008-
09. The reduction in this category is mainly due to its conversion into net sown area.

vi) Fallow Land: The share of the current fallow land was 3.73% in 1960-61, which has been
increased to 4.76 % in 2008-09. Fallow other than current fallow has decreased from 3.50
to 3.37.
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RESOURCE AND DEVELOPMENT

VERY SHORT QUESTIONS

1: Wex Teh UehRR T &

(a) wredt fAgH
(b) STeite gt
(c) siezrse fagh
(d) S fag

Q.2: Tt T AdHIopd fehy ST Tehet aTet THTEA 8: -

(Q) TETE e

(b) Serfad Twmed

(c) TeteRxolt TETeE

(d) &

Q.3: et RIeR e fohg au | STaifSia fehar mam am?
(Q) 1990

(b) 1991

(c) 1992

(d) 1993

Q.4: YRA # fohat ufderd & gadd §?
(T) ¥3%
(&) ¥4<%
(c) 43%
(d) 47%

Q.5: oI &t fAE ol scieh e ALY & & & ST STTaT 872
(%) et fagh

(b) e ey

(c) AR Irae

(d) <hredt gy

Q.6: fAgh et TRfard fohar ST Gepar &: -

(Q) Ut ht herd

OEIEHERH

(c) gett a1 IgoT
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(d) Srafde T

Q.7: 31feh g o SRUT A I &ROT AT H &@T ST HehdT 8: -
(a) HoTe 3R BRETOT

(b) 3r@H

(c) S

(d) fAsiRe

Q.8: FfafRad & & o= 1 g IGTeH AT Teh IS8T & -
(Yep Ig

(b) A&

(c) @Mt

(d) wett=T

Q.9: 3 Uepld & SUBR & I AT ol TIE hd & -
(Q) T a¥g

GHEN

(c) EHTe

(d) ITehT s @l

Q.10: A= & & e g1 R-AdVehrufia Gare= et Teh ISTEI0T &
(T) ¥R Sl

(b) SaRI Jhett

(c) ugiferam

OEESERERI]

SHORT QUESTIONS

foRdlt o1 # off7 Iuam Y Meiia fhar sirar 8?2

2 JETEXUT} chl TETIAT & UhTac h TR UR T chl SR he |

3 1A ST Sl /T 31T hdT &2

ferelt oft offer st nifafaferat et ford St qer = & Y &rur & fag iwieR § wika A
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5 T &RUT chl THET Sl & i h folQ ISTY 71T fhegl ofi-1 TROTI hl ATRAT hITSIY|

6 TYTYT oh GRETUT & Hgd hf GHATY|

QTR 3R IR gl & off= siavl

LONG QUESTIONS

"R H, O &7 $© YR h GG d TG &, olich o 31+ GaTg-1 # At 1"
T 3119 hYH ¥ Ggad &7 fopdt ot i Iare=on & a1 319+ IR &1 gaYd e

"gedt o U Gt Y HATGIRdT ohl ORT A & folg gaitg Ja1ee g oifch Teh afh
% STl bl ORI oheA h folq Ut 8l 1" I8 h faentd ot Tt o foig e ureifien
8?

“GqreF AT 1AL g1” thYd bl fasdwor &

"R T faRmel R fafde SR Tad Agaqul TATeH §1" hy ol THAT

AR | A &IRUT h! THLTSHT hl §F e oh foly fonedlt oft B Iurat ot gama &

At & fAmfor & forg fSeR fhdt ot gl Renl 6t e &L

“GETE gt iR AT &1 I7H T o3 ol e T S91T 8l ST GepdT g | 'St T

TTAT & foh TaTeY oh TRETUT <hi STTaRThdT &7

“fgl Ueh Hga YUl UTepfdieh 1Y & | STa A &RUT gidT 8, ol hs disl gTfdd gict
gl"
JURI<h U o ATl H, YA P &R0 & foiy SR $o Ara RAfFa sRre! ar
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Il i |

T [dhrd 3R Uaed chl Ufchar | HI-a hl fHhTd 3T 872

10. g1 gt H gU URad-1 oh AT AR 320 <hl B¢ WE A IuT A0} oht et &l

VERY SHORT ANSWERS

1.B
2.C
3.C
4.C
5.D
6.C
7.A
8.D
9.C
10.C

SHORT ANSWERS

ANST & IgghT a1 AeiRor
Wi SR AT SR YA IUANT T YR e &1

(i) Hifden PR | WWATP(d, 3ifdH, A & TR A 81
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(ii) ATTG PR - STGAT G-, dh-1ch! &THAT 3R Fi<hideh

TRURTT 37T |
ANS2.

AR h TR TR T & UhR & 8id & -

1. Teftereofla d9Te: -

(i) @ Tare g ffaes wamafae a1 gifie uftharet g Adiga ot greanrfea  fhar ST asdar &
35 e AT gl STl g

(ii) 3% UfduRes Tl & =9 H oY ST SITdT 8|

(iii) g TR T, ST, TaT Sotl, g 3T |

2. IR-Ad oy dareH: -

(i) R-Tdtereoita GHTe Igd e AT T8 & HfdH gid 8|

(ii) erqé Reamsfere gl €1

(iii) STaT=A 3 R-GREd-1 g1
ANS3.

TR Y &2 o I A1 9gd Agayuf @ STgi Wit fafdear & damet sl Suctsydr # HiSe 8|

(ii) WTRd H g SITg &3 SHMAT ¢! STt

(V) gd IREE, B<IaTg 3R 7 U1 WSt 3R RIel ST & 995 & |

(b) TTETE T SSTANEA &1 S dreh! BTl & STUEIThd T g

(iii) YA g g Gikepldeh [oRTEd & UA g, wifchT Ig U, ATl oid iR o Agayquf @fst d
&4l B

ANS4.

(i) @ - (T) W 3R I@=H & faar 3 oft giver= fRar g
SeIEH &Y I fH &R
(b) IRES, SE, HLH TR 3R ISIT H WA ch hIRUT G-I I heTs oh RUT HfH T HIRT &ROT
ga gl
(ii) HTA-TRTS- ORI, JSTEAH, A UG 3R HGRTY & TRATE HfH &R0 &l Yeh HX hiR0T 8
(iii) 31fdren RS- doma, gRarom, afgy+t gt &, fd & gurar sik eigar # gfg & forg Sie sma &

HROT YA <l e =g & forg R SR 8
ANSS.

i) dtert Rt s afeat et Agor|
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(ii) SOR A 1 I EEA|

(iii) SUTR & F1E eI SufrEt 3R wer o1 IRd Fde ofk Fge™
fA &IRUT ht Y R TohdT B

(iv) T3 3= URifie fag

ANS6.

i) TEer fonddt off foeraraes TTfafafd & fog Agaquf €1

(ii) TraTfSIeR Snffer SR Tafarofta THwast et gx v & forg TReror
fafera T’ oR daree Aeayut 8|

(iili) TETerT a1 TReTor Aareit 3R faaRel et g fiar off
IhIet A |

- Mt smaTT ¢4 & Ta! & “gR IRR i SIeRd o oy gafta § iR fopet o forw =18t R ot et 7|

ANS7.
TreR AR IR 7 & i SR

i) 39 & AR, 3 gl ol Q1 Sietig gt gt srar (i) 39 o AR, 34 A &t =18 Sicite Mg) sl ST 8
gl

(ii) 3 At arferen IusTss gt 81

i) (ii) & st 31 & e @ &w IuenS it &, 37 At
&I Rt STt g et SaT 31

(iii) 7 gt & SR Y S=a wigar gidt & forg gt (i) 377 MAfeat & dhem Y waear 64 gl §
Sieiig AT shgt SraT 8l S

LONG ANSWERS

ANST.
R) & 39 YA T TgHd g [oh MR S YR o T H TG &, AAfch-1 o 310 T & § DAl 5

() T8R0T & 1Y, (i) FIRES, BTG 3R TH TSI AT Wiol 3R it o HeR ¥ TG 8|
(ii) STEUTTAS U1 H STt TTET chl UeRdT & Afch gl forere & ot &1

(iii) ISTRA Y Tgd IS g & TR 3R Uae Soll & UA 8, Afch STeT ST hl HAT g
(iv) TITE BT SSTIRTAT 221 o STeh! 3Tl & STUEIThd 37eTT 8|
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(V) TIATE H Toh Igd Qg Tikcpicich [AXINId & ifch-l gg U, §HATEl i 3R $ Agayul @fHsi d
FHl gl

(vi) 3H H WS Il & HSR o TY-ATY STet TGq1e ot §, <ifch farahr & ot g1
ANS2.

(1) <remer et oft RreprareTes TR & frg Teayef &

() HETET I SrdTfcher @Ud 3R 3ifdreh ITTNT & FrHATTSIch-TafaRoT 3R gafaRor deieh FHwm dar gt
Yehdll 81

(3) TETeET T Sienge S afYe TIRFRAIfIR el S8 et Tt anff, gafaror vewor snfe & wRor
gl

(¥) 3MYFAeh deh-lchl & Tt iR Tareff cafchal 3fiR M Uehfd 1 Affeh TR R TaTe | Bl o1
el hRUT g |

() Tl o cafhal iR 20 g1 A1 Y HHT T addH Ugiy TR I8t & 'dl SAR Ug ot Hidsg
TR H g

(&) il ferenT chl STaTehdT &1 FHehT HeTd & feh fdehre TaIferoT el Jerar ugag fo=T g =fe g
3R gdA # fanrg wfdsa ot dfegai di srasdehdT o =Y 8l g1 A18g|

ANS3.

1) Sare e fadegut IudaiT Tamel & foly e w0 & Wigd W 81

() (i) TS AT S P, eiferad, S1fE JIHT AT H Iued & | TGTY deit 9 9 38 g | 391,
Ich TURIT 3R [qderguf Iuah & foly Tap Tare fHaisi <t SraaehdT gl

(i) P QT LT 3R ANT gIRT Tfd fhy 1Y &1 I8 TA1eE]T deh THIF Ugd aht Ufdaferd ohedl g

(iii) ST T ST g1 Yeh 31T hiReh & STl ST (Ao i TaRIehdT g |

(iv) TETY Ui hl & &1 SR IUANT fAahyul adich I fohar ST T1fdq 8fiR o1 arett difeat ot &7
Igry O dfed T8l g Tnfgul

(v) Tad faer & g dre FatsH Agayuf 81

ANS4.

() ¥R #, 7T chaet ARIReh fTHTSH1 H, sfech TQTe1 bl Iueear & off fafdedar g1
() Y &7 ¢ I $© AAT YhR & GHIAT & TG 6, Aichd o 31T AT Bl HHT 8
(3) T8R0T & oI, (i) FIREE, BTG 3R HLH TS @il 3R P &h SR T 955 &

(ii) STSUTTI U1 H TR ATAT H STef TTe g1

(iii) ITSTRYM IR 3R Uad Holl & 4uA gl
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(iv) ATE T SSTAAT & 32T & FTeh! fgeTl & et & 3R uT, FRTd) @i ok o Agayguf
QST & T §1 39T, T8 el ST UehdT g foh WIRA ol fasnet ofik fafdy SR 9e< Agayuf gared

=
ANSS5.

() TEafa A Al GRETT haT UeH e & | G-l SITaROT STRET & TT1 ahl fy iR W iR Fir
AT T8l 3T §, 39 TR, g i IdRaT a91Q 7@ F Aeg hedl &1 IIehor A &RoT hl THT St
g1 & § Heg hedl gl

() A &t & BT TR ST TS IATT ST Tehd &

(3) STG-[Sh &A1 H, WlT il dchriTeh GIRT A &IRUT TR SIHRT HTRIT ST Hehdl & | Tg THT TRETT TR
SR &1

(¥) 3ftenfiies srafre ofiR SMfre A eRUT &l Uk UHE wRUT &1 3Tfeiy, Sfienfie srafrel sik &R
& 3 fAdga ofk e & forg et Sur farg s =gl

() TS gIRT H <t 31fdren TRT5 ot FAfRd foear ST 8 |

(&) AT SRt H I b el oht FRATHRT et AR AT off S1aRTeh &1 T8 helelt STSTT TR fohaT

T
ANSG6.

(3) JaI God Agayuf Aol Urepfeh ETYA &1 I8 Ule i gieg vt AT g 3R gl iR fafear=
UhR <k STtal T G HedT g1 el Tep Shifad HoTedt &1 et ot g AéHTeR Tg18 dah s | el
BISESUCE]

(2) I8d, geT I a1 AT g, STerary, a=ufd 3R Sfa- & 3= ®U fAgt g9 o foig [SieR §1
(i) TEA: HeTd oh BRI Ga! Gall-| | [HET hl Tdel! U gicit g | GTfeal 3R A= &=t 7 Al Iuis,
Agt faefea &t STt 81

(ii) T TgM: M) IgHT h UhR & TUR WR AUEH gIRT §18 STt ¢ | fafd= ger & gt €1

(iii) STetary; gt & sruer, T} A=, g@TUH, SM1fe i ufehar Siearg uR AR el 81

(iv) geafa: fg # eRoT Y AT g SR R AR et g1 &

HIE geeafaat & 2 sifdres IusTrs, AT gt § Afch AT fF & Iusire: g v it § 3k
& &g |
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(v) 7T Aifden, TEmaien 3R S afshary gidl § 3R 8 7Ta @l 3R of STl § IUSTS et
hadl s gAY |

ANS7.

1y e R & R i e

() = et difedt ot gt i I+ & smasaerar gt

(3) 5 oifiies AT & RS areTfoies-onfifes ey e & wadt &

() s ifirs A= & Rt qaieofia Swer & S 3

(%) 39ch 3tferen Yoot ¥ dfgeh TR Hehe TaT g FerdT 6
ANSS.

3) a1 &t heTs |

() T Tifafafea

(3) 31fdres RS

(¥) Stfa-a=ATI

() e e

(6) 3frenfiren smfre ofik srafAE|

TR STUTRIE|
ANS9.

(i) forit g ot onfefer ey e © U  TTe] ol T, faend SR Ueed R R a1 8|

(ii) TaTert &t Sifdrandr & R Afagie gidt 81

(iii) P IATE TG o fely, IRl 3R IR BT IUANT fohdT ST & | TE UGNUT T BT ST §
3R Ug] 3R Uil o Siiae apl TTfad et 8l

(iv) @fST T SIS g Yo BISdT & 3R A hl IaRdT Pl TTfad AT & |
ANS10.

AR B A & et SAthet 3.28 fafer ot forelt &1 Afehe dharet 93% SuaT & forg Suetsy B

i) [ 1T T &5 1960-61 H 39T g1 45.26% T STt 2008-09 H Tgahs 46.24% & T 81
i) @: 1960-61 & 3T 3T 18.11% UT 3R 2008-09 F Ig T 22.78% &l TTI §s UHM WR
geRRoT 3R TR Hifaat & sRoT 398 g 83 B

iii) TR Pl ITANT & dgd &= 1960-61 H Th! fgEaRT 4.95% ot 31k 2008-09 & I8 5.57% & T
86 |




gl
iv) TIRIT TRATIE 3R TRATIE fA: 1960-61 H 3Tch! et 4.47% oft 3R 2008-09 # Ig Teah?
3.38% 3§ TS & | T8 i A TR U SMETE! ol STeRe<d &alTd feardr &1
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AGRICULTURE
VERY SHORT QUESTIONS

1. Which one of the following is not millet?
a) Jowar b) Wheat
c) Ragi d) Bajra

2. In which of the following countries is ‘Roca’ name given to the slash and burn agriculture?
a) Vietnam b) Central America

c) Brazil d) Venezuela

3. Which of the following describes a system of agriculture where a single crop is grown on
a large area?

a) Shifting agriculture b) Plantation agriculture

c) Horticulture d) Intensive subsistence farming

4. Which one of the following is a leguminous crop?

a) Pulses b) Jowar

c) Millets d) Sesamum

5. lis the largest producer and consumer of which of the following crops in the world?

a) Jute b) Tea
c) Coffee d) Pulses
SHORT QUESTIONS

1. Why is food security is big concern for small farmers?

2. Write three steps taken by the government to increase farm yields.

3. What is plantation farming? Describe its three characteristics.

4. Which crop is known as Golden Fibre? Write any two geographical conditions essential
for the cultivation of this crop.

LONG QUESTIONS

1. Give reasons for increasing use of fertilizers in farming.

2. Discuss the importance of agriculture in Indian economy.

3. What are the geographical conditions required for the cultivation of wheat and
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distribution also.
4. What are the challenges faced by Indian farmers?
5. Describe technological and institutional reforms introduced by the government in the

interest of farmers after independence?

VERY SHORT ANSWERS

1. (b) Wheat.

2. (c) Brazil

3. (b) Plantation agriculture
4. (a) Pulses

5. (d) Pulses

SHORT ANSWERS

1. A. Farmers pay high prices for HYV seeds, fertilizers etc. but bargaining power to fix
price is very less.

B. Free power to certain sector of farmers has encouraged them to pump ground water for
water intensive crops in low rainfall areas. As a result water has reduced in wells which
pushed small farmers out of cultivation.

C. Inadequate storage and market facilities discourage the small farmers.

2. A. Seed: High yielding varieties and quick maturing seeds that develop resistance to pest
base on scientific research and field trials have been introduced.
B. Fertilisers: Chemical fertilisers are used on a large scale. In certain cases, bio-fertilizers

are replacing chemical fertilizers.

89|



C. Soil and water conservation: For the first time under the WTO mandate, soil testing

facilities and watershed management techniques are being extended to the farmers.

3. Plantation is a type of commercial farming. In plantation farming, on a large tract of land
a single crop is grown. It is also called tree or bush farming.

Examples: Tea, coffee, sugarcane, rubber, etc.

Characteristics:

1. It is done mainly for the market. The sole aim is to earn profit.

2. It uses capital intensive inputs with the help of the labourers.

3. It has an interface of agriculture and industry.

4. Jute is known as Golden Fibre.

Geographical conditions required for growth of jute:

1. Soil: It requires well-drained fertile soils in the floodplains where soils are renewed every
year.

2. Temperature: High temperature is needed during the time of growth.

LONG ANSWERS

1. A. Increasing population: Due to increasing population of our country, a pressure has
been felt on agriculture. Agriculture sector has disguised unemployment so, the people
have tried to establish coordination by increasing per hector production. For this, they used
fertilizers heavily.

B. Commercialisation: Sometimes ago, the purpose of agriculture was meant for sustained
livelihood but with the changing time, it has become purely commercial. This is the reason
to raise per hector productivity people began using fertilisers.

C. Mechanisation of Agriculture: Due to modern agriculture machines and equipments,
people dependency on livestock has declined. Therefore, a decrease in their number has
been observed. Farmers are mostly using tractors, thrashers, etc. This way the amount of
natural manure that farmers obtained in form of dung has decreased and the use of

fertilizers has increased.
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D. HYV Seeds: Many high yielding varieties of seeds are being used which need fertilizers
for their proper growth.

2. A. India is an agricultural country. Two-third of its population is engaged in agricultural
activities.

B. Agriculture provides employment to millions of people directly and indirectly.

C. Most of the food that we consumed is produced by millions of farmers of our country.
D. Our animal wealth also depends, for its food, on agriculture.

E. Agriculture also produces raw material for various industries such as cotton textiles,
woollen textiles, jute textiles, sugar mills, paper industry, etc.

F. We export so many agricultural products like tea, coffee, spices, fruits, vegetables, eggs,
fish, mutton, leather, etc. By exporting these articles an goods, we earn huge foreign

exchange.

3. A. Wheat is the second important food crop of India. It requires a cool and moist climate
during the growing season and a dry climate at the time of ripening.

B. It required Annual rainfall of 60 to 75 cm and fertile sandy soil is very suitable.

C. The chief wheat growing areas are Punjab, Haryana, U.P., Bihar, M.P., Rajasthan,
Maharashtra, etc., because all the conditions for wheat production are found here.

D. The use of high yielding varieties of seeds, fertilizers and irrigation facilities helped
raise the average yield per acre.

E. production of wheat increase to 65.9 million tonnes mark in 1997-98.

4. A. Reduction in public investment by government in the agricultural sector particularly in
areas of irrigation, power, rural roads, market and mechanisation.

B. Subsidy on fertilizers has decreased leading to increase in the cost of production.

C. Reduction in import duties on agricultural products has proved detrimental to agriculture
in the country.

D. Most of the farmers has small patch of land, so they are not able to increase there
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earning.

All these factors have led to stiff international competition. Farmers are thus withdrawing
their investment from agricultural employment.

5. Technological reforms: A.The various technological and institutional reforms consists of
various measures taken by the central and state governments from time to time.
B.Flooding of fields with the water is now being replaced by drip irrigation and the use of
sprinklers.

C. Chemical fertilizers are being used on large scale to increase the farm yields. They are
now being supplemented by bio-fertilizers.

D. High yielding and early maturing quality seeds have been developed. Most of these
technology input gave birth to Green revolution in sixties and seventies of twentieth century.
The green revolution was followed by White revolution.

Institutional reforms: A. The government of India abolished Zamindari system.

B. Consolidated small holdings to make them economical viable.

C. Development of irrigation facilities — In order to modernize the agriculture it is necessary
to develop irrigation.

D. Improved seeds and the chemical fertilizers form the basis of modernization of the
agriculture.

E. Government has established multipurpose societies and cooperative banks in rural

areas.
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AGRICULTURE

VERY SHORT QUESTIONS

1. FAfefEd # @ o Jier ST 61 872

a) SR b) 7

c) it d) STerRT

2. fAAfeifed o @ <2t 7 ToRT 3R STelt i o forg ‘Went' A feam mar 82
a) fogaam b) Aex MR

c) siTsfiet d) gge

3. ffofaa & & &9 HfY 6T Tep ToTTelt o1 guie ShedT § STel Teh ISt el Uoh a8 TR IS SArd!
8?
a) fAIf T Tfihear b) wiie*  Giftehear

SEIUEIEI] d) e+ fafe @t

4. 9 7 § oI Y Uoh hellaR had g7

a) Gefgd b) SR

c) Feea d) faer

5. R4 fasyg & FAfeifea & @ fhg o o1 9ad 9S1 IdTgeh 3R SUHIRH &7
a) S[¢ b) @™

C) <hIthI d) aret

SHORT QUESTIONS

1. B¢ fhari & forg @rer grem oS far ==t 2

2. Td $l 9SEaR FoM & A TRPR ZIRT IS MY i heat ot frd |

3. JETRITUT Weft T &2 Tch! oI fawdTett ot quis |

4. fhY thye ol GG T S A I STHT ST 82 39 hdd Sl Wl & Ay srrasaes wis o &
iifere feafaai ford |

LONG QUESTIONS

1. Weft & IRehl oh Tod ITTNRT o fIT TROT FATT |
2. MR SrfedT & Pt & Agd R T4 el
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3. 7§ ! Gcit o Y Srrasges et gRRAfAAT SfiR faraRor oft &1 §1
4. R fohgTT &b ITH+ T ANl 67
5. AT & 915 fhdTH1 o fgd H RBR gIRT F hU Y deh-i1chl 3R TXARTA JeIRT I Ui he?

VERY SHORT ANSWERS
1. (b A

2. (c) sTofter

3. (b J&TRITUT iR

4. (a) gelg

5. (d) <ete

SHORT ANSWERS

Ans 1. A. fREM HYV seeds, IaRen! 31fe & folg I=a1 hiHdl ol 9T ehd &, ifch hiFd Tg e
T Hieasit i 21fth Igd A &

B. fohamil & & &l # gud fostelt = 35 i auf dret &3l # U1 &l el o folg ¥oiel GU e oh
forg gtafad foran 81 uRummeasy Feff 7 urt a8t a8, g |l fohami ot @t @ argr &
feam

C. Tt YERUT 3R JITR hl FiAeT Bl fhdTI ot galTiod P! &

Ans 2. A. Si5T: ITa IUST &7 aTeft fohedt ofik @Ra uRuea ofit St defAes srgeear ofk 87 ¢od R
dhic MR & foIg ufaRty fasfia a=a 1

B. IaReh: ek IdRehl <Al IUTNT a8 THTA UR fohdT ST 81 $© AH! H, Sig-3dReh AR
ARl I STE A 3B &

C. T&T 3R STeT TRETUT: SIS STHIGT & dgd Ugel! IR, FaT URIEToT giaarai 3R arexsls uea
deheiTent ! fohaTT deh UG ST @l 8

Ans 3. 40T HfY Yeh UehR Y caradTiies Wit g1 JeTRIu @t #, YA & Yok I8 UY WR Teh &l el
IS STl 81 39 &7 a1 HTSt Welt Y ehgl ST 81

ITERUT: AT, TIthT, T4, &R, 31 |

ICRILGIL

1. I8 &I ¥4 ¥ I16IR & g fohat ST1a1 81 TopdT 389 ol AT 8|
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2. g ASIgYl i ACE T Yol T8 STGT] bl ITINT hdT & |
3. SUH P 3R I I Toh $eXhY ¢ |

Ans 4. S ohl MeS HIgeR o &Y H ST ST 8|

¢ & A & g srrasaes wiiferes uRfeafaar:

1. TJaT: SO 91¢ S A1 H 37! dXg & @1 JUSIS Hel i STa=IhdT gid! & STal g< I1d fHg!
TRzt fopat STTaT 81

2. ITUHM: gicg o THT I ATIAT <hl HATGIhdT gidt 8
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LONG ANSWERS

Ans 1. A. Igdl STHHEAT: AR &7 FI Tt STATE o RIRUT, Y TR Teh &al1d Hegd fohar a1 g1 pfy
&3 3 SRISATRT ht T o & &, 39felg @l A U gaex IdTe & gfeg hich GH-ad T1Ud dhedt
o1 7T fohar &1 39k foTT I Id=en! ohl STHHR S&HTA fohar|

B. STaariiRor: dhfl-delt, B o1 I8 T FRaR SiTshifde & g o, «ifchs agatd T & a1y, I8
a3 =0 & Tt gt 7T &1 T8 HRUT & foh Ufd §aer IATEhdT de o folg &7 Id=ent hr
ST & &t |

C. S a1 AfTeRor: 3MyfAch Y AMAT 3R IuUT o BRUT, UL UR R bt & fiRTae e 8l
3qfely, Icht T¥eaT § dHt 3&t 718 § 1 fohaT SuTeTaR ey, 9RR SMife T SUTNT AR TR &, ST R A
MR & T4 H fohar=t el UTed g aTefl UTehfdeh @Te hl ATSIT A g 715 & 3R Ieiehl sl ITTNT &g 7T
gl

D. TaarEd! HEH: g STd IJUST dTell fhedl oh STl T ITANT fohdT ST 3@l 8, foimieht 3faa g & ferg
IRl <l HTIThdT Bl &1

Ans 2. A. HIRd ek Y U= 321 g | 39T al-fagrd st iy nfafaferat & «f g3 81

B. i Uer 3R AT T ¥ dRal ANl <t SR Y& hd gl

C. BUR gIRT @I ST AT TR ST §HIR ST oh ATE! [haTHI gIRT SATed fhdT ST gl

D. gAY ug] Teuer Hf, ITch S & foiy, HfY or AeR &eet 81

E. Y fafera Sgiv 9 et a9, S+t o<, S a3, DT A, Srmet e 3anfe & forg off sved a1
T IATEH T Bl

F. 89 3d- 9R Y IdTal S I, Shithl, AT, thel, Gfsordi, 378, ASell, Hed, IAST 3a1fe o1 Fafa
PR &1 39 @Il Sl Uh AT & =0 # Fafd axdh, g7 9t fageft gar sifta aed €1
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MINERALS AND ENERGY RESOURCES

VERY SHORT QUESTION

Q1. Name the industry which uses limestone as its basic raw material.
Q2. What are the placer deposits?
Q3. Which fuel is considered environment friendly fuel?

Q4. The hardest mineral found on earth is the

(a) Diamond (b) stone

(c) Iron (d) copper

Q5. Major metallic minerals like tin, copper, zinc and led etc are obtained from
(a)Beds (b) layers

(c) Alluvial deposits (d) loads and veins

Q6. The finest ore of iron with 70% iron content is the

(a)Hematite (b) goethite

(c) Magnetite (d) limonite

Q7. Which of the following iron deposits is known to be one of the largest in the world?
(a) Bailadila range (b) Kudremukh deposits

(c) Odisha- Jharkhand belt (d) none of these

Q8. Manganese is mainly used in the manufacturing of:

(a)Glass (b) brass

(c) steel (d) zinc

Q9. Which rock consists of a single mineral?

Q10. What are ores?

Q11. Besides steel, name two other industries which use large amount of manganese.
Q12. In which states of India are the Khetri copper mines situated?

Q13. For which mineral is Koderma in Jharkhand, a leading producer?

Q14. Coal of which geological age is found in north eastern India ?

Q15. Which is the oldest oil producing state of India?

Q16. Where petroleum was first drilled in India?
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Q17. Which industries are the key users of natural gas?
Q18. Which mineral is found in the Monazite sands?

Q19. In which state is the largest wind farm cluster located.

SHORT QUESTION

Q1. “Minerals are an indispensable part of our lives”. Comment.
Q2. Distinguish between: Metallic and non metallic minerals.
Q3. Distinguish between ferrous and non-ferrous minerals.
Q4. “Mineral resources in India are unevenly distributed”. Support this statement with three
suitable examples.
Or

Explain any three reasons for variation in the distribution of minerals in India.
Q5. Mention any four uses of manganese ore.
Q6. Why is conservation of minerals necessary? Give four reasons.
Q7. Why is energy required for all activities? How can energy be generated? Explain.

Or
Why do we need energy resources?

Or
How is energy a basic requirement for the economic development of a country? Explain
with examples

Or
Why is energy needed?
Q8. Differentiate between conventional and non conventional sources of energy.
Q9. What is the importance of coal as a source of energy and as a source of raw material?
Q10. Give two points of difference between LPG and CNG.
Q11. Why do you think solar energy has a bright future in India?
Q12. Why do the use of fire wood and cattle dung cake is decreasing in rural India ?
Or

Why should the use of cattle dung cake as fuel be discouraged?
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LONG QUESTIONS
Q1. Write five main types of formations in which minerals occur.
Q2. Name four types of coal and write two characteristics of each.
Q3. How is coal “an important source of energy and industrial raw material as well”? Write
four points of each.
Q4. What are the conventional sources of energy? Why is water, as a source of energy,
more important than coal and petroleum? Explain any four points in this regard.
Q5. Why is there a pressing need to use non-conventional sources of energy in recent years
in India? Explain any three reasons.
Q6. Bring out the differences between thermal power and hydel power projects.
Or
What are the two main ways of generating electricity? How are they different from each
other? Explain.
Q7. “Nuclear energy is expected to play an increasingly important role in India “ Give
arguments to support this statement.
Q8. What are the non conventional sources of energy? Why do the non conventional
sources of energy have a bright future? Give four reasons .
Or
Explain any four points of importance of non- conventional sources of energy.
Q9. “Energy saved is energy produced” justify the statement by giving any since major to
conserve the energy resources
Or
How can we save our limited energy resources? Suggest three majors to conserve the
energy resources
Or
Suggest and explained any three major to develop a sustainable development of energy
resources.

Q10. “There is an urgent need to develop a sustainable path of energy conservation
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“discuss.
Or

Why is there a pressing need to use renewable energy resources in India? Explain any five
reasons.

VERY SHORT ANSWERS
Ans1. Cement industry.
Ans2. The placer deposit is an accumulation of valuable minerals formed by gravity
separation during sedimentary process. Gold, silver, tin, platinum etc are found in these
deposits.
Ans3. Natural gas.
Ans4. Diamond.
Ans5. Loads and veins.
Ans6. Magnetite.
Ans7. Kudremukh deposits.
Ans8. Steel
Ans9. Limestone consists of a single mineral.
Ans10. The term ore is used to describe an accumulation of any mineral mixed with other
elements. Minerals are usually found in ores.
Ans11. Besides steel, manganese is also used in manufacture of bleaching powder and
paints Ans12. The Khetri copper mines are situated in Madhya Pradesh.
Ans13. Koderma in Jharkhand is leading producer of mica.
Ans14. Coal of tertiary age is found in north eastern part of India.
Ans15. Assam is the oldest oil producing state in India.
Ans16. petroleum was first drilled in Digboi (Assam).
Ans17. The power and fertilizer industries are the key users of natural gas.
Ans18. Thorium is found in monazite sands.

Ans19. The largest wind farm cluster is located in Tamil Naidu.
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SHORT ANSWERS
Ans1. Almost everything we use, from a tiny pin to a towering building or a ship, all are
made of minerals. All means of transport are manufactured from minerals and run on
power resources derived from the earth. Even the food we eat contains minerals. In all
stages of development, human beings have used minerals for their livelihood, decorations,
festivities, etc.

Ans2. Metallic minerals —

1) Metallic minerals are those minerals which can be melted to obtain new products.
2) These are generally associated with igneous rocks.

3
4
5) When hit, they don’t get broken.

)
) They are usually hard and have shine or luster of their own.

) They are ductile and malleable.

)

6) Iron, copper, bauxite, tin and manganese are some example of metallic minerals.

Non-metallic minerals-

1) Non-metallic minerals are those which do not yield new products on melting.
2) These are generally associated with sedimentary rocks.

3
4

)
) They are not so hard and have no shine or luster of their own.

) They are brittle.

5) When they hit, they may get broken into pieces.

6) Coal, salt, clay and marble are some example of non metallic minerals.

Ans3.Ferrous minerals (containing Iron) - iron ore, manganese, nickel, cobalt, chromite, and
pyrite. These minerals help in the growth and development of metallurgical industries.
Non-Ferrous minerals (containing Metals other than iron) - copper, bauxite, tin, and lead.
These minerals are important for engineering and electrical industries.

Ans4. 1) mineral in peninsular India:

The peninsular rocks contain most of the reserves of coal, metallic minerals, mica and
many other non metallic minerals.

2) Minerals in western and eastern region of India:

Sedimentary rocks of the western and eastern parts of India that is Gujarat and Assam
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have most of the petroleum deposits.

3) Minerals in Rajasthan:

Rajasthan with the rock system of the peninsula, ha reserves of many non ferrous
minerals specially copper and mica.

4) Minerals in north India:

The vast alluvial planes of north India are almost unavailable to extract economic minerals.
Ans 5. Manganese ore is used for-

1) To make iron and steel and make various alloys.

2) To manufacture bleaching powder.

3) To manufacture insecticide.

4) To manufacture paints and batteries.

Ans 6. The conservation of minerals is necessary because -

1) The formation of minerals takes long geological period.

2) They are finite, i.e., limited in nature.

3) Most of them are non-renewable and exhaustible.

4) They have to be preserved for our future generations because they are very important
for industrial development of the nation.

Ans 7. Needs:

Energy is required for almost all activities Such as in cooking, lighting and heating, to
propel vehicles and to drive machinery in industries. Without energy resources our live
would become stand still.

Energy can be generated from fuel minerals, such as coal, petroleum, natural gas, uranium
and from electricity.

Energy can also be generated from non-conventional sources of energy such as solar
power, wind power, tidal, geothermal, biogas and atomic energy.

Ans 8. Conventional source of energy

1) Fire wood, cattle dung cake, petroleum, coal, natural gas and electricity are known as
conventional source of energy.
2) Except hydroelectricity, these sources of energy are not renewable.

3) They cause pollution when used, as they emit smoke and ash.
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4) Their generation and use involves huge expenditure.
5) They are very expensive to be maintained, stored and transmitted as they are carried
over long distance through transmission grid and lines.

Non-conventional source of energy

1) Non-conventional source of energy are wind, tidal, solar, geothermal, biogas and atomic
energy.

2) All these sources are renewable and they are inexhaustible.

3) They are generally pollution-free sources of energy.

4) Very meager amount of money is required for their use and generation.
5) Less expensive due to local use easy to maintain.

Ans 9. Importance of coal :-

1) It is a main source of thermal power electricity.

2) It can be converted into gas.

3) It is an important source of power in locomotives.

4) The conversion of coal into oil is also being worked out.

Ans10. LPG

1) LPG means liquefied petroleum gas.

2) The gas supplied for house hold use is called LPG.

3) LPG is prepared from petrol.

CNG

1) CNG refers to compressed natural gas.

2) The gas used for running vehicles is called CNG.

3) Natural gas is found associated with or without petroleum.

Ans11. 1) Location of India: India is a tropical country, so lot of solar energy is available in

India. It is about 20 MW per sq. km per annum.
2) Thar desert: India has Thar desert which can become biggest solar power house
of
India.

3) Different uses: Solar energy can be used for cooling, pumping water, refrigerator

and street lightning. So its demand will increase in future.
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4) Developing countries: India is a developing country so there is every possibility

of
increase in consumption of power. Non-renewable sources of energy are in short
supply so the solar energy can supplement the non-renewable sources of energy.
Ans12. 1) in rural household, about 70% of energy required is met by fire wood and cattle
dunk cake
2) Continuation of these resources is becoming more difficult due to deforestation.
3) Dunk cake consumes most valuable, manure that could be used in agriculture, so it is

being discouraged.

LONG ANSWERS

Ans1. 1) Veins and lodes: in igneous and metamorphic rocks, minerals may occur in the

cracks, faults or joints by getting solidified in them. The smaller occurrences are called
veins and the larger are lodes. Ex metallic minerals like tin, copper, zinc, led, etc are found
in lodes and veins

2) In sedimentary rocks, minerals occur in beds or layers. They are formed as a result of
deposition, accumulation and concentration in horizontal strata. Some sedimentary
minerals are formed as a result of evaporation, especially in aid regions. Ex. Gypsum,
potash and salt.

3) Another mode of formation involves decomposition of surface rocks and the removal
of soluble contents, leaving a residual mass of weathered material containing ores. Bauxite
is formed this way.
4) Minerals also occur as a placer deposits. They occur as alluvial deposits in sands of
valley floors and the base of hills. Ex. Gold, silver, tin, and platinum
5) The ocean waters contain vast quantities of minerals; ex. Common salt, magnesium
and bromide are largely derived from the ocean waters. The ocean beds are rich in
manganese modules.
ANS2. Anthracite:
1) It is the highest quality hard coal.

2) It contains more than 80% carbon content and gives less smoke.
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Bituminous:

1) It is the most popular coal in commercial use and has 60%-70% carbon content.

2) Metallurgical coal is high grade bituminous coal and is of special value of smelting iron
in blast furnace.

Lignite:

1) It is a low grade brown coal.

2) It is soft with high moisture content.

Peat:

1) It has a low carbon and high moisture content.

2) It has low heating capacity and gives lot of smoke on burning.

Ans3. Coal as important source of energy:-

1) It provides a substantial part of nations energy needs as it is abundantly available.

2) It is used for power generation, to supply energy for industrial and domestic needs.

3) India is highly dependent on coal for meeting its commercial needs. Its share is total is
about 67%.

4) It can easily be converted into other forms of energy like electricity, gas, oil etc.

Coal as industrial material:

5) It is an indispensable raw material for iron and steel industry as it is required for
smelting iron in blast furnaces.

6) It provides raw material for chemical industries and synthetic textile industry.

Many coal based products are processed in industries example - coal tar, graphite, soft
coke etc.

7) Power generation industry is mainly based on this fossil fuel. Generally thermal power
plants are located closed to the coal mines.

Ans4. 1) Coal, petroleum, maturely gas and electricity are conventional sources of energy.

2) Hydro electricity generated from water is important then coal and petroleum resources

because of following reasons:
(a) It is a renewable resource. For generating hydro electricity water is released at great
force from a high head, and dams are constructed across rivers to store water. While other

sources of energy namely coal, petroleum and gas are non renewable resources.
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(b) Water is available in abundance while coal and petroleum have a limited stock.
(c) Hydro electricity accounts for 25% of total electricity produced in India.
(d) The total hydel power potential of India is estimated at 150,000 MW of which only one
sixth has been developed so far. The total installed capacity of the hydel power projects of
the country is 23,488 MW. Important hydel power producing states are Andhra Pradesh,
Karnataka, Kerala, Odisha and Punjab.
Ans5. 1) non-conventional sources of energy means using renewable source of energy

2) for example solar energy, wind energy, biogas etc. these sources are called non-
conventional energy sources.
3) Growing consumption of energy as made us totally dependent on fossil fuels like coal,
oil and gas. Following factors have been causing uncertainties about the security of energy
supplier in future:
- Rising prices of oil and gas and
- Their potential shortage in future
4) it in turn has serious repercussion on the growth of the economy.
5) Increasing use of fossil fuels also cause serious environmental problems
Hence there is a need to use non-conventional source of energy like solar, wind, tides,
biomass and energy from waste material.

Ans6. Thermal power

1) It is generated by consuming fossil fuels and atomic minerals, coals, natural gas etc.
2) it is an exhaustible resource of energy.

3) It causes pollution.

4) Thermal plant can be set at any place.

Hydel power

1) Hydel power is generated by storing water.

2) It is renewable source of energy.

3) It does not cause any pollution.

4) These plants should be near the source of water.

Ans7. Nuclear energy is playing and increasingly important role India due to the following

reasons —
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1) Nuclear energy mineral like thorium is found in the southern part of India.

2) It can be used as an alternative source of energy as India has limited resources of coal
and petroleum.

3) Nuclear power station can be setup to generate nuclear energy from these substances.
4) Further it can be used for peaceful purposes.

Ans8. Nuclear energy is expected to play an important role in India because of the
following:

1) India is deficient in good quality coal and petroleum. Nuclear energy minerals are found
in India in abundant quantity. Hence nuclear energy can compensate this shortage or
deficiency.

2) Uranium and thorium are used for generation of nuclear power.

3) Uranium and thorium mines are located in Jharkhand and aravali ranges of Rajasthan.
Thorium is also found in monazite sands of Kerala.

4) Nuclear power station can be established easily and conveniently, in those areas, where
other sources of power are not found at all, or are found in very small quantities.

Ans8. 1) the energy which is generated by using wind, tides, sun, geothermal heat, biogas
including farm and animal waste as well as human excreta is known as non-conventional
energy.

2) Importance of non-conventional sources of energy:

(a) The non-conventional sources of energy are abundant. According to energy experts,
the non-conventional energy potential of India is estimated all about 95,000 MW.

(b) These are renewable resources. The non-conventional sources of energy can be
renewed with minimum efforts and money.

(c) The non-conventional sources of energy are pollution free and eco friendly.

(d) The non-conventional sources do not need extra ordinary technical assistance. These
resources can be maintained with low cost.

Ans 9. Conservation of energy resources

India is presently one of the least energy efficient countries in the world.
We have to adopt a cautious approach for the judicious use of our limited energy resources

As responsible citizen of India, we can play an important role in energy conservation by
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following ways:-

1) Use of public transport systems instead of individual vehicles.

2) Switching of electricity when not in use.

3) Do not waste water and use economically.

4) Using power saving devices.

5) Us e bicycle for short distances, as is used in Denmark, Sweden etc.

6) Using non conventional sources of energy.

7) By stopping wastage of coal and petroleum in mining.

8) Judicial use of power resource, over use and misuse should be stopped with immediate

effect.

“energy save is energy produced” must be our motto of life. What energy we save can be
assumed as what energy we produced.

Ans10. 1) Energy is a basic requirement for economic development.

2) Energy sector of the national economy (such as agriculture, industry, transport,
commercial and domestic etc) requires input of energy for power and other uses.

3) The economic development planning since independence necessarily need increasing
amount of energy.

4) Consumption of energy in all form has been rapidly increasing all over India.

5) In this background we need to conserve energy.

6) Promotion of energy conservation and increased use of renewable energy sources are

the twin planks of sustainable energy.
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MINERALS AND ENERGY RESOURCES

VERY SHORT QUESTIONS
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Jrurfae @er-
1) srenfas @A 3 § S fUrge™ R A9 Iare 78l 2a &1
2) & M IR | dered! 9l 9 IS 8id & |
3) @ 3 TSR &l & 31R 3ITch! WG hl IS IHH T IH ol o
4) 3 R G
5) 519 d fgc @xd &, At 3 gorsl A ¢ Tohd 8|
6) hiTeT, THh, gl 3R TR R-urfd s @St & $o ITET El

113 |




114 |

g @it (1 geh) - wiig 31a<h, Ao, Mahdt, dieTee, shiATse 3R UTsRise | & @St ardeH
e <t gfeg ofiR faehr & Aeg oed &
3citg WS (lg & STeTTaT 3= 1) - didl, dierge, feor ok i) & @fas Ssfifaafi sik
faega Iem & forg Agayof &1
1) UragIdia 9Rd & @i
URIGTdT IgH1 | e, enfda @i, 31yeh 3R s 3 R-uTfd e @iHsT & HeR &
2) HRd o uigHt ok gdf & & @
1R & UfgHt 3R gt 1T & 7RI 3R 31 hl dded! 9gM & oI Jifdrepier diferas Sm

|

3) IS # WA

UTTEIT hY ch YTt oh 1Y ST, ahs R dig @foll h HYeR fadw &g I qiar ik 31yeh|
4) IR 9RA & @l

IR MR o fa1Tel STefie faaT sife @RSt vt fAeprer & folg e Srquersy g1

FIIST 31Tk T IUAT fohgeh forg fopaT STra &-

1) oftg 3R Tt s 3fR fafera sy 9 & fergy

2) selfT UrgeR & fAmfor & ferg|

3) chieTRIeh ST fAHTOT AT

4) dz 3R et 9 & forg

QGAST! ol TRETUT 37T & ilTeh -

1) @it & o7 & 6t apreffa safd enrdt 81

2) 3 uRfad §, srufq, upfa & difaal

3) I8 & srfdepiar R-Tdrufig ofR ey gl g1

4) 3% gart et difeat & forg T=feya forar s anfeu wriifes @ e & sftenfies e & foig
g A YUl &l

STl hl ST 8

et oY fafafeat & forg Setf <t srrasTendr it & ST foh @ T uehH, UehIRT 3R gife,
er%ﬁaﬁaﬁamﬂaﬁ?aahﬁﬁmﬁqﬁaaﬁasﬁm oIl 91T oh foHT 8ART ST R 8t

aﬁu?n geiferaH, urepfaes 4, gfAas iR forsreft Sie S @fAstt & Stf 3= ot ST endl 81
Sl Solf oh IR-URURE Al S GIR SHoll, UG- $ol, AR, YdTI1, SR 3R AT & off
I hl ST Hehll &

Sl el URUR Hid

1) BIRR g, Aaft MR dhep, UeiferaH, shaer, Urepfeh 19 3R fastelt ol il & URURe Aid &
&Y § ST ST 8

2) GHfSISTell ht BIgehe, Hell oh & HId Adeoiig gl &1

3) S1e & YU R TG AT IS hd & dt d UGHUT I HRUT §1d g |

4) ITeht Uit 3R IuAT & 9 @ e g1

5) @ ST ¥@, TUeId SR U¥d &t & oy sga 787 & ifeh 3 giafasE fie sik gl &
ATH T ol g TR o oI d 8

Feotl ol IR-URUReh Ald

1) Seil & R-URIRS Fid 9a+, SOR, G, dTd, TR 3R GRHT] 3ol g |

2) & gt iq Tdtenvuifa § ik & arge 81

3) 3 H IR TR UGWUT-Hh Hell oh AId &

4) Ik ITTNRT 3R dId o foly Iga sreq Wi it 3raeaenar gl g1

5) TR IUTNT ST IHTY @G h hRUT HH GTeAT|




9. HIUA T AGA
1) I Il UTaR forsTel! &f Ueh &0 9id ¢ |
2) 39 9 § &l ST HehdT 8
3) gg dtehiHifed # 1fch T Teh Hea guf &id 81
4) 3 ¥ Spiaet & TUiaRoT WR ot S fohar ST @1 81
10.39E A9
1) Qerdtstt st aref & gefiod deiferas 491
2) B39 gles IJUTNT & foig Smgfet <hl 775 719 opt Yettsit chgl SITdT 8l
3) YeTdiSit ol Odtel & dOR fhaT ST 8|
gt
1) CNG TfEa urepfaes 79 i defofa swear 21
2) aTgA1 ot T oh fely SEAHTe hl ST aTel! 719 ahl JIY-TSt! hgl STTaT 8l
3) Urepfden 19 diferam & a1 a1 I a1 ST g2 U STt 81
11. ¥R ohT TIH: IR Ych IR 2327 8, AT WA H Igd IRI UR Sl Iuetsy g1 Tg
T 20 FTETe ufd at fhdt ufa ad g1
2) IR IAAH: YR § IR IFETH & ST R ol a8 G387 UR Foff 8- 59 JehdT g
3) fafera IuahT: TR it ot IUANT [ftdet, GiteT g, AThoRex 3R e amgfén & forg fohar
STT HehdT g | 3TTeTT fasg & gHdhl AT deit |
4) faerraiter a1 R ek faerrasiter o1 8 gafarg fastelt it @ua # gfg & ot G
%ﬂ;ﬁ-ﬂé@%ﬂhﬂ&ﬁ%ﬁ%%ﬂﬁ?@?ﬁfﬁf%ﬁﬁzﬁaﬂvﬂumﬁaﬁwaﬂ
|
12.1) grftor uRaRY #, AT 70% St hl TaTehdl BRR 8 3R AdLft € oheh @ G gt &
2) G\ <hl heTs oh hIRUT 34 JATEAT i FARaRdT s gidt T 36! 8l
%iiﬁ&wq) %clé Hed g, @1s fSIeent IualT it # fosam 571 GerdT 8, 39fely 38 galarfad
SRR

LONG ANSWERS
1. 1) 79t 3R 7is: 3 SR shriaRa gl #, WS R, 3y a1 Siel # 319 & aad §1 81
g1 i FRRTY gt STTaT & SR I URd gid! &1 gd arg @fast siet o, e, S, 9, sife
Ared SR 79T # UTg S1d §1
2) ATl IgFl H, WS 3 a1 iRdl # UTY Sid &1 3 &fdst Tk & SH1a, 999 3R YHhRIdT &
IRUIAEGEY I &1 B doTse] @i-sT arsdIchul o TRUMATGEY J-d &, [t agradn
&=l 7| gd| foieam, atersr ofk T\ |
3) & <hl Ueh 3R faer & Tdg hl Il ol s1age 3R germsfier 9l st g i g,
S faferg armft g6 srafre goomm= gtar &1 Siaarse ¢t R sFar 81
4) G Y Teh WToR STHT & ©U A gid g1 3 91ét o el 3R ugifSal & e &l d #
STellg ST & &0 | gid &1 gd | I, 9, 67 ofk wifes
5) T o T H a9 1 A H WIS gid &, Id | 314 FHeh, AI10H iR iA1gs 98 391 W)
TG o U T UTtd 8d 8| AR € AN Aleyel # 995 6|
2. TIgEe:
1) Ig I=aaH U ITel R higa gl

2) 395 80% T 31fdreh shrel= AT gl & 3R I8 A Yari AT &
fegfaa:
1) Ig oI Aes IUTNT H T Ak U el & 3R 395 60% -70% hrei Ardl 81
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2) UTdeRrd el Ia U fagf=d et & 3R slTie thd | et aTet ele <l [Agiy e 81
forTse:
1) I8 Yeh 357 ot &t o =1 idet g |
2) I8 34 AH! AT & 91T RA g
e
1) STH A P IR I A4 HI AT it |
2) THhT BT &THdT A & 3R el IR Fgd o &t &1
1) Ig T hl SHoll HTIGRATHT T Yeh TST [T UG ehdl ¢ HRilfch Ig TR AT § Uy gl
Z)wgmmﬁaeﬁwm&ﬁaﬁfﬁsﬁwiqawﬁ%mwﬁaﬁwgﬁa;mﬁm
ST 8
3) YR U IR h Sl il T e o foly diaet IR srafdes [k 81 3ae ffeerd
FA 67% 8l
4) 3 AT § Hoil h 3= Ul S ferstett, 19, der i # uRafda fohar s adar gl
et Tl & & # Sl
5) Tg diig 37k STUTT I & ol Ueh SruRerd dved ATet § ifeh seiree i & wilg el Tl
forq 5Tt smargahar gidt g1
6) I8 IS I 3R [Gdfed wusT e & foig shear A1t Ue a8
:ﬁéﬁaﬁgwmﬂawﬁaﬁm%mﬁm%mwé-aﬁwm,m,w
|

7) farsTeft It et g0 ®U O 39 SIaRA 349 0 1UTRd 81 AR IR YHd TR Wie
Il WeFl & g 9 gl €1

1) e, deiferad, uRuaa A9 ofiR farsTeft Seif & URuRes |l & |

2) STt & I STt [defd Agayul & dt fAF ot ¥ dhiker ik dgiferas d@my=:
(a) T8 Yeh &R TATYA g | STt fAgld IdTE oh folg Toh I<a R & 1-T A1 & U ST ST &,
3R U ht TR e o forg Afet o fhaR afelt ot fAmfor foran Sirar 81 Stafes St & o= i
I1Tq e, Ueiferad ok A9 R Tefiereoity Tares &1
(b) gt U=R AT H IueTsy g STdfch shiger 3R deiferad o1 HifAd ¥er g
(c) ¥Rd & Ianfed et forsreft o1 25% grag! fastett @I 8|
(d) IRd Al el STeT fAEd &7 &l SIFATT 150,000 HTETE 8, FI9H & 31 deh chael Yeh BT &l
freRferd foha mam &1 221 <t STt gl afRatsHTaT &t ot Tifid &mdT 23,488 AETE &1
Heaquf Siet fagd IdTaeh Iy iy UG, hfcen, hed, fem 3R goTre g1
3R 5:1) Fetl oh TR-URURE FId I HAAS FHoll oh 4 [eh0I 1T FId &l STANT AT §
%2)m%iﬁmﬁiwﬁ,wwﬁ,aﬁﬁﬂm?aﬁaﬁﬁ?—mmaﬁmw
|
3) Soil I Fed! @Ud A §H e, det 3R A I SHand gy = gt ag @ MR s fean g1
fAfefad wRen widsa 7 it smyfdenal i grem e TR 7 srfAfgadr dar = 3@ &:
- yfasg & 3kt darfaa et
4) 39 rfegaeen di gfeg R 7HR ¥R usar 8|
5) STaTRA 38 o Sod IUANT I TafaRuT Geeft 7ofik T off it &
3YfIU IR-URUReh Fld T IUTNT T chl STTaTehdT &
3R: Ardi 3
1) gg SfiaRA g+ 3R WA @RS, higet, Uifde 49 i & a7 @ 307 gid1 |
2) Tg il 1 Yeh HYuf Fare g




3) g UGNUT & hIRUT ST g
4) ¥ wie ot fohelt off T R Tuiftq foRar ST gehdar g
HECIC RN G
1) STl o 99 & gI38a h 349 gidl g
2) Ig il ol Ad1hROfIg FId g
3) Tg fordft off UgwUT &1 ShRUT & B
4) T 91e gt & Fid & U g 91yl
7. x| fAAfafEa sRui & wem] S9i wRd St Agaquf gfaer R <@t g -
1) IR oh fEIoft 17T H AIRAH Y GHTY] it @i UTg A1d & |
2) ZHHT ITANT Sroll oh dehicleh HId oh =T H fchaT ST YehdT § 1 1ch WRd oh U el 3R
Ueiferad o TfAd Gare= §1
3) 3 UeTYT ¥ URHTY] Foli ST 7 P oh [T URATY] Sl che TS AT ST GehdT &1
4) T 3qh1 IGANT Mifquf Ig et o forg fohar S derar 81
8. IAR:1 1) &I, SR, YIS, YATUR 7TH], TINg dfgd @ 3R SIHaRT & har & QY-91 J-g
IS & ¥ H IaF g qTedl ol vl IR-URURS oIl o U H ST ST g |
2) $oll & IR-IRURS Hidl ol A
(a) Heil & TR-URGRE Fid TR AT H g1 Sholf [AAVAT S HATIR, HIRd dl R-URURh ol
T hT SITHT T 95,000 AT 8l
(b) T fierzofta daTeq &1 S & R-URURS Fial st FAdH Tl 3R €4 & 1 A Ihd
fohaT ST ghar 81
(c) Htt & IR-URURR Hid UGN Hh 3R UATaR0T & g &l
(d) R-uRaRes FidT t ARk TTROT dch-Teh! TETAdT bl STTaRThdT el & 31 FATYT ahl
Y ANTd h 91 §9TY IGT ST JehdT 1
9. il AATYT T TREITT
YR IAH H g7 & TGI8 A Foll HRIeT 20 7 & Teh g
gH 3 Hifad it Garel o fadenyul Iuai & forg Gaeh gfeentor sra= T ghm
WIRd & fSER ARTRS & %0 H, g6 IS1 Shufa] Sl SAR0T chich o1l TRET0T H Agayut
ffent e Topd §
1) afhiTd aTg-1 o ST ATdsi-eh Rag- HoTerdl st IuFT|
2) IUTRT H 7 g1 IR farstett ot f@=|
3) U <ht SETEr 9 T2 3R 3T ®U I IUANT e |
4) faSTell Y S9d T gTet IUhRUTI AT IUFNT TheAT|
5) AR 3 AT3fehel A g o felg, ST foh SHTeh, Tte sife & Iuah fhar ST 81
6) Joif ch TR URUR Aldl el IUFNT AT
7) @ # diget 3R Ueiferad o S1ueqy ol Aehehe|
8) forsTeft & TTY, IUTNT 3R FTUINT oht TRich IUTNT dchicl YT ¥ A<kl STHT AR |
"SoTt Y ST Froll ehl IATET & 8HIR STia-T ahT 31TeRf a1y g1 I1eq | g9 ST Folf §97d &, 399
AT ST Gohdl & fob g8 fha Sl ot IaTe fohal

10.3<%:1) 31fefep faarm o forg St Uah gt sirasaehdr |
2) TS SrfeeRyT o Hotl &7 (S PN, IeiT, uRkag, e ik ave i)l Feif 3R
3= IUYTNT oh fTq 3Tt oh 371YC <hl ATIThdT Bl 51
3) TSI o d1e T 3Mfefen faene ht TIST & SHtt i dgd! ATAT I TaThdl 8l
4) QR 9IRd H I T IUHHT it F ¢ &7 &
5) 39 Y8 A §H il TRETUT hl dLTehdl 8
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6) SHolT TRETUT i TGTAT ST TR Ad=uiia Ho1t FldT T TgdT STINT fEahTs: Holl oh Sedi daved
gl
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MANUFACTURING INDUSTRIES
VERY SHORT QUESTIONS

Q1. Textiles, sugar, vegetable oil and plantation industries deriving raw materials
from agriculture are called-
Q2. Name the important raw materials used in the manufacturing of cement?
Q3. What are Agglomeration economies?
Q4. Oil India Limited belongs to which type of industry?
Q5. Which techniques of cotton textile production came into use after the 18™ century?
Q6. Which industry, due to its seasonal nature, is ideally suited to the cooperative sector?
Q7. Which city has become the centre of the automobile industry?
Q8. Which has been the major source of foreign exchange for I.T. industry?
Q9.Bhadravati Iron and Steel plant is located in?
(a) Punjab (b) Madhya Pradesh (c) Tamil Nadu (d) Karnataka
Q10. Which one of the following industries manufactures telephones, computer,
etc.
(a)Steel  (b) Aluminium  (c) Electronic  (d)Information Technology

SHORT QUESTIONS
Q1. Why was the cotton textile industry mostly located in Maharashtra and Gujarat.?

Q2. What do you understand by agglomeration economy?
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Q3. What are the reasons for underperformance of Iron and steel Industry in India?
Q4. What are the locational advantages for jute production in the Hoogly basin?

Q5. What is the contribution of manufacturing industries to the economy?

LONG QUESTIONS
Q6. How are integrated steel plants different from mini steel plants? What problems
does the industry face? What recent developments have led to a rise in the
production capacity?
Q7. What the various ways of preventing Environmental Degradation by Industry?
Q8. What are the causes of water pollution? What steps can be taken to prevent it?
VERY SHORT ANSWERS
Q1. Agro based Industries
Q2. Limestone, silica, alumina and gypsum
Q3. Many industries tend to come together to make use of the advantages offered by the
urban centres is known as agglomeration economies.
Q4. Joint sector industries.
Q5. Power loom technique
Q6. Sugar industry
Q7. Gurgaon
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Q8. Business Process Outsourcing (BPO) sector.

Q9. Karnataka

Q10. Electronic

SHORT ANSWERS

Q1.This industry was earlier concentrated in the cotton belt of Maharashtra and Gujarat.
Availability of raw materials, port facilities, transport, labour, moist climate, etc. were in
favour of these locations

Q2.Sometimes, industries are located in or near cities. Cities provide markets and also
provide services like banking, insurance, transport, labour, consultants, etc. Many
industries tend to come together to make use of the advantages of an urban centre. Such
centre is then called as agglomeration economy.

Q3. (1)High cost and limited availability of coking coal

(2)Low productivity of labour

(3)Erratic energy supply

(4)Poor infrastructure

Q4. Proximity of the jute producing areas, inexpensive water transport, good rail and road
network, abundant water for processing raw jute and cheap labour from West Bengal,
Bihar, Orissa and Uttar Pradesh.

Q5. (1)Manufacturing industries help in modernizing agriculture; which forms the
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backbone of our economy. Apart from this, manufacturing industries also reduce the
heavy dependence of people on agricultural income. This becomes possible because
of creation of new jobs in secondary and tertiary sectors.

(2)Industrial development helps in eradication of unemployment and poverty.

(3)Export of manufactured goods expands trade and commerce and brings in much
needed foreign exchange.

(4)A country with high level of manufacturing activities becomes prosperous.

LONG ANSWERS

Q6. An integrated steel plant does all the activities involved in the value chain of
steel manufacturing. Such plant begins from making steel from iron ore and end up

in making steel products which are needed by the industry. Mini steel plants, on the
other hand, buy finished steel from larger plants and produce various goods from
that; like utensils, tools, etc.

Q7. (1)Water should be reused and recycled in the industry. This will help in minimizing
the use of freshwater.

(2) Rainwater harvesting should be promoted.

(3) Hot water and effluents should be treated before being released in rivers and

ponds.
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Q8. (1)Causes of Water Pollution: Organic and inorganic industrial wastes and effluents
cause water pollution. Paper, pulp, chemical, textile, dyeing, petroleum refineries,
tanneries, etc. are the main culprits of water pollution.

Prevention:

(2)Water should be reused and recycled in the industry. This will help in minimizing the
use of freshwater.

(3)Rainwater harvesting should be promoted.

(4) Hot water and effluents should be treated before being released in rivers and ponds.
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MANUFACTURING INDUSTRIES

VERY SHORT QUESTIONS
Q.1 sueT, P, gaafa det iR I IR <t FW § YT ehed AT ohl <hgl STTdT &
Q2. "He o a7 ug<h Agaquf shed ATel ot A T 872
Q3. PN srefegeRymd w1 §?
Q4. 3itae sfear faffds fha ueR & et & deifda &2
Q5. 18 off et & a1E Yt IT IATE il i Tt deheich IUFT & T8 ?
Q6. I T IeRT, STt HITHT Tepfdl o HROT, 3MELT T & TghR! & o SR 82
Q7. oI T e HATCHIATSS IeNT I ches S T &7
Q8. Sit 3118.¢t o forg faeft ger ot vRgRa &ia @1 81 JeT?
Q9. HR RRA U€ Wi wiie fhad ¥ 87
(Q) USTa (b) #&F U2 (c) afieTg (d) e
Q10. FffEa & & i a1 I i, dhegex oS o fAafor et 81
(Q) 3% (b) SregHiFEm () SeiagiAeh (d) Fam ey

SHORT QUESTIONS
Q1. HUTH HUST I TATETR HERTE 3R ToRTd H X i om1?
Q2. HfY fegaRyT T MY T A 872
Q3. WRd # &g 3R ¥UT IeMNT & HHASIR gl o T HIROT 572
Q4. giTelt A8 H S[g IUTeH o forg T wrad e €2
Q5. fafaator IeiT 1 srefagaeen & «r ahmeE §?
LONG QUESTIONS
Q6. ENIES Ve wiicd At Wit wiicy ¥ hdl 3T gid 87 ST ahl fohed THEITST ahl FTHAT
YT TSl &2 8leT ch ge-TchHl O IUTE &HdT H g 88 67
Q7. T gIRT YgieRuT ehl fARTIE et Aehnt o fafra aies o €2
Q8. STel UGNUT & hIRUT &RIT &7 STeT UGHUT AchA o ol RIT heH ISTY ST Hehd 87
VERY SHORT ANSWERS
A1. Ry smenRa e
A2. AT g, &ferent, Tegfa=T oik v
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A3. et hal gRT &G S aret @l a1 ITART e o folg ohd IeT Toh 91 3T 8, [ Y
SrefereRTeli & ®U H ST SIaT1 gl

A4. TYh & o Jel|

A5, UTaR H dehrich

A6. =it Je

A7. STl

A8. faema TaY smkedifdT (BPO) &=

A9 TAifeen

A10. eI

SHORT ANSWER

Q1.9g &N Ugc! HRTY 3R TORId h hu™ & H chisd UTI Fed AIeT chl ITASHT, SGHTTE <hl i,
UReg, 9, T STerary, 3¢ 3 WHI h uer # o

Q2. FHHt-aeit, I TE | T ITch ATH-UTH [T gid §1 T8 ISR U ohid g IR Sfch, &,
gRag, 211, ITehR 31T JaTd off U ohed &1 chs IeT UGS She dh AT T ITINT &t & g
Qeh 9T 3T & | 39 a8 h he ol ddl i STfHERAT & &Y H hgl SIdl &

Q3. (1) ifhT ieT Fi I=a AFTa 3R WA Iuereear

(2) =19 hl HH IATGhdT

(3) ErrQtic &t &t 3mgfd
Q4. I S SUTGeh &l hl MehedT, I¥d STt URdgH, 31e I 3R TS -Acdeh, hed SIC &

e oh folg TR AT H g 3R i & e, g, ISTT $iR IoR Uesr € 9% 97|

Q5. (1) fafAwfor IemT HfY ot anyfAes TAM A Aeg od §; St AR SrdegeyT &Y A g1 39k
rerar, fafAwior e Y oy wR &R i WIRt FiRaT &bl il wF ad &1 At iR gl
g5t 7 3 ARRal & For-l oh hIRUT Ig T4 8l T 8l

(2) SftenfiTen faenT SRISFTRY SR TRId 3= e # Heg hdl ol
(3) fAfifa axgatt o1 Fafa @R Sk aTforsy 1 faxar dear & ofik fagsft gar & sga sifde
JaThdT gidt g

LONG ANSWERS
Q6. Teh Yehlohd Wi wiie &iel fAAfor St gea sjwan & anfaer g+t nfafafeat st eear g1 oo
G g 3R O LI - I [F 8T 5 3R Wil SATEl Sl & H GHT gidT & foiehl
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I i SRR gid! &1 gEdt SR At TeT wife, a8 Wil ¥ R Wi @Wiied § ok 3a
fafera aegatt o1 IaTed d §; S ad, SR Srfe |

Q7. (1) Ut et IJERT H G: IUINT 3R GA-d HIehoT fohaT STHT Mgy 389 HiS Ut o IuanT
H B HA | Heg A

(2) auf STt Tog= ot Serar fear ST 9yl
(3) AT 3R aTetTa # BIS ST ¥ Ugel TH U1 3fR UfRIet 1 IuAR fohar ST 91y

Q8. (1)STl UGHUT & hRUT: SAfdeh 3R Srepreleh 3fienfiter Jufe SR UfAT STl UGWUT T hRUT
I &1 AT, I, IR, huel, WIS, Uiferan RuprgaRai, TRy, onfe ST ugwor & g
R g

AhgT:

(2) gT=t Sl I F G ITANT IR GA-d I Ieh<or fehar ST a1fgq | 399 #1S gt o IuThT ht v
A | A At

(3) AT STeT =g aht dgTaT T STHT TRyl

(4) Afeat SR qremal # B S 9 Ugel TH Uit 3R S1UfRIet a1 uaR fohar S @iyl
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LIFELINES OF NATIONAL ECONOMY
SHORT QUESTIONS

Q.71 what is the significance of border roads?

Q.2. Give a brief description of National Highways in India.

Q.3. What are the problems being faced by the Indian railways
Q.4. Write a short note on the uses of pipeline transport in India.

Q5. Explain the importance of ‘Radio’ andTelevision’ as an effective means of mass
communication in India?

LONG QUESTIONS

Q.1 Why are the means of transportation and communication called the lifelines of a nation and its
economy?
Q.2 “Roadways have an edge over railways”. How?

Q.3 Describe Golden Quadrilateral Super Highways with special reference to its objects and the
North South and East-West corridors.

Q.4 Describe the problems that are being faced in road transportation in India.
Q.5 “Railways are the principal mode of transportation in India” Explain.
Q6. Why is Air transport considered as the best means of transport in the North Eastern part of

India?

Q7. How tourism as a trade has flourished in India? Explain?

SHORT ANSWERS

Ans1. Significance of Border roads: Border Roads are very significant for the security of the country.
These roads are constructed and maintained by the Border Roads Organization which is a
Government of India undertaking.

(a) Its helps in the security of the country because in case of necessity, army can be deployed in the
sensitive border areas easily and quickly e.g., northern and north-eastern border areas of strategic
importance.

(b) It has provided access in the areas of difficult terrain.

(c) It helps in the economic development of the area.Ans3. Significance of Border roads: Border
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Roads are very significant for the security of the country.

Ans2. (i) National Highways link extreme parts of the country including one state with another.
(i) These are primary road systems of national importance. Therefore, these are constructed and
maintained by the Central Public Works Department (CPWD) of the central government.

(iii) A number of major National Highways run in North-South and East West directions

Ans3. The following problems are being faced by the railways:

() Travelling without tickets -Many people travel without ticket that leads to financial loss.

(i) Theft and damaging School property : People steal different fittings of the wagons, passenger
coaches etc. some people cause damage to railway property.

(iii)Unnecessary Stopping of trains: Just to catch the train or for some other minor reason, people
pull the chain unnecessarily. Such actions delay the train in reaching its destination in time

Ans4. (i)Earlier pipelines were used to transport water to cities and industries. Now, pipelines are
being used for transporting crude oil, petroleum products and natural gas from oil and natural gas
fields to oil refineries, fertilizer factories and big thermal power plants.

(ii) Crude oil and other petroleum products can be transported to far away inland locations like
Baruani and Panipat.

(iii) Pipelines have proved beneficial for gas based fertilser plants. Solids can also be transported
through a pipeline when converted into slurry

Ans5. The importance of ‘Radio’ and ‘Television’ as an effective means of communication in India
is due tothe factors as mentioned below:

(i) Radio and television entertainment to the people.
(i) These create awareness among people about various national programmes and policies as
debates areconducted on television and radio.

(iii) Programmes are broadcast in different languages for all types of people.

LONG ANSWERS

Ans1. The means of transportation and communication are called the lifelines of a nation and its
economy due to the reasons given below:

a) The means of transportation and communication help in the production and movement of goods

and services.
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b) Transport helps in the development of communication. Various means of communication help
us

in interacting with other in all the parts of the world. It has brought the world closer.

c) Transport like railways helps us in conducting various activities like business, sightseeing,
pilgrimage and transportation of goods over longer distances.

d) Pipelines are used for transporting crude oil and natural gas to refineries and factories.

e) Water provides the cheapest means of transport and is useful for international trade.

f) Air transport provides the fastest, most comfortable mode of transport.

Thus, it is clear that there are many advantages of transportation and communication. These
means

help in the development of the country. So they are rightly called the lifelines of a nation and its
economy.
Ans2. Roadways have an edge over railways due to following reasons:-

(a) The construction cost of roadway is much lower than that of the railways. Its maintenance is
also

cheap and easy.
(b) Roads can be built in mountainous areas. The roads can traverse comparatively more dissected

and undulating topography. Roads can negotiable higher gradients of slopes and as such can
traverse mountains such as the Himalayas.

(c) Road transport is economical in transportation of few persons and relatively smaller amount of
goods over short distances.

Ans3. (i) Golden Quadrilateral Super Highways is a major road development project liking Delhi-
KolkataChennai- Mumbai and Delhi by six lane Super Highways.

(i) The object of these Super Highways is to meet the requirements of fast movement of traffic in
thecountry and to reduce the time and distance between the mega cities of India.

(iii) North-South corridor connects Srinagar to Kanniyakumari.

(iv) East-West Corridor connects Silchar to Porbandar.

(v) These highway projects are being implemented by the National Highway Authority of India
(NHAI).

Ans4. The problems that are being faced in road transportation in Indian are as given below:
(i) Inadequate network in view of the volume of traffic and passengers.
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(ii) Half of the roads are un-metalled that cannot be used using rainy season.

(iii) National Highways are inadequate to meet the rush of traffic.

(iv) Roads in the cities are highly congested.

(v) Most of the bridges and culverts are old and narrow.

(vi) Roadside amenities like emergency health services, police protection on the highways are not
adequate.

The above problems need immediate attention of the government to make road transport more
popular and useful in the country.

Ans5. The railways are the main artery of inland transport in India. It is the lifeline of the country as
mentioned below:

(i) Railways are the principal mode of transportation for freight and passengers.

(i) The Indian Railways have a network of 7,031 stations, 7,817 locomotives, 5,321 passenger
service

vehicles, 4,904 other coach vehicles and 228,170 wagons as on 31st March, 2004.
(iii) The total length of railways is 63,221 km.

(iv) Railways are useful in conducting business, sightseeing, and pilgrimage along with
transportation

of goods over longer distances.
(v) It is the largest public undertaking in the country.
Thus, it is clear that the railways are playing an important role in our economy than all other means

of transport put together.

Ans6. The Air transport is considered as the best means of transport in North Eastern part of the
country as :
a. The region is covered with inaccessible forest and can reached mainly by air transport.

b. These areas are frequently stuck by floods and then the air transport is mainly used to provide
the

relief in these regions.

c. These regions have number of big rivers which are not navigable mainly during rainy seasons
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and

here also air transport proved to be the best.

d. The international frontiers are easily accessible through air transport.

e. Due to the dissected terrain in these region it is very difficult to develop the other modes of

transport and air transport proved to the best means of transport for these areas.

Ans7. The Tourism as a trade has flourished in India as mentioned below:

(i) There has been increase of 23.5 percent during the year 2004 as against the year 2003 and
contributedRs. 21,828 crore of foreign exchange.

(i) Over 2.6 Million foreign tourists visit India every year.

(i) Over 15 million people are directly employed in the tourism industry in the country.

(iv) It promotes national integration because people from India also go from one place to another
place.

(v) It helps in the development of international understanding. Foreign tourists are attracted by
Indian culture and traditions.

(vi) It supports local handicrafts and cultural pursuits because tourists purchase many products
during their visits.

(vii) Foreign tourist visit India for visiting places of heritage or to have adventures in hilly region or
to

have business with India.
(viii) Rajasthan, Goa, Jammu and Kashmir and temple town of south India have attracted many

tourists from all over the world.
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LIFELINES OF NATIONAL ECONOMY

SHORT QUESTIONS
Q.13 1q GS&! &1 T 75 &7
Q 2. YRd # TER ASTATT vt Gf e foaror €1
Q.39RdT Ye1a Y fopT TS T ITHAT HAT TS T &
Q .4¥Rd & UrgUaTs UfagH iR 39 Acadh IR Udh i e ford|
Q 59Rd # S 99R & UTET 91eF & ®9 8 At ofR Tfifes & Aga ot 99amsu|
LONG QUESTIONS
Q.1 gRag 3R H9R & ATeHT ol AY IR g9hT srefegazen i sha=Rar wi el Siar §?
Q.2 J<saAST o I | Fad g1 § hg?
Q.3 IR &feyr R ge-uf g iRt & oty deef & &
It TGS GUR ISHN ehT JUH e |
Q.49Rd ¥ Tsa ufkag # 34 areft gugrei &1 gufq &
Q.5 “¥e1a YR # ufRagH &1 W@ 91U §” WE &
Q6. ¥Rd & IR gdT 91T # a1y ufvag ot ufkag 1 Gad 3r<al Qra- - AT SIdl
8?
Q7.9TRd # ufed Ueh ATIR & ®U # &g gUT § ? & R § Iad14?
SHORT ANSWERS

Ans1| (i) A1 GSoh! o1 A 31 Y FRET o forg T Teh agd Agayqul §1 39 GSan! a1 fAdfor sfieasarg Hiar
TS G- gRT fopaT ST § STt YR RBR i IUhH g

(a) 3R Hee T 327 hY TREM H A Al & Hifch TaTehdT o ATet H, ATt Haeaferdar &t & smar § 3k
Sedt @ AT foRaT ST TehdT 8, SI9, e Hec o STt ofiR STd-yd T &)

(b) 397 Ff&T 33T & &1 & Uga UaH ST &

(c) a8 &= & anfdes forT & Aag AT 8|

Ans2| (i) Tgta et &1 o TRA 5w ol Gon o0 Gfgd gER 59 @ SiedT 8l
(ii) @ e HEa i urafies Tee yonferat &1 gaferg, 3aent famfor ok

TERETT the; TXHR o herd aten =01 fovmt (CPWD) grRr foram a8l

(iii) STR-aféror ofik g ufyw fexmatt & od v wgtg Tommf gor &

Ans3 | feafefad gt &1 3ed gRT =T foRaT ST &7 8

132



fomT feehe amT AT -H+t it fomT feene amim avd & ored anfder Jere™ gidT 8l

(ii) Tpet 1 Fufx AT FRY SR Fehd™ UgarT. ANT S, AT Feeal i aht SremT-SrenT fiafém

PRI &1 TS AN e7d hl HUfxy bl JhE™ Ugard &

(iii) 27 o1 SFTTaTR SgWrE:; f¥th ¢ Uehen o folg a1 foneft 31 ATett hRUT €, ANT ST dh UG 99 Eidd &

Ans4| (i) uget UTSUCITSHT ST IUANT et 3R I & g ugar- & forg fopar Srar o1 ore, dhed de,dgiferad Iaral
3R deT 3R UTepfcien 19 &=l & der Rz, Idken sREE! 3R 92 ardiafestel! @41 & Urepfaen 49 & ufag & forg
UTSUATSHI ehT ST fopaT ST &7 81

(i) o= A1 3R 3= Uiford ITal ot g o Sfadefta T Y aRg & AT ST AehdT gaear1 3R gHiud|

(iii) TTgTTE A Srenfa Iaken TIAT o folg BAGHE FIfd 8 & I9ier # ufafdd g1 UR 319 ohl Ueh UTSY 1S o HIe0H
g oft & ST ST TeRdT 81

Ans5| YRd # FAR & UHTdt GTeH & FU ARfeat iR a1

A8 1 Ifeetf&d wRepl & FHROT &:

(i) <t @t et SR SeftfesT HARSH |

(ii) & fafera It erferdt ofk ifcrat & IR & @l § SIFEehaT 0T axd &
S for agd giet § St fop Sefifae ofiR (et W smaifSia foma Srar &1

(iii) g UepR & T & forg faf e wromstt & srfen TG fohg Srd €1
HAARSH, ek & dhe el deh faf ¥ UehR & hriehd TETRd e |
LONG ANSWERS

Ans11 ufRasT 3k TarR & Tredt ot I fou 7T SRon & srRor fardt 2er 3R ITeht
STYHELT hT ST gl ST &

a) AT 3R Fa1eft & IUTeA R Aael # ufkag 3R §9R 7 & qTe|
b) ¥R & fasm # ufkag #Aeg oxdl g1 darR & faf g Aresm g gfar &
goft foral # sr=a @Y & 91 FTa<did e H Heg ohd 81 397 g1 !
e o fean 81

) ¥eTa Y g ulRag gH aTuR, ai-Ta Tt dht am, e 3R o6t
T W AT & ufRag St fafera nfafafdat & darem & Aeg a=ar 81

d) RO 3R HREHT H Ted At 3R UThfeen 49 & ulkage & forg
UTSUTST T SUANT feRaT SiraT g1

3) U ufvag o1 998 TAT 918 USH ahedT § 3R SRIEH AR & forg
Iggfl g

) IRy ufRae ufRag ol Gl s, T8 RIS HS UeT el 8|
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39 UHR, Ig WE ¢ oh ufkag SR §9R & s Brg §1 3 E U &

o # e axd &1 3aleIg 3% Uan AE SR IHehT srefegawn &Y siraear

gl SaT &

Ans2| fa=fofEa wRrol @ JAsdst ot Ied R Ted &: -

(@) ¥=1a &Y AT H TS AT Y fAHAT0T AFTT Igd oA &1 39T T@R@d ot 5T R oEH 81
(b) Tgre! &t & Tgh SIS ST Tehdll & | TSch 3TUeTThd 3 el SR IEH et ot
UR &R vl &1 TSoh ool oh Ied UFSUE ol UR & ehdl! § SR oY foh feHTer™ 519 Ugrst ot UR
R Gehd g

(c) T uRag g afral & uRag & frwrad! & 3R H gt R S(delhd A AT H ATl Uga- | aT¥ardeh &
Ans31 (i) T fth ags g g1$a Te Wi 3R T fae ufaiemr 8, St Reeeft-ahideanmar-Has
3R Hag 3R B o TR 8134 Y UHeE Fdl B

(ii) 37 g 8133 hT Ig T &1 H TTATA <h ot 7T hY STaTLIRATST hl G AT 3R 9RA
T 8 o T GHA 3R g ! HH AT 8

(iiil) Ia=-afeyor ferRT SR Y Spfzarpart @ Stear g1

(iv) g&-ufap iR RyerR &t ke & Stear 81

(v) & ot gfRateHN wRed g et uifensor (NHAL) g1 srff=aa &t <1 36t &
Ans4 aRd & e uftaga & o arelt guwre ot = fear mar &

(i) aTamraTa SR It hl ATAT & Ae-AoR U Acadh|

(i) smeft Tredh Sififua § et IUAT sRETd & HiaH | g1 fohaT ST Fehar

2l

(iiii) araTaTa hY e ! gU A & forg IETa Tt saf gl

(iv) 83t & Teah srafdes sfigvre arf gl

(v) Srferenier get SR gferT QR SR dehe &1

(vi) SmUTIeRTeA TaRen TaTefl, ASHNT WR Yferd TReT S8 TS & fohR

qgftd =gl g1

SURIh GHTSA] bl 33T & TS Ufag- o STk eAlepf P 3R IUTTT &9 &

oY TRAR T dcehTel &OH 27 <hY SMTThdT 5

Ans5| ¥Td vRa # idcsita ulkag Y @ g9t 81 ag 41 i Ssita= a1 g S fos =
AT T &

(i) xora 71t ofR @t o fog ufvass &1 v are g1
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(i) ¥R ¥e1d & U ),03% WM, loc,omzomeiatifed, «,4 & R art

a1 atel, ¥, R o¥ 3T T qTEAT 3R 2,3 Wo AT T Aedch & St 3%

AT R00Y T AT

(iii) 31 &Y gt wtaTE 63,221 Rl B

(iv) ¥eTa et gt TR AT o ulRag o TY-91Y AR, a1 e ek
AT & Hare s | IuAhdi gl

(V) Tg =1 T Gad FST Fidsif=eh IUhH 51

39 UHR, Ig WE & o 3o9ad gt Srdfeaaen # uRagH & o= 9+t areqt

&Y g1 | AgaqUT qfHent T 6T 8

Ans6 | 321 & IR g fged # arg ufRag et ufRag- &1 qad srest dre- J141 S71dT 8

(i) T2 & g7 SivTer & srresiied § ok J&T ¥U 9 gaTs ulRagH gRT uga ST HehdT 8

(ii) & & SR aTE ¥ %y Sd & 3R R 39 &1 7 J8d UaH &heA o folg §&T U 8 ga15
gfRag a1 IugHT R Srar g1

(1) 37 &= F &g a1t AT & St q&T ®U & aRYTd & JigA § g 781 § ok agl +ft ag
gfagT ged 3resT difed gar g

(IV) sicRfga Hium gars ufvae & Aregy @ omar @ gow &1

(v) 37 &=t # foaeafed 3etent 811 o ShRUT URags o 31 |11 ohl fenfid SeAT agd i &
3R 37 &1 & forg gaTs ulkage ufvag o1 aad sr<aT qTee Aiferd gai|

Ans7| 19 9d1Y R YRd # G Yoh ATUR & ®U H fIenf3d gor &
(i) @ 2004 &Y ge=1 & af 2003 & R 23.5 ufaerd i gfg g3 & SR 31
21,828 g a1 faaft T

(ii) ufcad 2.¢ fAferaa & aifde kel v wRa omd &1

(iii) E=r & 15 faferm @ sifder bt e wfes Je & &wrid g1

(iv) Tg TETT YehIchRuT chl S¢TaT &dT & TRlfch R o T T Teh 19 & §FR
W R 1 &

(v) T8 Siargta gne & o A #eg dear g1 fadeft wies wRd Hwepfa
SR goRTSH ¥ STeRfYd gid &

(vi) g Trrta g&afieq iR Hikepfoen nfafafeat 1 Twe= axdr g wifeh
qceh Ut gATeH o R 3 IUTal hl Wited gl
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(vii) foeft wfeen wRA o1 & forg foRraa & =l )RS € a1 ugTet & |
Aria T & T RS b T HATIR Hed gl

(vi )Wrﬁa T, SR 3R R SR afaror e & #fe g A gfan
mmmmmmmmm
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Development

VERY SHORT OUESTIONS

Multiple Choice Questions (MCQ'S)

Q.1 The calculation of per capita income of all countries is made in

a) Rupees b) Dollars c) Yen d) Pounds

2. Which of the following countries has the highest rank in the Human Development Index?
(a) Bangladesh (b) SriLanka (c) Pakistan (d) Myanmar

3. Which organization publishes International monetary fund

a) World bank b) UNDP  ¢) F.C.I  d) None of these

4. Which one of the following is not a measure of development in human development
report of the UNDP?

a) Per Capital Income in US Dollar $  b) Educational Levels of the people c) Body Mass
Index d) Life Expectancy of birth

5. Which of the following statements define the literacy rate?

a) Total Literate population divided by total populations b) Total Literate divided by Total
illiterate populations c¢) Proportion of literate population in the 18 and above age group is
measure the proportion of literate population in the seven year and above age group

6. Which state is among the following has the literacy rate
a) Punjab b) Bihar c) Kerala d) Tamilnadu

7. Which area of the world has the largest crude oil reserve?
a) USA b) Russia c) China d) The Middle East

8. According to world development report 2012 the per capital income of the low income
countries in 2010 should be per annum

a) $ 1500 or less b) @ 1050 or less c) $ 950 or less d) $ 1005 or less

9. Which is the most important attribute for comparing the development of countries?
a) Resources b) Population c) Average Income d) None of these

10. Life expectancy at birth denotes

a) Average expected length of life b) Average expected length of healthy life c¢) expected
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age of individual d) the difference of life span between a newly born baby and a girl child
11. HDI stands for:

a) Heavy Developed Industrial b) Human Development Index  c¢) Highly Developed
Infrastructure d) Highest Development Index

12. Which of the following has highest HDI?
a) Sri Lanka b) Nepal c) Bangladesh d) Pakistan
13. Per capital income is calculated in dollars because:

a) All countries can be compared easily b) USA holds a dominating position c) Dollars the
only reliable currency in the world d) Dollar are easily convertible

14. According world development bank report, what is the per capital income of India?
a) $ 1005 b) $ 1340 c) $ 1540 d) None of these

15. Which of the following states of India has higher HDI?

a) Punjab b) Bihar c) Kerala d) Uttar Pardesh

16. Which of the following is a non renewable resource?

a) Water b) Solar Energy c) Coal d) None of these

17. Which of the following is a better income of development?

a) GDP b) Per Capita Income c) Sustainable Development d) All of these

18. Full form of SED is

a) Sustainable economic development b) Simple economic development

c) Sound economic development  d) none of these

19. Per capita income hides

a) Disparities b) average income c) total population d) none of these

20. Per capita income of kerala is higher than that of

a) Bihar b) Punjab c) Gujarat d) none of these

SA

21. What is development? What are two aspects of development?

22. What is the criterion used by the UNPD for classifying countries?

23. Explain the meaning of HDI. Mention three components of measuring HDI.

24. What do you understand by sustainability of development? What can be done to make
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development sustainable?
25."Average income is an important criterion for development “. Justify.

26. Explain any three examples of what factors other than income are important aspects of
our lives.

27. Mention any three characteristics of development.

28. What do you mean by per capital income of country? How can it be used to compare to
country?

29. Explain any three different bases for comparison of economic development of different
nation?

30. How are economic development and human development related to each other?
LA
31. “National development of a country depends on availability of public facilities”. How?

32. “Consequences of environmental degradation do not respect national or state
boundaries.” Justify the statement.

33. Mention the differences between developed country and developing country?
34. “Conflicting goals can be development goals”. Elaborate with examples.

35. Why do different person have different notion of development? Explain.
Answer

1. A

2.B
3.B
4. c
5

© © N o
a a o

10. a

11.b
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13.a

14.b
15.b
16.c
17.c
18.a
19.a
20.b
VSA

21. Development is such a situation that can fulfill the aspiration or Desire of people. It is
the progress or improvement in the lifestyle of the people. Two aspects of development
are:

1. Different person can have different development goals.
2. What may be development for one may not be development for the others.

22. United Nation development programme has used the criterion of Human Development
Index to measure the development of countries. HDMI is calculated on the basis.

1. Per capital income -when the total national income of the country is divided by the
population.

2. Life expectancy- it measure the average age of a person in a country it help us to know
the health facilities of a country.

3. Literacy rate education is also one of the most important criteria for the development of
a country.

4. Gross enrolment ratio - (it measure the education gained at three levels at the Primary
Secondary and Higher Education level.

23 HDI stand for Human Development Index. It may be defined as the process of widening
People's Choice as well as raising that level of the well being.

Components of measuring HD-—
1. Life expectancy- it is the average expected length of life of a person at the time of birth.

2. Per capital income is income of a people is an economic unit is calculated by dividing
the total national income of a country by population.

3. Gross enrolment ratio for three levels It means enrollment ratio for primary schools
secondary schools and higher education beyond secondary level.
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24. Development goals and aspirations for these farmers are different.

1. Landless rural labours- Thay would like to have more days of work and better wages,
local School to provide quality education to their children there should not be any social
discrimination so that they too can become leader in the village.

2. Prosperous farmers-They should have a assurance of High family income through
highersupport price for their crops through hardworking and cheap labours.

3 Farmer who depend only in rains- This kind of farmer main goal is to have irrigational
facilities, Crop Insurance on less premium and water facilities of life for them as well as
their children.

25. To check the criteria for the development of countries, their income is considered to be
one of the most important attributes.

* Countries with higher income are more developed than others with less income.

* This is based on the understanding that more income means more of all the things that
human being need.

26. Money is your pocket cannot buy all the goods and services that you may need to live
well.

(1) Money cannot buy us pollution- free environment.

(2) Money cannot buy us a disease free life and might not be able to get protection from
infectious disease.

(3) Beside Money, people also like to have equal treatment in the society freedom dignity
and Honour in their lives, which money cannot buy them.

27. Characteristics of development are as follow from the present condition -
(1) Development is linked with the desire to improve the present condition.

(2) Development involves thinking about the questions and about the ways in which we can
work towards achieving our desired goals.

(3)There can be different development goals for different person.

(4) Development for one may not be development for other It may even be destructive for
others.

28. The per capital income of a country in the total national income divided by the total
population .It is used to compare the development of country by the World Bank .The
country with the highest per capita income implies that its people are earning more on an
average and this is considered the indicator of higher development However this Hides the
fact that there may be wider disparities in the earning of people which implies in edicuate
social development.
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29. for bases for comparison of economic development are-
1. Per capita income- This is the total national income GDP divided by total population.

2. Life expectancy -At birth this is the number of years a newborn baby is expected to leave
if subject to the mortality risk prevailing for population concerned.

3. Literacy rate -This is the total percentage of population of an area at a particular time
aged 7 year above who can read and write with understanding at least one language.

4. Net attendance ratio- The total number of children in rolled in for attending Primary
School as a percentage of total number of children of primary school age.

30. Economic development is only one attribute of Human Development although it is
major one as it influences The Other attributes also the other human development
attributes are---

1. Infant mortality rate -This is the number of children that die before the age of one year as
a proportion of thousand live children born in that particular year.

2. Literacy rate -This is the total percentage of the population of an area at a particular time
age seven year above who can read and write with understanding.

3. Net attendance ratio- This is the total number of children in the age group 14 15 years
attending school as a percentage of total number of children in the same age group.

LA

31. Public facilities are those provided by the government instead of the individuals or
private sources for this reason they may be either highly subsidized or totally free of
cost.They are important because many persons do not have enough income to be able to
avail facilities provided by the private sector resulting in difficulties faced like inadequate
Healthcare poor nutrition, lack of education ect. The utility of two public facilities available
in India are-

1. One public facilities is the public distribution system PDS which provides fair average
quality of food grains and other essential item to the weaker section of the population at
subsidised price.

2. The other is Health Care in government hospitals and dispensaries which is provided to
all at subsidized rate this includes outpatient as well as hospitalisation facilities.

32. Environmental degradation is now a global issue and discuss and debate all over the
world .The matter is that environmental degradation is not restricted to the national or
state boundary which is causing such degradation.lts consequences are felt in the
surrounding States or Nations or sometime globally take the example of air pollution
through massive thermal power plant and other sources in India causes pollution in
Pakistan, Sri Lanka etc. Our neighbours also experience increase in asthma and other lung
diseases acid rain, climate change, etc. Our some issues which are transcontinental in
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consequences deforestation in Brazil has caused disturbance in rainfall pattern throughout
South America land degradation and Dam burst.

33. Developed countries -A country having an effective rate of industrialization and
individual income.lts literacy rate is high.It is self contained and florished .The industrial
growth is high standard of living and a better environmental in terms of Health and safet

Developing countries- A country which has a slow rate of industrialisation and low per
capita income. It literacy rate is low .1t is dependent and emerging to be developed .They
rely on the developed country for their growth and safety Moderate standard of living in
terms of Health.

34. At times two person or group of person may seek things which are conflicting .A girl
expect as much freedom and opportunity as her brother and that he also shares in the
household work. Her brother may not like this.

Similarly, to get more electricity, Industrialist may want more dams but this may Sub merg
the land and describe the lives of people, who are displaced, such as tribals.

35. It is because the life situations of persons are different.People see things that are most
important for them or that which can fulfill their aspirations of desires. For example the
developmental goal of a boy from a rich urban family would be to get admission in a
reputed college whereas the development goal of a girl from a rich urban family would be
to get as much freedom as her brother.

143 |



CEOR

VSA

Fgfderedta Ut (MCQ'S)

Q.1 it 321 i Ul afh IRT i O <t ST 8-

a) IUT b) SieR ¢) 9 d) URS

2. A4 et gaie # F=fafad & § forg a1 & gata 3 81

(a) STeTST (b) SfteienT (c) TTfReaT (d) =R

3. I T TiTaA RS Hifgen MY TentfAq oear 82

a) g de b)guadtdic) F.C1 d)sH I HSEl |

4.9 g4.31.d. &t A9 fae Ruld & Amfafed d @ o a1 faer o1 arge @1 82

a) Z.uY. Sferk ¥ ufd goft 3 b) TR a1 Qfdies TR c) gt A ida  d) S & faig
Stiae gmem

5. fAmfafEa & @ slF 91 sy Trerdar & ot aRIfid sedr 8?2

Q) & TSI GIRT fAfSia gpet T1eR SHEe &t) get fReR Smardt gy fawnfSid et Trer @ft) 18
gy 3R IS 31fden Mg ol | WIER SIS Al SUTd S) T I 3R ITY ek g a7 F Fier
STTETET o STIUTd bl ATUAT &

6. Al & 9 forg =0 & TreRaT R &

a) USTIe b) fagR ¢) dheat d) afdemrg

7. fay & fohg &5 § shed 3t T G TST SR 87

a)USA b)&g c)dH d)Faggd

8. fasy faerra RUIE 2012 & AR 2010 & hH 377 dTet &0 <hl Ufd goit 3 ufd oo g+t anfge-
a) $ 1500 T71 399 A b) $ 1050 7 ITH A ¢) $ 950 TT 3ITH A d) $ 1005 TT ITH A

9. 320 & faepTey Y g1 e o foly e Hgaguf faiwdT ente ot &2

a) T b) SHEET ¢) Y 311 d) 379 T i3 el

10. ST & T STia- TATe1 FefUd SedT §-

a) St ht 3 STaferd iams b) TRy Sfia= 6 Sitaq safera oiams c) eafh &t smfera myg d) T
It 3] 3R Teh Fifetenl oh s St hIel T R

11. HDI &I A4 &:

a) gt STTS ST b) AT SAAUHC 38T C) BT5el SAITS SIhIREFR d) BISUTE STAUHC
3

144



12. A= & § forgd T sifdres wa.dY.emms. 82

a) #iient b) AT ¢) ST d) uTfehed™

13. ufd goit 31 &t 7o SferR & i STl & aifoh:

%) Tt =M T T ST § Sl ST ehel! &) TY<h Ao AR I I g1 ) ST g1 &
URATH Ay gal g ©) Slelk AT § gRad-14 g

14. fagy faem da &t RUIE & SIaR, 9IRa &t ufa Uit 3 foha=t g2

a) $ 1005 b) $ 1340 c) $ 1540 d) 375 & I3 el

15. YR & fAfafReaa & 9 foha =g & HDI s1fdes §?

a) Uo7 b) fI81R ¢) Fheet d) SR U

16. fAmfaRaa & @ & a1 e R Tdfiarofia darem g2

a) STe b) TR Fef ¢) siaer d) 3989 @ &S 8!

17. fAfafEa & @ s faar 6 sgax oma 82

a) Sttt b) ufa safs 3 ¢) dad faem d) 3 asft

18. SED &1 quf &4 &

a) Tad 31t faer b) TRat snfdfes faa

c) @ anfefen faenrd d) 395 9 hlS T8l

19. ufa aaf<h oma furdt 8-

a) fawHar b) 3 311 ¢) get SHARAT d) 395 I hiS Tl

20. et &t ufd =af<h 3 399 Srfden -

a) fogR b) U ¢) ToRId d) 399 9 als 8l

oY IRTHAD

21. e Far 82 far & <t ugd &2

22. =1 i aiffepd T oh felg UNDP gIRT IULIT <hl ST aTell ehilel T g2

23. T ST 3173 T 31 TE e | U ST 37T aht ATUA ch oI Teahl ol et i |

24. faenTg &Y fRAT & 319 7 IHgd &2 faenrg ol fRehrss a9 & forg @ fobar ST gerar &2
25. "3d 3 fAeh & oy ueh mgayuf arcs &1 & ok fAer|

26. 31T oh 3TATAT i & hIReh gHIR STt h A8 YUl Ugd 8, 3Uh I 3&T8<0l Id13q|

27. faeprg it foredt oft i faiwransit a1 It &2

28. 31 I USTHTG 31T & SATThRT AT AT §? 330 hl JolT e oh [T SHRT IUANT et fohat ST
HohdT §?

145 |



29. fafe= et & Snffer faehr ht JotT o folq ahls i STeTT-3TelT SR FaTy?

30. 377t faerr TR ATFE fAenTd Ueh gERk o Tsifdd 82

LA

31. "foRdlt 321 1 AE AR TTdTies giaersit i Iuteydr tr AR &=dr &'l ha?
32. "0gfa=uT &RUT & UROIH AL IT AT hl TS ahT T 6l dhed g 1"

33. faafaa &1 ofik faarasiter 321 & st Siar oI Ieei@ L2

34. "RER R ey faenra o <gd gt Hehd &' IaTeull o A1y faeqd|

35. ITATT-37AT Af<h H fAehT chY STeTT-37eT &ITRUTT &} gidl g2 JdTd |

Answers

VSA
1.A

.B
B

oA W N
(@]

© © N o
a a o

10.a
11.b
13.a

14.b
15.b
16.c
17.¢c
18.a
19.a

146 |



20.b

VSA

21- o Ueh Tt AT &, ST AT chl SHTehi&IT AT 3T ohl UXT e Adhdll & | TG AT <l STTa elt &
i a1 GUR 81 fAhr o &t g g1 1. STeliT-37eTT Afch oh UTH TeATT-37eTT faehrd @18 g dehd €1 2.
Qeh eAifeh oh felq felehtel o g1 SehelT &, GER1 o foiq ferehrer 781 g1 Wenell 81

(22.) Tg<h T fahreT eprdeha A 321 o A ol AT9R o folg Aa faery gadhich dht wdlel @t
IUTT fohar g1 T St 3115 h ITUTET SR TR <hl ST -

1. ufd aafh Mg -S1a1 21 ! et AT 37 ST&en & fAwrfaid gidt 81

2. Sfia= Uem- ag fohadt 21 # fohedt cafh i ofira SRy ot ATTdT § STt gH fohedt &o1 i Taren
gfaursit st ST & Aeg 1 gl

3. qreRar &2- frerr off foheht 321 & A & fory Tad Agayuf AFEsi & T Uah &l

4. Tehed ATHIeh-T STJUTd - I8 UTAH 3R ATeniiies AU TR WR 9 TRl OR UTd fRUe1T @t Argar g1
(23) T S 313 &1 371 ATG [dhrd gahich | [dentd Yen ULt AT &, ST T hl STahieTT AT 32T i
ORT &< Tahd! & | T SN <l Stia- el § TTd a1 R gl

AT & °eh-

1. Stae gATM- ST Uanem- Ig fhat g1 7 fohedt aafch i ofia Sy ol H1UdT & ST gH fohddt 31 i
R ATt el ST | HAag dedl gl

2. Ufd Af<h - 519 320 i el AL ST STEE § fa9rfora gt 81

3. f1eq7 ok 9 TR | Ak Bl SUTd - 3ThI A g U Thell & ATHHG Thell 3R
Hreafieh TR & W I=d fA&r1 & g amie srurd|

(24) - ferari & forg farra ced 3R STehigiTd 31eTT & |

1. S TTior ASIgR — 31U S & dgaR [ 3R Sgar FAoIg I18d &, T Whdl 3107 <4l dt
ToureTgUf Y& UG e o ol hls ATHIfSieh SgTa g 811 a1feq difcs @ ot 71ia & AT 57 |
2. GG fham-35 uReH! 3R T AoIgyl oh ATE0H 9 30T hiell o 3<d Jed o AT1EH ¥ 3T
gRaR & 31 ohT YT AT AT

(3) foham= STt haet TR & 1R TEd 8- 39 dRe & v &= @1e =g i gfaen, od thiffaa =
el ST 3R ITch TTY-TTY IIch T oh felQ STa- chl U hl gaer g

(25) 31T ! TaY AgayUf faAwdreii & ¥ Yeh AT ST g1 * 319 =0 I g1 H SHfereh 31 aTet 32
31fdeh faonlad &1 * g 39 IH3T IR SMUTRA & foh 31fdeh 311 1 Aderd 3 Gt At & 31fdes g fSireht

147 |



A ohl HTAThdT g

(26) (1) Foit FEGSAT 3R FT3HT oht THT g1 WG Hehell ¢ [ol=g SHATUh! 3Tt dg 9 SfiH o forg
TR & Jehel &1 2 IS §H UGHUT Hh ITATER0T -Tg) WG TehdT 5

I3 SR T Gb Siia gl WG TahdT 3R TehIHeh ST (3) T YREIT U H T&H -8l &t Tohal g1 ag
oh ITATST, AT 31U STa=T A GHTST hY TGAIdT <hl TRAT 3R THAE & 1 GHTH ATGIR hT U4 hid
&, 091 3 T8l @e Fehdl g

(27) (1) faemg adam A & gur F=7 i 3%01 3 (183 8|

(2) fara & usii & IR # 3R 37 ALl & IR H a1 WA § S8 g7 ora= 3fedd @iedi ot ured
e i G2 & B AR Gohd &l

(3) S-S &feh o foIY STeTT-31erT fah d8d g Tehd &

(4) Teh o feiq ferenrer g@R o foiq farenrar =18t 8t HendT & a8 g@t o oIy famerert <ft gt wend 81
(28) ufd ef<h 31T T 372~ Tep &2l Pl AT T ht Pl STGeT § fawrfsia # fohar Sar &
ST IUANT Ay Sk 7 321 o fAehre ht Joi1T e & frg foharr STrar 81 Seaaw ufad aafhs sma arer
221 ot 37ef ¢ foh ggch AT Sfgaa sifdres ot 8 €1 3R 38 I fAehTd anT Hehdeh HIFIT STTAT €, gTddifeh
g 39 2 i fSUTdT & foh T <hl hATS H aTUeh SIHTATG 8 Gehd! g, SiT fob grHTfSieh faenta ot
gerfar 8l

(29) srifefen e &t goreT o foTg SR &-

1. ufq cafxh 3ma- a8 got ST @ faufSd gor TEy oy SfiSid 81

2. SHia- TR -39 S+ & folg Tep Aaeird fAL] & S+ i T&T g STt foh Haifdd s @ d6faa
I & SIRaH o 31efi= gie i 371< 81

3. FIERAT & -gg 7 a9 & 3ifden 311g o fohelt Aty w7 & fohedt & chl S==iveaT ol et UfdRrd & Sit
H T hH Teh UV ol HH & 1Y U3 3R foRg Gahar g

4. 3[g U IUTa- U fETerd & ot sedl hl T&AT & UTdRId & w9 # U foemed J
1T oA & foIg Amifcha seal di gor T

LA

(31) QrdSIes GiAemy 39 AT AT st Fid1 o S TRDR GIRT UG hl STTdT & 39 BRI &

ST TfedET aret a1 O e & : ek & Tehd & | 3 AEAYUT & Rilfch chs Ahdl o U T
3T 7181 & foh 3 T gIRT ver= i 1S giaearatt o1t IaT Tah| S &5 & uRumTaey sfsAmsat @
TTHAT ST UST ATt TR UIyoT, fRUeTT it et | YIRd | SUed & ATasii-ich aaraf el
IUTIYaT &

148 |



1. Tep QTdif-en Giaer qresi-en fad=or yoTelt fEeg g it Raradt geg uR S1Erdt & SR aif &t
SR ST <h TUTAT 3R =T HTARTh a¥g UG el g |

2. TRT TR SRTATA! 3R eS0T & oy her § 5 aoft ot Rardt &k = ggar e Srarn g,

S 313e Utie & TIY-TTY =UdTd hl giaerd o e g1

(32) waferufg &R 31 Yeh dfeh HeT & 3R ot gfam & <=if ofk w159 &1 @ 81 AHen g § fob
qaiaRuita RTae It a1 75y 6t AT 9 JIAd el g STt 39 dvg o MIRTde I ShRUT I 6l g1 39h
RO YT & I T T AT S dfYeh TR IR 7Y fohy ST1d &1 ¥Rd | J¢ UHM UR IHel UTeR
wic 3R 1= Hldl o ATeIH § IR UGHUT ehl I&TERT o, UTfch e, Sieiehl S1fe H UgNUT <Al shiRUT T
g1 AR TS oft e SfR 31 thths! oh I # g T 3137 dhed & YRS auf, Sierarg uikacdH,
IS TR TS T, Sl giehife-ied & SToiict & a1 chl chelg oh TRUTHT 3 TR &feror 3@RenT & i ero
3R 39 & e &t aui & G # TeaSl Gar <& g

(33) forepfra 321-Teh <21 foraH sftenfirchienzor ok cafthira S &t TTelt &R &1 JTeRAT &R 31fdeh g
Ig @ fAfgd ofk T &1 Sitenfien faay Sfia TR 1 37a @R § SR TR 3R GRe&T & AF |
AR TATeRT 8

faepraefier 3ar - Tap gar fSraH Sifenfiehtanvor &t e+t a3 ok ufa safh oma 7 g1 a8 TreRAT R A
21 gg AR & ok derfad 817 & AT IR @1 81 2 31U+ fAerrd & farw faenfa 3er ur s & &1
ey 3R ReT & folgret ¥ Sfia TR 9 g

(34) ft-pt &t af<h a1 fh 1 agg Tt ST hl 1T oh FohdT & STt uRER faRiedt gidt €1 Tah
ASh! 3T AT oh U H Id-1 a1 AT 3R ITR hl IHHIG edl & 3R I8 Tl hrHl | o fgwm
AT &1 8 TehdT & foh ITehT 1S UTT 9 e

3T avg, ST fasiel UTd @A o folg, SETfa S1fee Y I18d 8, oAfch-T a8 I A o forera
GahdT g 3R AN o Sfte ol gufd & Gepa &, ST foRufia §, S sfeard

(35) OHT 39feIT & Fifeh afhal o Stia- RRAfaat = gidt §1 v 31 ST ot 3@ § St 3k forg
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SECTORS OF INDIAN ECONOMY

VERY SHORT ANSWER TYPE QUESTIONS (1 MARK
EACH)

. Which sector is also called the service sector?

Primary

Secondary

Tertiary

None of above

What is full form of '‘GDP’?

Gross domestic product

Gross direct production

Goods direct production

None of above

. Ten people working on a small field is an example of ...........

Full employment

Unemployment

Disguised unemployment



d) Open unemployment
4. The sectors are classified into public and private sector on the basis of:

a) Employment conditions
b) The nature of economic activity
c) Ownership of enterprises

d) Number of workers employed in the enterprise

5. GDP is the total value of.....produced during a particular year

a) All goods and services
b) All final goods and services
c) Allintermediate goods and services

d) Allintermediate and final goods and services .

SHORT ANSWER TYPE QUESTIONS (3 MARKS EACH)

1. What is underemployment? Explain with an example.

2. What are the objectives of NREGA 2005?

3. Do you agree that classification of economic activities into primary, secondary and
tertiary is useful? Justify your answer giving three valid arguments.

4. Enumerate the various causes of rural unemployment in

India.
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5. Distinguish between final goods and intermediate goods.

6. Why has the entire tertiary sector not grown in importance? Explai

LONG ANSWER TYPE QUESTIONS(5 MARKS EACH)

12.What is disguised unemployment? Suggest some ways which can be helpful in creating

more employment in rural areas?

13. What is tertiary sector? Why is tertiary sector growing so rapidly in India?

14. Distinguish between organized and unorganized sector.

15. Why is agriculture an activity of unorganized sector in India?

Explain.

Answer key :

1:c) tertiary sector
2: a) Gross domestic

product

3: ¢) Disguised Unemployment
4: c) Ownership of

enterprises

153 |



5: b) All final goods and services.

6. (i) It is a situation under which people are seen working but all of them work less

than their potential.

(i) Also known as disguised unemployment.

(ii) For eg: To cultivate a field, only two workers are required but the whole family

of five people is working.

7. National Rural Employment Guarantee Act 2005 (NREGA) is an Indian labour law and

social security measure that aims to guarantee the right to work.

e It aims at enhancing livelihood security in rural areas by providing at least 100
days of wage employment in a financial year to every household whose adult
members volunteer to do unskilled manual work.

e The NREGA was initiated with the objective of “enhancing livelihood security in
rural areas by providing at least 100 days of guaranteed wage employment in
a financial year, to every household whose adult members volunteer to do

unskilled manual work.”

e Another aim of NREGA is to provide employment within 5 km of
an applicant’s residence, and minimum wages are to be paid. If
work is not provided within 15 days of applying, applicants are

entitled to an unemployment allowance.

8. Yes | agree with the statement as:
(i) We can find out how many workers are working in different sectors.

(ii) We can find out the share of each sector in the gross domestic product.
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(iii) We can find out which sector is growing and which is lagging behind.
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9. (i) Lack of skill and education.
(i) Chances of disguised unemployment are very high in agriculture.

(iii) There is lack of industrialization in rural areas.

10. Final Goods

(i) The goods which are used for final consumption.
(i) Value of final goods is included in the national income.

(iii) For eg: Television, bread, bakery products etc

Intermediate Goods

(i) The goods which are used up in producing final goods and services.
(i) The value of intermediate goods is not included in the national income.

(iii) For eg: Flour, cotton etc.

11.The entire tertiary sector has not grown in importance because of the following
reasons:

a. Peculiarity of skills in the tertiary sector: Highly-educated and skilled
professionals only are able to get employment. Other engage
themselves in low- paid jobs.

b. High incomes: Higher incomes are available for the top-level
administrative jobs only. Low- paid jobs do not attract employment.

c. No job security: Large number of workers are casual with irregular and low
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incomes barely to sustain livelihoods.

12. Disguised unemployment is a situation when workers engaged in a work more than
required. For example: If there is work of 10 workers on a field but 15 workers are

working, then 5 workers are suffering from disguised employment.
Some ways:

1) The cottage and small scale industries should be set up in semi rural areas.

For eg. Setting up a flour mill or rice mill etc.

2) The government should invest some money in rural area to provide basic

facilities like roads, transportation, markets etc.

3) Farmers should be encouraged to adopt horticulture, pisiculture, animal

rearing etc. along with growing crops.

4) Government should set up commercial banks to provide loans to farmers at low rate
of interest so that they can set up tube wells etc. on their fields due to which they can
take more than one crop from the same piece of land in a year and that will increase

employment in rural area.
13. Tertiary sector is a sector which provides services. It is rapidly growing because

1) The development of agriculture and industry leads to the development of services

such as transport, communication, trade etc.

2) As the income level of people rise they demand more and more services like

tourism, shopping centers etc.

3) With modernization and globalization, some new services based on
information and communication technology have become important and

essential.
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4) In any country services like educational institutions, police stations, courts, defence,
insurance companies etc are required. These are called basic services. In a developed
country, it is the responsibility of the government to provide these services due to
which more and more people are being employed to provide these services to the

people. And the tertiary is growing rapidly.

14. 1) Organized sector is registered by the government whereas the

unorganized sector is largely out of control of the government.

2) In organized sector the workers enjoy job security whereas in unorganized jobs are

insecure and irregular.

3) In organized sector the number of working hours are fixed whereas in

unorganized sector the number of working hours are not fixed.

4) In organized sector workers get several benefits such as paid leaves,
payment during holidays whereas in unorganized sector such facilities are not

available.

5) In organized sector the wages are high whereas in unorganized sector the wages are
low.

15. Agriculture is an activity of unorganized sector in India because
1) There is no fixed number of working hours.
2) Agricultural laborers have no job security.

3) Government rules and regulations to protect the laborers are not followed.

4) Agricultural laborers are often exploited and are not paid a fair wage.
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5) Agricultural laborers don't get any other benefit apart from daily wages.

Sometimes, they do overtime without any payment.
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MONEY & CREDIT

Multiple choice questions (1 marks)
Question 1: - Which of the following is a bank credit rating?
(A) Formal
(B) informal
(C) both sides
(D) None of the above
Question 2: - Currency is called the medium of regulation because -
(A) It can be easily changed for any item or service.
(B) This relieves the need for double coincidence.
(C) It acts as a mediator in the exchange process.
(D) All of the above
Question 3: - Who issues currency in India?
(A) Reserve Bank of India on behalf of the Central Government
(B) The President of India
(C) Finance Minister
(D) None of the above
Question 4: - The following do not have formal means of credit
(A) bank
(B) Co-operative Societies
(C) Employees
(D) None of the above
Question 5: - What stands for S. H. G.?
(A) Self Help Group
(B) Self handicraft group
(C) Society Help groups
(D) Social Help Group
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Short answer questions (3 marks)

Question 6 : - Describe the meaning and function of the currency?

Question 7:- How does money solve the problem of ‘double coincidence of wants’?

Explain with an example?

Question 8: - Differentiate between the formal and informal source of credit.

Question 9: - Why do we need a bank ? What services do banks provide? What is the
major source of income of a bank ?

Question 10: - In what ways does the Reserve Bank of India supervise the functioning

of banks?

Long Answer Type Questions (5 Marks)

Question 11:- How are deposits with the banks beneficial for an individual as well as
for the nation? Explain with examples.

Question 12:- Why is it necessary that banks and co-operatives increase their lending
in rural areas? Explain.

Question 13. The credit activity of the informal sector should be discouraged.
Support the statement.

Question 14. How is the concept of self help group important for poor people? Give

your view point .

Question 15: - What formalities do the borrower have to do to get a home loan?

Answers:-

Answer 1:
Answer 2:

A) Formal

D) All of the above

Answer 3: (A) Reserve Bank of India on behalf of the Central Government
Answer 4: (C) Employees

Answer 5: (A) Self-help group

Answer 6: - Currency is accepted as a medium of exchange like - notes, coins.
Functions -

(1) Measuring value

(2) accumulation of value

A~ A~~~
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(3) Deferred Payment Value

(4) basis of credit

(5) It distributes national income.
(6) It provides liquidity.

Answer 7:- 1. Before the introduction of money as a medium of exchange, the
double
coincidence of wants functioned as the medium of exchange between

people
. Double coincidence of wants or the barter system was a system based
on the
exchange of commodities.
2. In a double coincidence of wants, a person, say a farmer bought shoes
from a
cobbler in exchange for his grain. But this could happen only when the
cobbler
was also in need of grain. Therefore, in this system, both the parties
had to
agree to buy and sell each other's commodities.
3. Money, as a medium of transaction, essentially solved this problem
because,
through money, one could buy and sell whatever he/she wants at any
particular
point of time, without any agreement of buying and selling in terms of
commodities.
Answer 8:-

INFORMAL SECTOR CREDIT

provided by
employers,

FORMAL SECTOR CREDIT

1. It is provided by banks and| 1. It is
cooperatives. moneylenders,
traders, etc.

2. It is supervised by the RBI. It
checks the interest rate and
other details periodically.

2. There is no organisation to
supervise informal sector
credit.

Answer 9: - In modern times, Banks are required for the vision of daily economic
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3. The loans provided are at a
cheap and affordable rate of
interest.

3. The rate of interest is very
high and most of the times
result in  exploitation of
borrower.

4. Proper terms of credit like
documentation, collateral, the
rate of interest are followed.

4. Terms of credit are flexible.




work and national and international trade.
Services:-
(1) To create a sense of savings among the people.
(2) Protecting savings.
(3) Pay interest on savings.
(4) The bank allows us to withdraw our deposits when required.
The major source of income of a bank is the difference between the
interest rate of the demand deposit and the credit.

Answer 10: - Supervisory of the functioning of banks is done by the Reserve Bank
of India in following ways:
(i) The functioning of formal sources of loans.
(ii) It looks over the banks in maintenance of cash balancei.e.15%.
(iii) It also keeps on checking that the banks instead of giving loans only to the profit
making businesses and to the traders, they also provide loans to the small scale
industries and small farmers etc.
(iv). With the passage of time the bank submits the information regarding lending
and
interest rates etc.
Answer 11 :- Deposits with banks are beneficial for both individual and nation:

1. People can deposit money with banks after opening a bank account.
This ensures the safety of the money and they also earn an interest
from the bank.

2. Demand deposits can be withdrawn whenever the person wants. It
also allows payments to be made through cheque.

3. Through cheques, the money gets directly transferred between
banks. So no direct payment of cash needs to be made as the deposit
itself is money in the modern economy.

4. Banks extend loans from the deposits they receive so they mediate
between people having surplus fund and people in need of more funds
through these deposits.

5. For example, If Person A has deposited money in a bank, he earns an
interest. When required, A can also pay through a cheque to Person B.
Person A can also take loan at an interest rate lesser than what is in
the informal sector.

Explanation: Deposits with banks enables many facilities like cheques,
credit cards, loans etc. Since it is also white money, the nation’s
economy is more transparent.

Answer 12 : 1. The formal sector i.e. the banks and the cooperatives need to engage
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more in the lending activities because of the disadvantages posed by
the informal sector.

2. There is no organisation which supervises the credit activities of
lenders in the informal sector. They can lend at whatever interest rate
they want and there is no one to stop them from using unfair means to
get their money back.

3. The high cost of borrowing discourages many people who wish to start an
enterprise. It also significantly reduces the income of the borrower as much of the
earnings go into repayment of the loan.

4. Borrowings at much cheap rates from the formal sector would therefore
encourage higher incomes which would in turn lead to an increase in the amount of
borrowings from the banks for various purposes.

5. An increase in borrowings would help people in growing crops, do business, set up
small scale industries etc which would add to the development aspect of a country.

Answer 13 :- The Credit activities of the informal sector should be discouraged
because:-
1. 85% of loan taken by the poor household in the urban areas are from informal
sources.
2. Informal lenders charge very high interest on their loans.
3. There are no boundaries and restrictions, so it can be the reason of
exploitation of the borrowers.
4. Higher cost of borrowing mean a larger part of the earnings of the borrowers
is used to repay the loan.
5. In certain case the high interest rate for borrowing can mean that the amount
to be repaid is greater than the income of the borrower.
6. This could lead to increasing debt and debt trap, therefore the credit activities
of the informal sector should be discourage.
Answer 14:- Self Help Group :
1) SHGs help in pooling the savings of the members who are poor people.
2) Member can get timely loans for a variety of purpose.
3) They get loan at a reasonable rate of interest.
4) It helps borrowers to overcome the problem of lack of collateral and
documentation.
5) It saves them from exploitation of the money lenders.
6) This interest income becomes an extra source of income of the members.
Answer 15: - (1) First, he has to give a certificate of source of income.
(2) Viewing employment record
(3) Handing over of new house papers( registery of the house) to bank.
(4) If the bank is not satisfied, it takes a guarantee of one / two persons.
(5) The loan is taken from the guarantor if the borrower owes the loan.
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GLOBALISATION AND THE INDIAN ECONOMY

Questions (SHORT ANSWER TYPE )

1.

What do you mean by FDI?
What is SEZ?

What is the most common route for investments by MNCs in countries

around the world?

‘Globalisation has led to the worsening of the working conditions of the

laborers’. Comment.

How has technology stimulated the globalization process?

LONG ANSWER TYPE QUESTIONS
How do MNCs interlink production across countries?
What measures can be taken by the government to make globalization fair?

What is a trade barrier? Why did the Indian government put up trade barriers

after Independence? Explain.

. Explain any five positive effects of globalisation on Indian economy?

10.What is a foreign trade? How does it lead to integration of markets across
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countries?

ANWSERS (SHORT ANSWER TYPE )

. Foreign Direct Investment.

Special Economic Zone

To buy up local companies



4. - Globalisation and open competition leads to insecure working conditions.
* The workers do not get a fair share of profits which the big companies make.

 Workers are exploited by the big companies as they are not given any in- job

benefits.

5. < Improvement in transportation technology has made faster delivery of goods

across long distances at lower rates.
*Improvement in IT Sector

* Invention of Computers, Internet, Mobile Phones, and Fax etc. has made

contacts with people around the world quite easy.

(LONG ANSWER TYPE QUESTIONS)

6. * MNC's set up their production units in those areas which are quite close to

the markets.

* It sets up production jointly with some of the local companies of the

selected countries

+ Sometimes large MNCs place orders for production with small producers

and provide them money for additional investments.
+ Sometimes MNCs buy local companies and then expand their production
* Provide latest technology for better and speedy production

7. + The policies of the government must focus on protecting the interests of all

sections of the people.

+ Government should ensure that labor laws are properly implemented and

workers get their rights.

+ Government should support small industries to face competitions.
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* In certain situations, trade and investment barriers should be imposed.
* The government should negotiate at the WTO for fairer rules.

. » Tax on imports is an example of trade barrier. It is called a barrier because
some restrictions has been set up. Government can use trade barriers to
increase or decrease foreign trade and to decide what kind of goods and how

much of each should come into the country.
Reasons for putting barriers:

- Governments use trade barriers to increase or decrease (regulate) foreign

trade.

* Trade barriers were used to protect the domestic industries from foreign

competition. E.g.Tax on imports.

* It was considered necessary to protect producers within the country from

foreign
competition.

* The competition from foreign competitors could have crippled the new born

industries in India.

. Globalisation and greater competition among producers have been of
advantage to consumers, in terms of wider choice, improved quality and lower

prices.

« Enormous increase in foreign investment through MNCs.

+ Several of the top Indian companies have been able to benefit from
globalisation as they got newer technology and collaboration with foreign

companies.
- Some large companies emerged as MNCs Ex. Tata Motors, Infosys.

* New opportunities are created for companies providing services especially

those involving IT.



* It has enabled the third world countries to get better technology at a cheaper

rate.

10. Foreign trade is exchange of goods - purchase and sale - across geographical

boundaries of countries.
* Goods travel from one market to another.
*Choice of goods available in the market increases.
*Prices of similar goods in different markets tend to become equal.

* Producers in two countries closely compete against each other even though they

are

separated by geographical distances.
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« GRAR ht UfaaRIarst &1 AT & & folw St I o1 guefq o=ar @nfgu|
- po Afaal 7, R R A srarst ot @ st afg g
- TXepR ol FAsuet et & folt fasy aamuR e & aradia a1 9 al

8. ST UR hx ATUR ST hT Yeh IAT<UT & | 3 Ueh ST Thel STTdT & Hiich o Ufdsy g
Y &1 TR faeaft ATUR ot S AT geH o ol ATIR STemsii T IUTNT & Jehd! § 3R T8
TG PR Gohd! g fob 321 A fohg a=g o1 AT 3R fehaAT S1AT A1ig Tl

HIRT:
fag2fht AR @t Fe a1 e (fFafAd ax) o g SRR ATUR Srarstt o1 IuahT et &
“ER e ot fageft ufaeayf @ s/ & forg R sttt s IudiT fohar )

297 & iR IRl opl fAesft ufaaifrar @ sam & v 3@ smaxyes AT T |

fraft ufaeafdal @ ufaeguf wRa # 77 =1 Il &l O] o7 Hendl 81

9. ITSeh! & o deftenvor 3R 3ifder § sifdaufawgyt Iusi<hrsit & foT arges ude, dgar
0TI 3R A AT ch AHA H ATHRRT I8 &

- SEIEIT ShufAat & Aregw 9 fadsft Rdwr 7 amar gl

- T3 MY W Shufar Isfierzor @ 1Y I H Ter §3 & ™ifch S0 AN chuf=ial oh 91y
7 doh-ich SR TEanT fAe &1

- B ISt hufat TGAFR HufAar Ex & w0 & 9| ereT Aed, Fmhifg |

- Ay =Y & 3MSE T TS AT Bl FATE UG hi dTelt hufal & folg AT S/aeR 9-1Q 7Y 1 »
39 1Y 5T o Q20 Rl T & UR SR dAeheich UTd ohit H H&H IR 8

10. faeft saruR A1t Y @< - focht 3R fht - et &Y simiferes dwmsi & aR 81
* HTeT Ueh FToTR 9 GERATSIR H ST 81
« TOTR H IUTsY THTH] chl UG &6 ST ol
- At IR & THT a3l i hiAd sRTeR g SIrdt &1

- &t 321 F FAHtaT Toh-gmR & f@emth vt ufazaef exd g, ot g 3 siimiferes gfkat 9
31T &l |
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Q1

Q2

Q3

Q4

Q5
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The Community government in Belgium is elected by

a) People belonging to one language community.

b) All the citizens.

c) All the community leaders.

d) All the leaders.

Which of the following is an example of horizontal sharing of power?
a) Power sharing between different states.

b) Power sharing between different organs of the government.

c) Power sharing between different levels of the levels of the

government.

d) Power sharing between different political parties.
Sri Lankan Tamil refers to which of the following?
a) Tamil Muslim.

b) Tamil native of the country.

c¢) Tamil whose forefathers came from India.

d) Tamil Hindu.

Division of powers between higher and lower levels of government is

called :

a) Horizontal distribution

b) Parallel distribution

c) Vertical division

d) Diagonal division.

Which one of the following was not a demand of the Sri Lankan Tamils?

a) Recognition of Tamils as an official language.



b) Regional autonomy

c) Equality of opportunity in jobs

d) Reservation of seats in Parliament
SHORT QUESTIONS

Q6 Explain any three elements of the Belgium model of power sharing.

Q7 Mention any three steps taken by the Sri Lankan government to achieve
Majoritarianism.
Q8 Why is power sharing necessary in democracy? Explain

Q9 Explain the principle of federal division of power.
LONG QUESTIONS
Q10 Explain the major forms of power sharing in modern democracies.

Q11 What changes were done in the constitution of Belgium?

Q12 What are the advantages of horizontal power sharing? Explain with
example.

VERY LONG ANSWERS
1. A

2. B
3. B
4. C
5 D
SHORT ANWERS

ANS 6 (i) Equal number of ministers for both the groups.
(ii) More power to state governments.

(iii) Equal representation at the state and the central level.

(iv) Formation of community government Any three
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ANS 7 (i)In 1956an Act was passed under which English was replaced as the

country’s official
Language not by the Sinhala and Tamil but the Sinhala only.

(i) The government followed preferential policies that favoured the Sinhala

applicants for university positions and government jobs.

(iii) A new constitution stipulated that the state shall protect and foster Buddhism.
(iv) Denial of citizenship to estate Tamils. (Any Three)

ANS 8. 1-Prudential reasons:

i) Prudential reasons are based on careful calculations of gains and losses.

ii) Prudential reasons help to reduce the possibility of conflict between social

groups.
iii) Prudential reasons are good way to ensure political stability.

iv) Imposing the will of majority community over the minority undermines the unity of

the nation.

ANS 9. i) Under the federal divisions of power the power is divided among different

levels of government.
ii) This type of system is known as vertical division of power.

iii) Under this the Constitution clearly lays down the power of each level of

government.
2-Moral reasons:
i) Power sharing is the basic spirit of democracy.

ii) A democracy government is chosen by the people. So the people have the right to

be consulted.
iii) Decentralisation of power.

LONG ANSWERS
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ANS 10. i) Power sharing among the different organs of government. (Horizontal

power sharing)

ii) Power sharing among governments at different levels.

iii) Power sharing among different social groups.

iv) Power sharing among political parties, pressure groups and movements.
v) In a democracy we find interest groups such as businessman, farmers an
Industrial workers.

ANS 11. i) Number of Dutch and French speaking ministers shall be equal in the

central government.

ii) Some special laws required the support if majority of members from each

linguistic group.

iii) Brussels has a separate government in which both the communities have equal

representation.
iv) The state governments are not subordinate to the central government.

v) Apart from the central and state government there is a third kind of government

this is called community government.
ANS 12. i) The power that is shared among different organs of government equally.

i) Horizontal power sharing places all the organs of the government i.e

legislature,executive and judiciary at the same level.

iii) Under this kind of power sharing no organ can exercise unlimited powers.
iv) This system is also known as systems of checks and balances.

v) Example, in India though the ministers and government officials exercise

power, but they are responsible to the parliament or state legislatures. similarly
although the judges are appointed by the executive but they can check the

functioning of executive of laws made by the legislatures.
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Q2

Q3

Q4

Q5
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POWER SHARING
VERY SHORT QUESTIONS
dfesra A gt AR B FAE & gRI BT 8?
a) Ueh gl TN dier= aTel ANT- $91, Thd 3R STHAT |
b) Tt AR
c) Tft Ferat & Aar
d) ot Aar
fr=fafed & & @ a1 g & éfast faaror @ Iuro § 2
a)fafaa Tout & i g it agert |
b)TReAR & fafa= oM & thig I=11 Sl AR |
)RR & fafda T’ & ofiw argiery |
d) fafe¥a Irerifcen aeit & sfige dgslart |
Seient aftet fhees Teaf # Uk giar 8?2
a)afie gfeem
b)e=r & afier AR
c)dffd S vRa € 3q &
d)afae fag,
AR AR (TR TR hl TART & &9 T o TeaR i gl AT &
a)&fast faazon
b)FHETTIR faraRor
c)3@eR faaxor

d)faeuf faa=or
fafofad 7 @ -4t sficienTs affiet &bt =i T8t &2

a) dffreT ol MfARTRER AT & T F HT=GT AT
b) &= TR
c) ATenlAl & STTERI hi THFT



d) €9¢ 7 Hit o1 SIReoT

SHORT QUESTIONS
Q6 T hl AT & dfeorad AISd & fohwal dIF Il ol Soei<d e |
Q7 JEUTIRATE Pl HIIH A o fTg HieienT TR gIRT I8IY Y A

heH! ST Joei g el |
Q8  dichd= H T chl HISIERT 3Tk Rl g ? ARATR | 3
Q9 I & faurSH & g fl ara &t |

LONG QUESTIONS
Q10 3MYfeh cAlchd= | T hl ATHERT o AT-37eTT d<tch T § ?

Q11 fras o dfdena & oar Iearg forar g 2
Q12 T« & &fas fad=ur & o a1 & ? ISTE0T e TUE e |

VERY LONG ANSWERS
1. A

B
B
C
D

o »~ W DN

SHORT ANWERS

ANS 6. 1) &It &al o forg #f3aT 6 a1+ T |
2) I TXHR] ol 1fdep fhar |

3) IS AUT heI TR IR T Wi |

4) gHEriteh TR ohl & | (I i)

ANS 7. 1) 1956 & il GRR = Yeh BIH ST foidch dgd diHel ol &efch-IR hich
fRigeft sTaT ot TroTaTeT YT R R o

2) fasgfaenerat ofik TReART Ainfat 7 fEgetial el UTifferdr 3 ot Fidt /o= 718 |
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3) v Tfeem & ag uraen ot fopam mar F WRaR dig o ol TReror ok gear 3t |

4) ittt affert st ARTReRaT A8t & 718 | (1E A7)

ANS 8. 1) gehduReh deh —

i) GehcTuReh dch AT TUT ET-1 <hl TTUHT & YR W B & |

ii) gehclTOReh dch ATTTSIch THg! o & TehvTa hl TUTIT I hH P d & |
iii) gerdTuReh deh st eh FRARAT AT et I Tep 31 dIehl &

ivV) SEUEISh HGM hl 590 ol dTchl T TR AT dlehlfelch IR TR SATHRRT o GehdT g TR
31T TTehR TG <2 thl IRGST [T ©Tdh gl JehdT &l

2) Afde aek -
i) T Sl TSGR IRAd | dAlchd~ il T § |

ii) TRdT=eh TR AT GIRT AT STIAT & ST Ich T URTHRT e ol STTYBR gidT g i 3
ST MIF ARG & |

iii )T T fachwsoneoT o foig |

ANS 9. i) TR & fafd=a 3Tt & &t TIdT &1 FearT |

i) 38 I A1 @S faaRuT shgd § |

iii) 39 SfdATd AAYTT TRPR P R TR DI TAT R WEFT Y AT & |

LONG ANSWERS

ANS 10. i) TR & fafda sim S el srfufera iR @rauifere & &=
i) TR o faf9a @@=l & =

iii) fafor Tggl & ot |

iv) faf9z gama gl Ismfas gat ondt & el

v) STATRET, foharn, FoieRl S TrsHT srad fge gl & i |

ANS 11. i) g & gft romatt ot g ufdfAea |

ii) T S A ST TS Wgl & wiaat sl T SgHd |

iii) YT TRPR hg, TRPR oh M g gt |

iv) ST | 3T TR gl |

V) ST GTHeTeh TR il |

ANS 12. i) TR&R & faf9= it & A 9= Sl A1SiERT i T 1 &t fdaror wgd § |
i) SR TRPR o fAfH7 3T Teh &1 TR TR TGP 37T M<hl T TANT hed & |

iii) 3T oI5 ST TAT T SLNTHT ITANT Ag! e Tohd |

iv) S HeRT cht AT 3R HJeld dhl ATEAUThgd & |

V) IETEX0T & g WIRa & Af3aT qUT GRART SThaR] o U 91 8l & Ui @ 949G o AT Sl
P & | 3 TR arauTferent ht fAg<hl sriuTfeient Shedl & TR =TaUTfeiehl &t ShRITTeIchIOR
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Fedrelism

1. Which power sharing is commonly called federalism?
(a) Horizontal power of division

(b) Vertical power of division

(c) Division of power between different communities
(d) Distribution of power among political parties

2 What are the basic objectives of a federal system?

(a) To preserve and promote the unity of the country

(b) To accommodate regional diversity

(c) Power sharing between different communities

(d) Bothaand B
3. In which schedule of the Indian constitution are the 22 scheduled languages included?

(@) tenth schedule
(b) eight schedule
(c) twelfth schedule

(d) ninth schedule

4.  Which body conducts the election to panchayats and municipalities?
(a) election commission

(b) state election commission

(c) state high court

(d) Parliament
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5.

(a)
(b)
()
(d)

When was the use of English for official purpose stopped?
1956
1958
1960
1965

SHORT ANSWER TYPE QUESTIONS:

1.
2.

LO
1.
2.

When did Belgium shift from a Unitary to a federal form of Government? Why?

What do you mean by a Unitary Political system? Does Sri Lanka have a federal political
system?

What is the major demand of Tamil leaders in Sri Lanka?

Write a brief note on the language policy adopted in India.

Write a brief note on village councils

Why is decentralisation favoured in democracy? Identify any two reasons.

“Indian Constitution has a unitary bias” . Support the statement by one example.

NG ANSWER TYPE QUESTIONS:
Explain the power sharing among Government at different levels.

India has a large cultural, regional and religious diversity, but there is unity among
people. What factors are responsible for this? Elaborate.

In Panchayati Raj system one third of the seats have been reserved for women, do you
feel that the same be done for State legislators and Parliament? Support your answer
with argument.

Answers

1. Vertical division of power.
2. Both aand b.
3. Eighth schedule

4. State election commission

191 |



5.

6.

1965

Local self-Government

SHORT ANSWERS:

10)
(ii)

2(i)

(ii)

(iii)
3.

5(1).

).

192

In 1993 Belgium shifted from a Unitary to a Federal form of Govt.

It happened because the regional govt. were given constitutional powers
and they were no longer dependent on the Central govt.

In a Unitary political system, the National government has all the powers m
it's hands

No, Srilanka has a Unitary political system
Tamil Leaders want Sri Lanka to become a truly federal system.

The language policy was the second test for Indian federation. No
Language was given the status of national language by our constitution.
Hindi was identified as the official language. But only about forty percent of
Indian have Hindi as their mother tongue. Therefore 21 other languages
besides Hindi are recognised as schedule languages by the constitution. A
candidate in any examination conducted for the central govt. position may
opt to take the examination in any of these languages.

Village councils looked after the affairs of the village, police and judicial
powers and were the lines of the contact in higher authorities on matters
affecting the villages. Custom and religion elevated them to a sacred
position of authority. These councils were the pivot of administration, the
Centre of social life and above all a focus of social solidarity.

When power is taken away from central and state government and given to
local govt. it is called decentralisation.

The basic idea behind the decentralisation that there are a large number of
problems and issues which are best settled at the local level. People have
better knowledge of problems in their localities

They also have better ideas on where to send money and how to manage
things more efficiently

Besides at the local level it is possible for the people to directly participate
in decision making. This helps to inculcate a habit of democratic
participation.

The power sharing arrangement between the union and the state given in
the constitution of India clearly distributes power between the two. In the



sense, it is federal but the system becomes unitary when the residuary
power rests with the union.

YR & Gfden= & fRw mu 9y 3R Iy & i grer (R & g we &9 @ =t
o oty 21f<h a1 fadRoT et &1 59 AR o, g 9Eiy & AfcheT eIt Tahrca e gl STTe
& SI9 AT <rf<h Y & 1Y |t 5

ANSWERS : LONG TYPE QUESTIONS:

1.
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The powers of Govt. have been divided into three lists.

Union list: It contains 97 subjects like defence, foreign affairs, railways,
posts and telegraphs, foreign trade and currency etc. The union govt. alone
can make laws on subjects mentioned in this list.

State list: It includes 66 subjects like police and jails, agriculture, public
health, local govt. trade and commerce, liquor etc. The state govt. alone
can make laws on subjects mentioned in the list

Concurrent list: It includes 47 subjects like education, forest and trade
union, marriage and divorce etc. Both union Govt. as well as state Govt. can
make laws on subjects mentioned in this list. In case of conflict, the law
made by the union govt. will prevail. Residuary powers lie with the centre. In
such cases only parliament has the power to make laws on these subjects.

The real success of federalism in India can be attributed to the nature of
democratic politics in our country. This ensured that the spirit of federalism,
respect for diversity and desire for living together became shared ideals in
our country.

Spirit of federalism: The constitution clearly provided a threefold
distribution of legislative powers between the union govt. and state
governments.

Respect for diversity: The creation linguistic states was the first and a
major test for democratic politics in our country. This was done to ensure
that people who spoke the same language lived in the same state. Some
states were created not on the basis of language but to recognise
differences based on culture, ethnicity or geography.

Desire for living together: The constitution declared India as a union of state
although it did not use the word federation. In India we have holding
together federation.

Absence of national language: Our constitution did not give the status of
national language to anyone language. Hindi was identified as the official
language. Besides Hindi there are 21 other languages recognised as



3i.
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scheduled languages as safe guard to protect other languages.

Independent judiciary: The judiciary plays an important role in overseeing
the implementation of constitution provisions and procedures

Prior to 1990 except for once, the Congress ruled at the Centre for about 40
years. These were the years when the single party made the Govt.

The Govt. at the Centre ruled the states with biased views

In favour: i. Many feminists and women movements feel that unless women
control powers there problems will not get adequate attention. One way to
ensure this is to have more women as elected representatives.

ii. One way to solve this problem is to make it legally binding to have fare
proportion of women in the elected bodies. This is what the Panchayati Raj
has done in India. One third of seats in local government bodies like
Panchayats and Municipalities are now reserved for women.iii. Women'’s
organisations and activists have been demanding a similar reservation of
atleast one third of seats in the Lok sabha and state assemblies for women.
A bill with this proposal has been pending before the parliament for more
than a decade.

In against: i. Quota is not an answer to women'’s problem. It discriminates
on the basis of gender, violation of the democratic right of people to choose
their representatives. ii. The reservation will only help elite women who are
proxy of powerful men. Women candidates may not get party ticket to
contest from unreserved constituency. Therefore, there is no need for
reservation for women in the legislatures. iii. Political parties should be
made responsible to ensure distribution of tickets in such a manner that the
various social and economic strata of society, specially marginalised and
disadvantaged groups get adequate representation.



Fedrelism

1. T 2AI™h & STaR &l G HEaIg gl STl §7
(@) U S G AR

(b) TS S FHeamR TR

(c) TaI¥E THEHI & < Ak & a9

(d)  SHIAE el & 91 T H SEIRT

2 e QU SOTIC o T S T 87
(a) & & Cahal P GRIGT I IR Tl & & 1Y
(b) &I TATAYT & YA R & TG

() 1A GG & ST SAI<H R AT

(d) asRBEMI]

3. SIRATE WU & 22 IR ¥ S W el e @

(a)  <waT g
(b) oS ST
(c) ST I
(d) T ST

4. ST YAER T TEGaT AR TR A & Y ST SRl 87
(a) g ST

(b) g ATATT

(c) U e mTery

(d) &g

> IfAeRTReR TSI o folg SiiSht st IUT ol tent TTT UT?
[a] 1956
[b] 1958
(c 1960
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[d 1965
SHORT ANSWER TYPE QUESTIONS:
1. dfad 3 UhrdHs 9 TR & €T ©9 § shd WHIARAT fhar? w=ii?
2.  UahlcHeh ST Ifceh HUTTlt & STUehT o1 dTdd g7 a7 Hieichl B T ST ideh Ha<T §?
Sietent # affer Aareit 6t o AT T 82
YR | UATS ST aTel) 9TST Hifd IR Uk Gfar e fod |
T 13Tt IR Yas dfereg e ford
Archcs H fachaleheoT T Uerer Rt &2 fohgl &l ShRUT ot Ugam |
"R Giaem & YehraTh gatig 8" | Yok IS8T GIRT he hl G e
LONG ANSWER TYPE QUESTIONS:
1. fa TR R @RER & &9 fosielt dear Fi e &1

2. HRd H Uoh I8! Gikepldeh, &g 3R enfifer fafaerdr g, Afcha &b & trar 81 39 g g @
&R TeR 82 fawgal

3. Uarydl IS g § wfgarsii & forw ge fagrs e emfera &Y 713 &, o smuent ear enrar g foh
IS o f[qurgent ofR T9g & forg oft 78! fohar STraT 82 ddh & Q1Y 31U+ IR ol 99 hi|

o u &~ w

Answers
1. <1T<h el ciedd [q9TST |
2. A SR BaHII
3. EEEERTE
4. IS GHATE AT
5. 1965
6. TR @LTET
SHORT ANSWERS:
1.30) 1993y H dicorid A YehlcHeh 8 HH1d §RehIX ch eh Guld & H TAAIAIR e 1edT|

(ii) g SHICIG g3 HiTch 815119 HRehlX | HAETT-eh SMTeehIR Te 7Y & 37 d 379 chg, HRehIX UR [MHR Aol |

2. (i) QehTcHeh JTST-1Tcieh TUTTCHT H, JIETT TRAIR o UTH G AT<hdi il &

(ii) g, Sficichrs oh UTH QehlcHeh JToT-TTcleh JUTTel @

(iii) AT T =NEd & Teh Hlcichl aread H Hulg ga< s+ S|
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ATST HiTcl WRATg T ch (oG g@<l UI&T Al | GHIR HTET IRT [l HT HTST ehi ABIT HTHT <Al STl gl 1edT T | Tgel ehl Ugen STTieiehTieeh ol ch
FUH | <iTchT hael AT TIARTd HRATT & UTE 7T ATGHTYT & U H 18T g1 I Teal & STeAtar 27 317 {THIST ol Fiqer gI=T STgean
ATST3T & TG H AT-GAT 173 8| Shg 1 G & 1e1Q STATISI TRt T TRIT # Yeh SHIEAR | 1A §99 TRt T HTST H WRIST & &l 1dehed g
Topdl g1

UTH GG T, Gierd 37 =G1eh AThal ch ATHC el GG HTeT heal Al SR Ieeiak Heh el 3@T4 A

STd I1 chg, IR o IR G OI ol SlTdl g IR LTI TR hl &f STl 6| 34 [dche [0l hgl SiTdl Bl

TaeheTenv0T eh UTe Hof ToR Tg & 1ch STol TEdTH TN 3R G 6 Sl T TR UR Gad 3= § g [hy ST 6| <1171 el 31U Sellehl H JHETST
H AR ATE

Ieh UTY Tg | dga 191  1ch U9 ahgl Hol SR ST el SATeieh hRIeTdl | hd Ueiad e

TG TR TR 38ch STeITa] AT oh [olQ [0 o+ H S8 AT o1 G g | TG Alchdiioich HIIIGRI bl HATad <hl Tdchitid ched H HeG hidl gl

AR ch GIGE= | 1Y 7Y §Y HR oY oh sirdl YTeR AT bl ALl TAE TG J GIH1 ch siid Ai<h bl 19007 hdl 8| 39 A1 H, Tg Juld g ailchd
AT YehlcHeh g1 STl € STe STaiSe *1<h 99 & 9T Bl 8l

ANSWERS : LONG TYPE QUESTIONS:

GRAIR <hl AT<hal | AT Gl J [ TToid Tehar Tam g

e el g9 &, Taesit AT, 3e7d, Ue SR dR, T aruR SR gt 3i1ie; S 97 fawg QMMiHeT 6 | 9 TRelR 3ichel 38 Gl H Slecidd [a8al UR
I I Tehel €1

ST Gl 2 SHH Yioid 3R Sicd, i, HTeoli-ieh T, WG TR Sid 66 [0 AMMA 81, STUR IR AT0Is, IRTE HTTe, AT LRI | Sfehed
H IedlEd 199aT UR I~ o1 Hehd 8

AT el 399 47 Tavar Sig 1Aet, a9 3R 2ATUR 4, Tdars SR detleh 3Tie QAMA 6 | 9T 81 Ao AR | 59 Gl # aroid [awdl U= i a1
Hehd §| TEY & HTHA H, T TR GI]T S1AT 7T I | Faiel T | he; e AT ST AHAT TG § | G HIHAT H ehelel THE h U 3 16001 TR
FIA S & MR B

R H HHATG chl dT&dldeh HUheldl chl GHIR & H AAlchd15ieh ST el Ul ch [e1Q TSGR S8l ST Hehdl & | 38 Ig G-1ad gal o duare
Sl AT, TS ok 1T GRATH 37R 1Y I+ Al 35T gHIR &1 H |1 HTERT 9 Q)

AT, el HTGAT: HIGeTT o T T G Y IR ch s [GETAT AT<hdl el ot AT 1G0T 1hdl | 3R A5 TehrR |

Tafererar o forg w=T: §H1R <0 H cllehdiToieh ST <h [e1G [=H1UT HISTS Iod Ugell 3R Yeh UHE URI&TUT AT | Tg iAT9d ehe b [o1q [eha 7T T Teh
ek 1 1T Siel dTel 17 Geh 81 53 H Igd U | G A5l ol 9THT & SR TR AT, deh GLehid, STl a1 e e SR TR AdHET & Ugai- &

ToTQ ST 73T o |

T g ol 30T JIauT- 7 IR <l Yeh 1o 9Y oh T H °INd [k, gleTilch 39 A Y TG Al JUAT gl [ehdT| WRd H gHIR UTd Teh 91
TheiRF gl

RTEHTST el SIJUTEATCT: HIR HIAYTT = Tchel] chi HI ABTY AT T &oll Aal 1T | Toal ehl UgT=T SATAHTIReh HIST eh &0 H 2 | ool ch Sretrar 321
ATTSHT R ST TS & T 7 AT U1 g ST 37 HISTSAT Al GRET & 1e1g GRIeid e gl

T ~g™UTIelehl: ~URITTTelehl HTaeT h UTGe1 7R UiehdT3fl & chiai-aa ol S@ReE H Hgcayqul fHeh [Tl &
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Todeg #: 1. ShIcT ATQeI13Tl ehl JHET chl STATE ol 6| TG Te17] eh SR UR HEGHTT hedl &, ST UTIERT el G-l ch 1e1Q AT ch cilehdioich ST19ehIR
T Jeotd hdT 81 i, SIRETUT chdel I HUTd HIGe 131! &l AGE T SiT RATHRATelT G <At UTeRIT § | HigelT IMTGaRT i STARIET Hala- &= 9 g1



S & ToTQ UTET <Rl TEehe gl TH HehdT 8| 3HTTY, TaUTaT 9IS | HIgeAT3il <h 1T STRETUT &hl STTARThdT A8l g1 iii. ISTHITdD &l il 39 dg 9
Te&eheT oh TdRUT ol FIATHd S h 1ol TSGR /T ST ATEY dTich FHTST h 1919 HTHITSI 37R SMTYh &R, 191W ¥U ¥ g1IRIY 3R aidd gt
o T UidHeed MAet |
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GENDER RELIGION AND CASTE
VSA (1 MARK)

1. How is India a secular state?

2. When was national commission for women established?
3. What is sexual division of labour?

4. What are family laws?

5. What is idea of communal politics based on?

6. Mention one situation where expression of caste differences in politics plays a
positive role.

SHORT ANSWERS (3 MARKS)

Q. 1.What steps should be taken to improve women'’s representation in politics?

Q2. "A communal mind leads to quest for political dominance of one’s own religious
community’ ‘Explain

Q3.What do you understand by the term ‘Feminist movement’. What were their main
demands?

Q4.How does the problem of communal politics become more acute?

Q5.The problem of communalism begins when religion is seen as the basis of a
nation. Comment.

LONG ANSWER (5 MARKS)

Q1."Caste system has not disappeared from contemporary India." Support your
answer with suitable examples.

Q 2.How can the relationship between politics and religion be beneficial and
problematic at the same time? Explain.

Q3. Caste system plays a role in shaping politics or deciding the candidates from a
constituency. Do you agree? Give reasons to support your answer.

Q4. "How women in India still face discrimination and oppression in various ways."
Support the statement with five examples

Answers:
VSA (1 MARK)

1. State has no official religion.

2.1992
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3. A system in which all the work inside the home is either done by the women of the
family.

4. Laws that deal with matters pertaining to marriage, divorce, adoption, inheritance
etc.

5. Communal politics is based on the idea that religion is the principal basis of social
community.

6. Many disadvantaged communities get the space to demand their share of power.

SHORT ANSWERS (3 MARKS)

Ans. 1.i) 1/3" seats in the local govt. bodies should be reserved for women.
ii) Political parties should give due representation to women.
iii) Women must be fully aware of their rights and duties

Ans. 2. A communal mind leads to quest for political dominance of one’s own
religious community over the others. A community in majority takes the form of
majoritarian dominance over the others. For those who belongs to the minority
community, can take the form of a desire to form a separate political unit, based on
communalism.

Ans. 3. A movement where women fights to get their right to vote.
The main demands of feminist movement are:-

The movement leads by Feminist demands equal rights for women in all spheres of
the life.

As aresult of the agitation led by Feminist movement different countries extended
the right to vote for women.

These movement also demanded for equal participation of women in career
opportunities.

Ans. 4 The problem of communalism become more acute in following ways:-
When the people of various religions are treated differently.

When the demands one religion are against the demands of the other religion,
distrust among the people of other religion take place.

When the belief and ideology of one religion is shown to be superior over the beliefs
and ideology of other religious.

Whenever state machinery used to show the domination of one particular religion
against the others.

Ans. 5. When religion is politicized in partisan terms and members of a religious
group are presented as superior to those of other religions and the state uses its
power to do so, it results in tensions.
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When members of one religious group are clubbed together and any difference
among them is ignored.

When people of different religions may have commonalities but these are also
ignored.

LONG ANSWER (5 MARKS)

Ans.1. Caste system has not disappeared from contemporary India. Some of the
older aspects of caste have persisted.

(i) Even now most of the people marry within their own caste or tribe.
Untouchability has not ended completely, despite constitutional
prohibitions. (ii) The caste groups that had access to education under
old system have done very well in acquiring modern education as well.

(iii) Those groups that did not have access to education or were
prohibited from acquiring it have naturally lagged behind. That is why
there is a disproportionately large presence of 'upper caste' among the
urban middle classes in our country. Caste continues to be closely
linked to economic status.

Ans. 2. (1) Unlike gender differences, the religious differences are often expressed in
the field of politics. Ideas, ideals and values drawn from different religions can and
perhaps should play a role in politics. (i) Politics must be guided by ethics drawn
from religion.

(i) People should be able to express in politics their needs, interests and demands
as a member of a religious community. Political power should sometimes be able to
regulate the practice of religion so as to prevent discrimination and oppression.
These political acts are not wrong as long as they treat every religion equally.

(3)Religion is a source of danger to democratic politics and problematic in the
following ways:

(i) The most common expression of conurunrnlism is in everyday beliefs involving
religious Povrejudiet is, stereotypes of religious communities and belief in the
superiority of one’s religion err other religions.

(ii) A communal mind often leads to a quest for political dominance of one’s own
religious community. This takes the form of majoritarian dominance and people
belonging to the minority community, can take the form of a desire to form a
separate political unit.

(i) Political mobilization on religious lines involves the use of sacred symbols,
religious leaders, emotional appeal and plain fear in order to bring the followers of
one religion together in the political arena involving special appeal to the interests or
emotions of voters of one religion in preference to others.

Ans. 3. No, the Caste system does not always plays a role in shaping politics or
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deciding the candidates from a constituency. It is because of the following reasons:

Not every constituency in the country has a clear majority of one single caste.
Therefore, every party is required to win the trust of the people belonging to different
castes.

No political party wins all the votes of a particular favoured caste or community.
When people say that caste is a ‘vote bank’, they simply mean that many people from
that one particular caste may vote for the party.

Because several political parties fight elections, there may be many candidates from
the same caste fighting elections against each other.

It has been seen that many elected MPs or MLAs may lose the elections. If
candidates are elected on caste lines, then no candidate can ever lose the elections.

Ans. 4. In our society the work of women is not valued and does not get recognition.
In fact, urban women do some works but their work is not given due importance in
the society.

Literacy Rate among women is only 54% compared to 76% among men. Similarly, a
smaller proportion of girl students go for higher studies.

Number of women in the highly paid and valued jobs is still very small.

In almost all areas of work women are paid less than men, even both do exactly the
same work.

In India, the proportion of women in legislature has been very low.
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feimr siifa SiiR e

3fe IS (1 i)
1. YRd Udh YHRYET I hd g7
2. Afgesit & forg Tt SmaiT ehe Teifua fohar mar am?
3. 519 1 T AT T 8?2
4. qTRaTReR A T 872
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Q5 FIUTRIhdT ! TARIT dd [F Bl & ST YH chl Yo I h SMYUR & Y F QT SITdT 8|
feugufY)
&ef IS (5 3ih)
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3ffe IaTHS IR
1. ST T PIE SRR 4 78T &1

2.1992

3. Teh Ut UUTTE! fSI9H &R T 9RT &hd a7 df URAR 6 afgerstt gRT fhar ST g1

4, f4aTg, aereh, Mg o1, favraa onfe & dsifda amet & Fues aret s |
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POLITICAL PARTIES

VERY SHORT QUESTIONS

1. India has
a) one party system b) two party system
c) multiple party system d) none of these

2. Which of the following countries has one party system?

a) USA. b) England
c¢) France d) China

3.Which one among the following countries has a two party system?
a) United kingdom b) China
¢ ) Indo china d) Japan

4. The number of political parties which have been recognised as national parties

in India is
a) 5 b) 6
c)7 d) 8

5. When was Indian National Congress founded?
a) 1947 b) 1950
c) 1885 d) 1952
6. Who is the founder of BahujanSamaj Party?
a) Kanshi Ram b) Mayawati
c) Bal Thackeray d) Jayalalita
7. Following is a regional party.

a) BhartiyaJanta party b) BahujanSamaj party
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c) D.M.K d) C.P..

8. National Conference is active in the following state
a) Haryana b) Himachal Pradesh
c) Jammu and Kashmir d) Rajasthan

9. Name the political party that emerged out of mass movement

a) DMk b) Janta Dal
b) Forward Block d) Bahujan

10. Which one of the following is not a component of a political party
a) The leaders b) The followers

c) The active members d) The ministers

Short answer questions

Q11  What is partisan and partisanship?

Q12 How do political parties help in the formation of public opinion?

Q13  Why are political parties necessary for a democracy?

Q1 Political parties play a decisive role in making laws for a country .Explain

4

15. State any two advantages of multiparty system .In what way is an

alliance different From a coalition government?

Long answer Questions
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Q16 Distinguish between a regional and a national party.

Q17 What are the various challenges faced by political parties ?

Q18 What steps has been taken by the election commission and supreme
court of INDIA to reform /strengthening of the parties.

Q19 Name the national political party which espouses secularism and welfare
of weaker sections and minorities .Mention the features of that party.

Q20 Why don’t parties give enough tickets to women? Is that also due to lack
of internal democracy?

VERY SHORT ANSWERS

Ans1 c

Ans2 d

Ans3 a

Ans4 b

Ans5 c

Ans6 a

Ans7 c

Ans8 c

Ans9 a

Ans d

10
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13

Ans
14
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SHORT ANSWERS

A partisan is a person who is strongly committed to a political party ,group or

faction

Partisanship is the tendency to take a side and in ability to take a balanced view

on
An issue .Political parties reflect fundamental political divisions in a society .

Parties are part of the society and thus involve partisanship.

1 They raise and highlight public issues through public meetings and mass media

2 Parties have a large number of members and activists spread all over the

country .Many of the pressure groups associated with political parties also spread
their views among different sections of society

3 Parties sometimes also launch movements for solution of the problem faced by

the people.

TWithout political parties formation of a stable government is not possible.

2 Formation of policies

3 Parties play a decisive role in making laws for the country.

TLaws are debated and finally passed in the legislature

2 The legislature is made of the members belonging to political parties .Since
most of the members belong to same party they go by the directions of the party

leaders irrespective of their personal opinions
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3 The party who has introduced the bill ,supports the bill whereas the opposition

Parties try to find its negative points .So the common people can know both the

positive and negative points of the bill.

1Wider choice before voters.

2 No fear of cabinet dictatorship.

Alliance When several parties join hands for the purpose of fighting an election, it

is called an alliance. Example NDA,UPA.

Coalition government When no single party is able to get an absolute majority in
the legislature and is not able to form the government, the government is formed

by two or more parties coming together, it is known as coalition government.
Example UPA ,Bihar govt was coalition govt of Janta dal and Rashtriyajanta dal

Before 1995.

LONG ANSWERS

National parties are those parties that are present in several or all units of the
federation .In India some of these parties are Indian National Congress
,BJP,CP{M}

On the other hand those parties who are present in one or two units of the
federation are known as state or regional parties.Some of these parties

areAkaliDal,Bijujanta Dal, National conference ,Janta Dal united

1 Lack of internal democracy.

2 Dynastic succession
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3 Money and muscle power
4Lack of meaningful choice before voters.

5 Some parties based on religion and caste

1. Passing of Anti defection Act If any MLA or MP changes parties ,he /she

will lose the seat in the legislature.

2. To reduce the role of money and muscle power in elections, the supreme
court has passed an order which say that every candidate who contest
elections will have to file an affidavit giving details of his property.

3Giving details of criminal cases pending against him .

4 The election commission has passed an order making it necessary for political
parties to hold their organisational elections at regular intervals and to file their

elections returns .This can lead to great internal democracy in political parties

51n 2013, Supreme court has directed that if any person convicted for 2 years or

more, he cannot contest elections.

1 congress party 2.It was founded in 1885.

The main features of this party are

It believes in democracy, secularism and socialism.

It believes in decentralisation of power with giving more power to panchayati
Raj institutions.

It supports new economic reforms .

To maintain its close relations with its traditional ally Russia

To increase the income of farmers, farm labourers and other weaker sections of

society.
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1Since there are very few women who take interest in active politics.

2 Most of the women want to remain inside the four walls of home .
3 Even if a woman get elected to parliament or legislative assembly or local body

Her work is done by male members —her husband, father or brother in most of

cases.
4The working of women representatives in local bodies offers such an example

5 It isnot due to lack of internal democracy



POLITICAL PARTIES
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g 15 | Jgacig yutlelt & & Hhie IdT6| Ig fohd g | a4 IR 9 el 872
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ud 16
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SHORT ANSWERS

Ans 11 & gyl eafs ag cafh gidr § St IsH1faes &o, 99 a1 ¢ & folg gedT 8 ufdesg gidT 8
Y&TUTd Udh UeT i1t <hl &1HdT § 3R U Tdfeld gfteniur a7 6l erar &

U HET | ASTITIeh &l Teh GHTST H Hifoleh ASTifceh fITSTH ahl garfd &1

qrfeat TaTST T feear gt & SR 39 avg 39H UeruTd giar gl

Ans 12

1 3 Grdsifen daeh! 3R ST ATEgH S A1EAH & Hidii-eh el i IS & 3R ISR o &

2 31 & U St I # 9o IR Hhfehdl 9Y & A el gU &1 IS Goll § IS Ga1d Figl # § §HIS
& faf ¥ ot & <fa I femmther 1Y)

3 giféat epaft-apaft SV & T 3= gttt I & THTaT & forg oft srieie I &1

Ans 13. 1 f@R I gl & 1Y Teh R TRBR &1 7169 TG T8 gl
2 fiferat &1 TS
3 uiféat aer & fog s a9 | Furiaes sffient feardt €1

IR 14 1.37a1 IR 989 <hl St g 3R 3fd 7 frenfent # uiRa o fear smar g

2. fenfirenT ITeifces gl @ Gafad aewi @ a1 gt 81 Sifdenisr Tawd Tah & uTel & gid &, @ UTel Adrefi
& fger Slerat cafha I & SrasieandH wdg|

3 o uer 3 foret a1 fopan , a8 g9t I raT g,

fauer &Y giféai g0 ARRIcH foigatt ot @I T hIfAM et &1 3T 1T foreT oh FehRIeHS TR
TRRIcHeh Q1 [eg3il el ST Hehd &1

IR 15 gagrarsit & g &3 faaed |

2 FfeRe IFRIE! T i S gl |

TS 519 s &dl AT TS o 3839 9 g1 AT 8, aF $/ TTSse gl ST g1 ISTe0N T, U1y
TS YRR ST9 ahid off UréT frenfient & qut sagHa um A e T8 gt & ok WepR IR A gam 7
gl &, O TRAR & a1 & T 3feh Tl & Ueh T 3 T I 8, 38 68U TRAR & TG J ST97 SI1aT &
IaTER01 UIY, fogR ARAR ST &t 3R IET ST &t T TSse AT

1995 @ ugat

LONG ANWERS

Ans 16 TE &l d & & St AGIHY <hl s a1 Gt R3] A HISE &1 YR H 399 8 $© &l YR TE
14, wrerar, CPl {M} &1

O R d &l St AT hl Geh T &l Sh13AT | HISIE 8, 6 AT T &1 el o U H ST ST 81 349
Tl H 8 S 8 Ihel &, o] AT &, AR T, SdT & ATRCS|

Ans 17 . 1 31idfke Alehds T A9
2 AT IAAABR
3 & 3R JTge

4 maerarefl ¥ uget 91 faehed &1 3a|
4 3R ST & STUR R FB A
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2. gAE 7 o 3R AiGqufAt Y 21f<h Y gfHent bt oA & forg gat=a =amrea 3 ges séer uiia fomam
%fﬁﬂgmm%%gﬁma@aﬁmmmﬁmmaﬂmﬁ@@wmm
AT T

3 3G e ferd SRR ATee! apt faaRoT A1

4 TG AN = Yeh SMTELT UTRA fehan § Fed st lferes el @i fafie SiaTel W 31u+ dieicdes g1
A SR S FAE e At AT et hY SaTRdT 8 Tohd! | TG A f<deh Gall A HgT Adieh
AThds g TehdT g

52013 7, ga & 7 fadar fea o afe i oft cafan 2 aef a1 3o oifdes Y g utar &, @t ag gama &
S GhdT 8

Ans 19 1 &g Urél 2.8 g1 1885 # g3 ot

39 UIet &Y ey foaRtvard §

1 98 Alehdd, YH-RUEAT 3R THSEG # Oy Har gl

2 gg gaTad! IroT SRATSAT T 1T 1f<h & o T <1 o fachalawor # fayTe ehedt gl
3 gg Y 3nfYeh GURT b1 GHYA T 81

4 3197 gRufYeh gaihl T & T 31 heldt J&e hi ST IGT |

5 fopaml, T Auigyl R THIST & 319 IR Gl <l 31T | gfeg heTl

IR 20. 1 9gd & AfSATS & St ik Tt & o At g1

2 STEIR AfgATd TR &Y IR Rt & 3ieR & @A argd g

3 et & S AT Goe A faers g a1 wrig e & forg et &

IR R ATETR AHA] § Goy gawdi, ufd, fbar a1 g gy forar srar g1

4 v fAemat & afger ufaff ot &1 h™ ST 3 avE P ISTER0T U T &
5 7g 3fiafes dteha &Y Y & HROT G o
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OUTCOMES OF DEMOCRACY
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VERY SHORT QUESTIONS
1 The basic outcome of democracy is
(a) Political Outcome
(b) Economic Outcome
(c) Military Outcome
(d) Political, social, and economic outcome
2 Which of the following is not true about democracy?
(a) It always worries about majorities and public opinion.
(b) It improves the quality of decision making.
(c) Decision making is faster and quicker.
(d) It allows a room to correct mistakes.
3 What is political equality?
4 How is democracy based on political equality in India?
5 Which country is suffering from the adverse form of economic
inequality?
A Japan B USA CChina D Bangladesh
6 How long can the democracy remain democracy?
7 In what aspects does democracy stand much superior to any other
form of govt?
8 Which two sections of society get special emphasis in the Indian
constitution regarding equal status and equal opportunities?
9 State True/ False
Democracy have successfully eliminated conflicts among people.
10 Fill in the blank-—-

Decisions taken through the correct procedure by involving the




people is known as
SHORT QUESTIONS

11 List out any three merits and demerits of democracy.

12 Explain with three examples how democracy promotes dignity and
freedom of an individual?

13 “Democracy accommodates social diversities” Support the
statements with examples.

14 “Democracy is need of time” why, explain?

15 Democracy has also promoted dignity of women how can you
justify it?
LONG QUESTIONS

16 The ideals, principles and norms of democracy require certain
condition to be implemented. Justify the statement.

17 How does democracy lead to peaceful and harmonious life among
citizens? Explain.

18 How do democratic govt ensure transparency?

19 Discuss the factors that denote the successful working of
democracy in India.

20 How has corruption become a serious problem for Indian
democracy, explain?

VERY SHOERT ANSWERS
1 (d) political, social and economic outcomesi
2 Decision making is faster and quicker.
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3 Right to vote and freedom of formation of political parties

4 As they ensure and promote universal adult franchise.

5 Bangladesh

6 As long as every citizen has a chance of being in majority at some
point of time.

7 Democracy stands much superior in promoting dignity and freedom
of a person.

8 Women, the disadvantaged and discriminated castes and tribes.

9 False

10 Transparency

SHORT ANSWERS

11 Merits-— 1 it provides equality in all sphere of life.

2 It enhance dignity of people.

3 It provide free and fair election, chance to correct the mistakes etc
Demerits-— 1 It give more importance to quantity rather than quality.
2 Decision making more time consuming.

3 Not stability. Any other relevant point.

12 It provides equal opportunities to all despite any discrimination on the

basis of region, religion, creed and caste.

2 Through reservation it also gives a chance to uplift the

disadvantage group.

3 It also provide a way to express dissatisfaction. 4 It also provide

equality to women.

13 1 Democracy represent the general view: the majority always needs to

work with minority so that govt is able to present the general view. It
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also provides a chance to negotiate the differences. It also develops

feeling of competition among people and it reduce conflicts

14

1. Enhance dignity of people.
Scope to rectify the mistakes.

All are free to participate in politics.

H W

Decision making power is in people’s hand.

15

—

Principle of equality... all has right to vote including women.
Equal opportunities for all.

Women political representation.

H WD

1/3 seats are reserved in local level for women.

5. Equal social and economic status.

LONG ANSWERS

16

1 democracy is not simply the rule by majority opinion but it needs to

cope with minority also.

2 negotiate the social difference, adjust and accept them.
3 implementations of true spirit of constitution.

4 respect and adjust social diversities.

5 it also based on concept of power sharing.

17

1 it provides a conductive political environment to citizens for their

popular participation in politics.

2 every citizen has the right to vote.

3 all are free to contest election and form parties.

4 it enhances dignity of people.

5 in democracy govt take more care about social welfare.

6 democratic govt try to resolve differences, respect differences.
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18 1 they make sure that decision making should be based on norms
and procedures.
2 they allow every citizen to participate in decision making directly or
indirectly.
3 citizens can examine and find out the correctness of procedure of
decision making.
4 democratic govt are responsive, accountable and legitimate govt.
5 in democracy people can change the govt if not satisfied.

19 | 1 supremacy of Indian constitution.
2 free and fair election.
3 freedom of speech.
4 right to vote.
5 fundamental rights.

20 1 use of money to win election.

2 corruption and development projects—due to corruption many

projects fail to give results.
3 corruptions in executive.
4 people are also accepted it as a trend.
5 govt official involvement.

6 lack of strong action
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dlehd=a & YR

VERY SHORT QUESTIONS
1 cilehd=T & SMYRYA URUIH § -—
1 Ismfores aRomm
2 snfefen R
3 dfes uRurm
4 s, TrTfSTes Ua anfefes afkomm
2 =1 5 R Alchd s o IR Tel el &7
1 g FeT IgHd Qd ST o faaRl & aR # f=id1 &di 81
2 g [A0fg o <l &/ dT ent GURAT 81
3 fAufg =1 g vd gia gt g
4 I TTeTclt GETRA T HIhT T 3
3 TSI fleh THTAT T 672
4 WRd H dlchd hdl ASTTdeh THTT R ATUTRA 82
5 ohi- G131 3Tfieh ST O 1Ll 82
6 clehd=1 el deh TATchd=3 T g HehdT &7?
7 fohd aRE AATehd= 310 TRARI T I8 TER 672
8 WRATT TiAem F foT &f Tt ont GHI goit Ud THT 1SR 31 IR a7 feT
7
9 T T GG §d1g
cAtehd= @t A fdare e # g avg e 381 8l
10 feh T R

AT & geahT @ 9E ufgkar g Rofg 39 &) sed @
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SHORT QUESTIONS

11

cATehd =1 ch dlI- T[0T Q& 3Tel]0T ScTa |

12

ITER0T hY TEIIdT § JdTU hl fohd UehR dAtehd=t STl oh SATSTTEY Td TRAT
&l TGIAT 87

13

“ Arehd = GTHTISIeh fATH-IATT chl THTIEd hdl & SSI8RUT chl JgradT 9
HYA Rl gE R |

14

" Archd= THY h ST & 3T YU hl ARAT he?

15

Atehd =1 = ATgeITSTT chl ITRHAT ol ot TG & 31U 3T HUA T hd AT el ?

LONG QUESTIONS

16

Alchd= o faaR Td RAgid ol AN e H $o dT T AN gi-T STt 6|
HYA & 1Y YT A

17

cATehd=>1 ST eht G -21ifdl e SiteT Ual- ehdl § hd?

18

ArehdTi—Ach G3ehR fohd dRg UREIRIAT ahl SaaqaT e} ITdt 82

19

I d] et FdTT ST MR H el dlchd = oh [l SAErt g1

20

YSTAR {hd dRg WRAIT dAtehd= o eI Teh TR THWIT 9 14T 52

VERY SHORT ANSWERS

1

TSt Ifdeh  graTfSien 37k 3rfles |

2

fAofg ST |

3

e T ATYRR Y ASTIdIeh &of ST chl TSI |

greiifien oo AdTfIehR &t deTaT T |

TS |

STe dch G AFTRAI o fohdt 1 fohdt T sIgHd o fe<dT o= T HiehT |

Atehd cfch cht TTRAT Ud SIS @bl S & 9ad SR 1
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Higer it Sifa Td ST |

o |

10

URGIRIT |

SHORT ANSWERS

11

1 Sfter o g2 &5 J AT
2 ST} <At TTRAT STt B
3 T3 Ga fAsaer g4, Tetddt e ot Hie|

STERUT -1 T[UTaT Sl ST AT IR I |
2 ol A= d &
3 A=A &t et

12

T foheY YT & SR i gHTan

JREUT & dgd dfd Tg ohl HUR ISHTI
RIS} e<h R Tohd g1
HfgArsil sl gHETI

13

cIchd ™ H SgHd STTHd oh AT ATy chid chich ailcha ™ ol AT adh fadR U
AT g1 gg Tt faterry fAereRe dTl & SRTet &l gx et &

14

1 ST <ht TTRAT ahl TeIaT 81

2 Tt ehl YT ol HIhT Sl &

3 goit ToTifa A faear of gerd 81

4 fufg o= <t 21fch S1aT &6 819 # gl 8l

15

1 g1 ol Rgia afgensit afed gt ot aie o1 sifdeR|
2 Gt &l FAT SR

3 Afgeratt e IeHfae gfafAfdaa

4 g faerd die afgemait & fag
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5 g1 STideh Ta 3ffefer TR

LONG ANSWERS

16

1 Shd chael HTA SgHd o [ADRT T G gt U eudedah faarT a1
1y oft g1

2 grTfSien fafa=aarer o @R ud guTfad ohear |

3 Tfaur Rt I 9TaHT et ] HATI

4 1f<h e o1 Rgia

17

1 Tg @ aht AoTfdeh Wrfter) & forg IR ardreror a1 g1
2 Teleh! I Al SRR B

3 AT TIe Gd UTel a1 et SR

4 gg ARTI <hY TRHAT Y F&TdT &

5 FHTfSTeh ehed 0T TR Hfdeh SR |

18

1 a1 I8 YAl ehed ¢ ohl AUTT gt Ufehar kT forar S |

2 g G TATReh! ol TT &1 a1 30 el w9 § Aofg o & wrflert &ar g
3 @i fAofa & g8 el T8t T Tohd Bl

4 Fehd= H T TR & &d g SR AJE A 8 |

19

1 R e foh ogdr

2 a5 gd fAsaer g

3 AT / Ster / fa=RY <hl TSIl
4 gYe &1 T Hiferen SfdeR

20

1 AT SHid= o folg &= <1 ganT
2 RIS & efereft
3 AT gIRT 39! T Stiae J TR e AT
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4 TSR I & AT

227 |




